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[l1][l2]A ∼= [l2]A [l]1 ∼= 1
� � �!� 
 �Q1

B ` B ���
	��
���������
� � � ����� � ��� �"
 � � � � � �����Q1
Γ1, A,B,Γ2 ` D
Γ1, B,A,Γ2 ` D ���������������! #"�� Γ ` B B,Γ′ ` D

Γ,Γ′ ` D �������!����	�$�%#�
A′,Γ ` D A ∼= A′
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[l1] . . . [ln−1]A,Γ → D
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7=� A��

I, r2, (l1, . . . , ln) |=
⊗Γ2

��� � B��
r < r1 ∗ r2

 
n �+( 

�-���N��� �dwA��7 �Zr���7 �-=�� ���7� A������ 
 

�������

I, r1, (l1, . . . , ln) |= A
���
I, r2, (l1, . . . , ln) |= B

 
n ����� ����� ��?��#��� � 

��� 	���?��}?}����� ��� ��� ��������� � ��� 

� � �Zr���7 �-=���7:� A�� ��� ��� �����`��� w  =07 ��� ����������� �
I, r, (l1, . . . , ln) |= A⊗B
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�� ���
	����Y|

&
1J<J�;1 � � �#��	�	 � ���>$.� �>�dwA�

I, 1, (l1, . . . , ln) |= (Ai ⊗ (⊗Γ))( D
	 �����

i = 1
���

2��� �Zr��
I, r, (l1, . . . , ln) |= (A1&A2) ⊗ (⊗Γ)

 
� �>����� � 

������� 	������������ $&� �

I, r, (l1, . . . , ln) |= D
 }4 

� �Zr���7�� ����p!�������

r1, r2
�����.$&� �
� 9��

I, r1, (l1, . . . , ln) |=
(A1&A2)

7��-=��
I, r2, (l1, . . . , ln) |= ⊗Γ

��� � A��
r < r1 ∗ r2
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� � 9���7 ��� 


I, r1, (l1, . . . , ln) |= Aj
	 �����

j = 1
���

2
 &� �i����� � ��� 

� � �������+7��-=�� ��� � A�� ��� ����������� �

I, r, (l1, . . . , ln) |= Aj ⊗ (⊗Γ)
 J4 

�G�dwA� ��� 


I, r, (l1, . . . , ln) |= D
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	����Y|
&
1Jm �D1K_���� � �dwA�

I, 1, (l1, . . . , ln) |= ⊗Γ( A
79�Zr��

I, 1, (l1, . . . , ln) |= ⊗Γ( B
���

� 9��
I, r, (l1, . . . , ln) |= ⊗Γ

 �� ��
 

�������
I, r, (l1, . . . , ln) |= A

���
I, r, (l1, . . . , ln) |= B

�b( �
� �+( ���
����������� � 	�

�,�J?�R ��� �������

I, r, (l1, . . . , ln) |= A&B
 

|v� 
�� ���
	����Y|
(
1J<J�;1�_���� � �dwA�

I, 1, (l1, . . . , ln) |= (B ⊗ (⊗Γ1))( D
7

�Zr��
I, 1, (l1, . . . , ln) |= (⊗Γ2)( A

��� � 9��
I, r, (l1, . . . , ln) |= (A( B) ⊗ (Γ1,Γ2)

 
� �N����� �x����� �������,$.� �

I, r, (l1, . . . , ln) |= D
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	���/�� ��� �����`���`w  :9 ��� � 9���7�� � ��p��������

r1, r2
���
r3����� $.� �>�-=��

I, r1, (l1, . . . , ln) |= A( B
7�� A��

I, r2, (l1, . . . , ln) |= ⊗Γ1
7�� B��

I, r3, (l1, . . . , ln) |=
⊗Γ2

���?� >8�
r < r1 ∗ r2 ∗ r3

 �4 

�?�Zr�� ��� � B���7 ��� 

I, r3, (l1, . . . , ln) |= A

 un 	�

����� �i��� ���
��?��#��� � 

�����D����� B���7 ��� 


I, r1 ∗ r3, (l1, . . . , ln) |= A
 �� � ����� � ��� 

� �:� A�� ���:� >8��7 ��� ����������� � 

�������

I, r, (l1, . . . , ln) |= B ⊗ (⊗Γ1)
F���� ����������� � 

������� ��� ��?��#��� � 

� �������:� 	�

�G�dwA�  

w8r



����� � � ��� � ��� � �����
	 � �
	��
�

|'� 
�� ���
	��
�=|
(
1Jm �D1�_���� � �dwA�

I, 1, (l1, . . . , ln) |= (A⊗ (⊗Γ))( D
��� �Zr��

I, r, (l1, . . . , ln) |= ⊗Γ
 

� �j����� ������� �������>$&� �
I, r, (l1, . . . , ln) |= A( B

 a_���� �
r′

������$&� �
I, r, (l1, . . . , ln) |= ⊗Γ

 =� �

 

�������

I, r ∗ r′, (l1, . . . , ln) |= (A⊗ (⊗Γ))
 JT � �dwA� ��� ����������� � 

�������

I, r′ ∗ r, (l1, . . . , ln) |= B
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� ��
`�J?�R ��� ������� ��� |= ��� 
^�������
I, r′ ∗ r, (l1, . . . , ln) |= A( B

 
|'� 
�� ���
	��
�=| 4 � 
9I��E1K_���� � �dwA�

I, 1, (l1, . . . , ln) |= (⊗Γ)( D
��� �Zr��

I, r, (l1, . . . , ln) |=!A⊗ (⊗Γ)
 

� �c����� � 

�������h����� �������v$.� �
I, r, (l1, . . . , ln) |= D

 .4 

� ��
��J?�R ��� �������N��� |= 7 � � ��p!������� r1
���
r2

�����
$.� � � 9��

I, r1, (l1, . . . , ln) |=!A
79�-=��

I, r2, (l1, . . . , ln) |= (⊗Γ)
��� � A��

r < r1 ∗ r2
 

n �+( 

�-���^��� �dwA� ���D�����-=���7 ��� 
 

�������
I, r2, (l1, . . . , ln) |= D

 UT�� 	��:� � 	�

� � 9���7 � � ��p!�������
r3

�����
$.� �

r1 <!r3
 �� � 
������ �*1

r < r1 ∗ r2 <!r3 ∗ r2 < 1 ∗ r2 = r2∗
 �M � ��

��������� �87!	�

� ��� �����`���`w  =07

����
*�������
I, r, (l1, . . . , ln) |= D
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�� ���
	��
�=|!� �����;1�_���� � �dwA�

I, 1, (l1, . . . , ln) |=!A⊗ (!A⊗ (⊗Γ))( D
���

�Zr��
I, r, (l1, . . . , ln) |=!A⊗ (⊗Γ)

 .� �c����� � 

�������'����� �������v$.� �
I, r, (l1, . . . , ln) |= D

 &4 

�@�Zr�� ���
��
��J?�R ��� �������`��� |= 7 � �!��p!������� r1

���
r2

������$&� �D1�� 9��
I, r1, (l1, . . . , ln) |= A

7��-=��
I, r2, (l1, . . . , ln) |=

(⊗Γ)
79� A��

r < r1 ∗ r2
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	���/�� ����� ��/�� ����� �#���
!
7 ��� 
 
9� �����

!r <!!r <!r∗!!r <!r∗!r <!r∗!r∗!!r <!r∗!r  �� � 
�
9� ����� � B��
r <!r1∗r2 < (!r1∗!r1)∗r2 =!r1∗(!r1∗r2)

 8� ��R �G79��� � 9���7)�-=�� ��� � B�� ��������������� �
I, r, (l1, . . . , ln) |=

!A⊗!A⊗ (⊗Γ)
������
 ����� ���:� �����������;�J?}����� �D�!� ��������������� ����� �dwA�  

|'� 
�� ���
	��
�=|
!
1\<J�;1�_���� �
�dwA�

I, 1, (l1, . . . , ln) |= A⊗(⊗Γ)( D
��� �Zr��

I, r, (l1, . . . , ln) |=!A⊗(⊗Γ)
 

� �P����� � 

�������K����� �������D$&� �
I, r, (l1, . . . , ln) |= D

 J4 

�:�Zr���7�� � ��p��������
r1

���
r2

�����G$.� �
� 9��

I, r1, (l1, . . . , ln) |=!A
79�-=��

I, r2, (l1, . . . , ln) |= ⊗Γ
��� � A��

r < r1 ∗ r2
 

4 

� � 9���7�� � ��p!������� 
9� �����
r′1 ∈ R

����� $&� � � B��
I, r′1, (l1, . . . , ln) |= A

��� � >8�
r1 < r

′
1

 
T���� ����� 
7� D��

r < r′1 ∗ r2
 U4 

� �-=���7J� B������:� D������ ����������� �

I, 1, (l1, . . . , ln) |= A ⊗ (⊗Γ)
��� ��


����� ���:� ������� ���;�J?}����� ���!� ��������������� �����>�dwA�  
|'� 
�� ���
	��
�=|

!
1\m �D1<� ���#��	�	 � ��� �dwA�

I, 1, (l1, . . . , ln) |= ⊗(!Γ)( A
���

�Zr��
I, r, (l1, . . . , ln) |= ⊗(!Γ)

 �� �t����� � 

�������u����� �������'$.� �
I, r, (l1, . . . , ln) |=!A

 �� � 	 � ��� � � 

� �
	 ����������� �@?��0?�� 

� � ��?A�

Γ = B1, . . . , Bn
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� �Zr���7�� ����p!�������

r1, . . . , rn
�����@$.� � � 9��

I, ri, (l1, . . . , ln) |=
!Bi

	 ����� �������
i ∈ 1, . . . , n

���G�-=��
r < r1 ∗ . . . ∗ rn

 
4 

� � 9���7 � � ��p!�������

r′i ∈ R
�����>$.� �

ri <!r′i
���
I, r′i, (l1, . . . , ln) |= Bi

	 ����� ����
�$.� �
i
 <� �


 

�������
I, !r′1 ∗ . . . ∗!r′n, (l1, . . . , ln) |= B1 ⊗ . . . ⊗ Bn

 G� � ����� � ��� 

� � ������� ��� �dwA��7 ��� 

I, !r′1 ∗

. . . ∗!r′n, (l1, . . . , ln) |= A
 =< 
 	����������u���

I, r, (l1, . . . , ln) |=!A
�J?���������� 

������� ���

r < r1∗. . .∗rn <
!r′1 ∗ . . . ∗!r′n <!!r′1 ∗ . . . ∗!!r′n <!(!r′1 ∗ . . . ∗!r′n)

 
|'� 
�� ���
	��
�=| ������1\<J�E1 � ���#��	�	 � ��� �dwA�

I, 1, (l1, . . . , ln) |= [l′]A⊗ (⊗Γ)( D
���

�Zr��
I, r, (l1, . . . , ln) |= [l′][l′′]〈l′′〉A⊗ (⊗Γ)

 � �P����� ��

�������K����� �������D$.� �
I, r, (l1, . . . , ln) |= D
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� �Zr�� ����� 

� �,$&�G( � � ��p!�������

r1
���
r2

�����s$&� �
� 9��

I, r1, (l1, . . . , ln) |= [l′][l′′]〈l′′〉A 7��-=�� I, r2, (l1, . . . , ln) |= (⊗Γ)
7J� A��

r < r1 ∗ r2
 

4 

�K�J?�R ��� �������G7U��� � 9���7 ��� ����������� �:� B��
I, r1, (l1, . . . , ln) |= [l′]A
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� ��
9� ����� ��
 ������

������� � 9���7���� ����������� � ��� ��?��#��� � 

�  

|'� 
�� ���
	��
�=| ������1\m �D1K_���� � �dwA�
I, 1, (l1, . . . , ln) |= ⊗Γ( [l′]A

���
�Zr��

I, r, (l1, . . . , ln) |= ⊗Γ
 �� �N����� � 

�������v����� �������K$&� �

I, r, (l1, . . . , ln) |= [l′][l′′]〈l′′〉A  JT � �dwA���� �Zr���7 ��� 
c1
I, r, (l1, . . . , ln) |= ⊗[l′]A

$.��� ����� ������?��#��� � 

� � � �������0?  
|'� 
�� ���
	��
�=| < � �Bw�1\< �E1 � ���#��	�	 � ��� �dwA�

I, 1, (l1, . . . , ln) |= 1 ⊗ (⊗Γ)( D
���

�Zr��
I, r, (l1, . . . , ln) |= [l′1] . . . [l

′
m]1 ⊗ (⊗Γ)

 "� �P����� � 

�������v����� �������D$&� �
I, r, (l1, . . . , ln) |= D

 
T�� �Zr���7!��� 


I, 1 ∗ r, (l1, . . . , ln) |= [l′1] . . . [l
′
m]1⊗ (⊗Γ)

 �4 

�,�J?�R ��� �������P��� ⊗ ���v���*wB7���� 	 �����


�������v����� ��������$.� �

I, 1, (l1, . . . , ln) |= [l′1] . . . [l
′
m]1

��� � 9��
I, r, (l1, . . . , ln) |= (⊗Γ)

 
T�� � 9���7!��� 	 ����� 	������������x) 
���� ��������� �A1

I, r ∗ 1, (l1, . . . , ln) |= 1⊗ (⊗Γ)
7!����� �

I, r, (l1, . . . , ln) |=
1 ⊗ (⊗Γ)

 � �NR ��� � 

������� 
 �����>�dwA�  
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�� ���
	����Y| < ���Bw�1\m �K1 � ���#��	�	 � � � �dwA�
I, 1, (l1, . . . , ln) |= ⊗Γ( 1

���
�Zr��
I, r, (l1, . . . , ln) |= ⊗Γ

 
� ������� � 

�������K����� ��������$.� �

I, r, (l1, . . . , ln) |= [l′1] . . . [l
′
m]1

 � �87 �����`���
r < 1
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I, r, (l1, . . . , ln, l
′
1, . . . , l

′
m) |= 1
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[A]v
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v
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N�J?�R ��� �������%��� ⊗ 7 &v

7
!v
7

[1]v
7 `v

��������
 �#��� � 

� ���t1

[A]v ⊗v [B]v = [A⊗B]v [A]v&v[B]v = [A&B]v
!v[A]v = [!A]v [A]v `v [B]v = A `DMLL B
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v
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(A v A′)∧(B v B′) ⇒ (A⊗B v A′⊗B′)∧(A&B v
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9�������;��� ���
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!A⊗!A → A⊗!A
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�=| ⊗ 10m ��7J�b( �
� ���P�J?}����� �
!A⊗A⊗!A

	�

� ���
	��
�Y|!� �����  
|v� 
�� >i1,kl�`��?}�!��

� 	�

� ���
	��
�=| k!�"� ��� ���
	��
�=|

!
1J< �  

|v� 
��MDc1
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�&��� ���8� ! 32� � A2 → A2

!A2 → A2
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����� �!��� ⊗ 3256�
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Γ0 ≡

[z]!∀x, y.decomp(from(x, y))( decomp(x))⊗
[z]!∀x, y.(decomp(msg(x, y))( (decomp(x) ⊗ decomp(y)))⊗
[z]!∀x.(decomp(msg(x))( !msg(x))⊗
[z]!∀x, y.((msg(x) ⊗msg(y))( msg(x, y))⊗
[z]!∀x.(ag(x)( msg(x))⊗
[z]!∀x, y.((msg(y) ⊗ ag(x))( 〈z〉{x}msg(y))⊗
[z]!∀x, y.((ag(x) ⊗msg(y))( msg(pubK(x,msg(y))))⊗
[z]!∀x, y.((msg(x) ⊗msg(y))( msg(xor(msg(x),msg(y))))⊗
[z]!∀k, y.((msg(k) ⊗msg(y))( msg(symk(k,msg(y))))⊗
[z]!∀x.(msg(x)( msg(privK(z,msg(x))))⊗
[z]!∀x, y.((ag(x) ⊗msg(y))( msg(pubK(x,msg(y))))⊗
[z]!∀x, y.((msg(x) ⊗msg(y))( msg(xor(msg(x),msg(y))))⊗
[z]!∀k, y.((msg(k) ⊗msg(y))( msg(symk(k,msg(y))))⊗
[z]!∀x.(msg(x)( msg(privK(z,msg(x))))
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B → Z : {NA‖NB}pubK(A)=  
Z → A : {NA‖NB}pubK(A)A! 
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Γ ⊗ [l2]from(l1,NaA) ` P

Γ ⊗ {l2}from(l1 ,NaA) ` P
�A��0 3��4�

send(l2, l1,NaA) ` send(l2, l1,NaA)
�����2�

Γ ⊗ send(l2, l1,NaA) ⊗ send(l2, l1,NaA) ( {l2}from(l1 ,NaA) ` P
� ( 37�4�

Γ, send(l2, l1, NaA), ∀t.send(l2, l1, t) ( {l2}from(l1 , t) ` P
� ∀ 37�4�

Γ, send(l2, l1,NaA), ∀y, t.send(l2, y, t) ( {l2}from(y, t) ` P
� ∀ 37�4�

Γ, send(l2, l1, NaA), ∀y, t.send(x, y, t) ( {x}from(y, t) ` P
� ∀ 37�4�

Γ, send(l2, l1, NaA), !∀x, y, t.send(x, y, t) ( {x}from(y, t) ` P
� ! 37�4�

Γ, [l1]〈l1〉send(l2, l1,NaA), !∀x, y, t.send(x, y, t) ( {x}from(y, t) ` P
� 	9$�% 37�4�
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Γ, [z]〈z〉send(l2, z,mb(Nb)) ` P [z]mb(Nb) ` [z]mb(Nb)
�A���)32�4�

Γ, [z]mb(Nb), [z](mb(Nb) ( 〈z〉send(l2, z,mb(Nb))) ` P
� ( 3��4�

Γ, [z]mb(Nb), [z]∀t.(msg(t) ( 〈z〉send(l2 , z,msg(t))) ` P
� ∀ 37� �

Γ, [z]mb(Nb), [z]∀y, t.(msg(t) ( 〈z〉send(l2, y,msg(t))) ` P
� ∀ 37� �

Γ, [z]mb(Nb), [z]∀x, y, t.(msg(t) ( 〈z〉send(x, y,msg(t))) ` P
� ∀ 37�4�

[z]msg(Nb) ` [z]msg(Nb)
�A�����

Γ, [z]msg(Nb), [z](msg(Nb) ( mb(Nb)),
[z]∀x, y, t.(msg(t) ( 〈z〉send(x, y,msg(t)))

` P
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Γ, [z]msg(Nb), [z]∀x.(msg(x) ( msg(pubK(b,msg(x)))),
[z]∀x, y, t.(msg(t) ( 〈z〉send(x, y,msg(t)))

` P
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� × ������� � � ����� 
 �
��	 � �
���!�
� � � � � ���
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9� � ��� �*��� ��� ��� � �  
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�
updateres(E1, E2)
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E1
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������� ���
E2
����� ��C������ � � ������	���?���?�� �����`���

��� � ����� �����������B7 ����� ���D$.��� ����� �#�J� ����� �#�0?��E������� ����� 	���?������ ���������
E1

 .< 
�������p!�-/����G�
updatetree(E1, E2)

�
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add(E1, E2)
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E2
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�

� V al = M ∪ TM ∪ Loc �
� S = V ar ⇀fin V al

�

� TM = M × [Loc ⇀fin TM ]
�

� ���`���t� 

� ������������

	�� ������� 	���?��}?}����� ���87
Loc = {l1, l2 . . . , ln, . . .}

�����>��� ��� � ���A�����t�b( ��� 	���
�����|
����� ���;�J?�� ���A��� 
9�����B7

M
��������� ��� � ���A�����*��������� ������������� 
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��������

� �A�t���3����� ��q+���*��� �������������������

	�

��������� M = (M, e,×,v)
 
V ar = {x, y, z, x′, y′,′ z, . . .} �����'��� ��� �����A�����;��� � 

����
9�������  �< 
 � ��� 

�������
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��p!	����:���;��� �E) ��� ��������� 	�
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s ∈ S
����� 
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s
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dom(s)
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s ∈ S
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t ∈ TM

 
� � ����� ����� ��� � ������	���?���?���� � ���������A��� ��������

�������

;
��� ����� ������R �B��� 

������� �87 ��
 ���-O��#����� ��� 

� ��� ��� ���;��� ���������

������

�������z?�� 

� � � ����?��
;
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������� ����� ����� �D��� ����� 	������
C, s, t

� ��� �D��� ������	����
s, t
7 
������

C��� �������`� 

�0���B7
s ∈ S

���
t ∈ Tm

 �� �x������������� � "�	 �'��� ������R �B��� 
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 � �����  9< 
���?�� 

� ���-$&� �
����� �����`� 

�0����� �����,�������0?��^� ��� 
�������� ��
`�J?�R ��� �������3������
 ������

�������
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	�	 ������� ��
 ��?�� 

� ���-$&� � ����
������-$.� �;����� �����`� 

�0�����D��� ����� ����O����t1

i = 1 �.$ [[E ]]s = vrai, i = 2 �.$ [[E ]] s = faux

$�� (E) �.>"��+ C1 �/����� C2, s, t ; Ci, s, t

[[E ]]s = vrai
� >"$���� (E) ��� C ��+3� , s, t ; C; � >"$���� (E) ��� C �/+ � , s, t

[[E ]]s = false
� >"$���� (E) ��� C ��+3� , s, t ; s, t

� � 	�
������E� 

� � ������

� � 
9��p �����`� 

�0����� ��	a?����SRU$&� ��� 
9��p 

�#�������K��� �������������������>1

[[E ]]s = L ∈ Loc∗, l ∈ Loc �.��� %&!"� [t(L)]↑ �/� t(L : l) +"�6+ �����3+3$
x := newlocE, s, t ; [s|x 7→ L : l, t|(e, (L : l) 7→ (e, nil))

� ���`��� � �0�!�-$.�0? �������K������
 	���?�� ��� � 

�������3����� �����`� 

�0�����87���
 �����`� 

�0���
new

����?��>��� ��� 	���
�����|
����� � ����� � ��� � � ��� � �

[[E ]]s
 54 ������������
�7!��� �=( 
����#�����D$&� � ��������� 	���
���������� � �G( ��p!������� 	�
�� �

t(L : l)
� ���

�J?�R ��� �  

[[E ]]s = L ∈ Loc∗ �.��� %6!3� t = t′|(e, L 7→ t′′) �/� t′(L) +"��+ �����3+"$
dispose(E), s, t ; s, t′

= E
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�0���
dispose
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���

[[E ]]S
��� ���������>��� �+( 

�#�����  3� �P�J?������ 	 � ���A����� �

t
���P������p ����� �d| 

�#�������=7J���P$.��� � � ����� ������� � �������



� � ���������h$.� � � ��� � ��� ��� ��� � �
[[E ]]S

���h$.��� ����� 
��#��	�	����:��?B7 ���h��� 
9�������D$&��� � � ����� ������� � 	�
�� ��� ��� ��� � �
���,$&��� � �����K������?��#��� � 

�  

[[E ]]s = v ∈M ∪ L∗

x := E, s, t ; [s|x 7→ v], t

[[E ]]s = L ∈ Loc∗,m ∈M �
�/� %&!"� [t(L)]↑ ��� t(L) = (m, f)

x := res(E), s, t ; [s|x 7→ m], t

4 ����� ��
 �����`� 

�0���
res(E)

7���������� � �8( 
����#�������v$.� ���+( ����
YW �������E�������P�
x
��� ����� �����&�P��� ���;$.��� ���

����������� ���
[[E ]]s

 "� ���8( 
����������;����� �>$&� ��������� ��� � � ��p!������� ��� ��� ��?�����	a/���� ����� ����� �����&�  

[[E ]]s = L ∈ Loc∗,m ∈M �
�/� %&!"� [t(L)]↑ ��� t(L) = (m, f)

x := tree(E), s, t ; [s|x 7→ (m, f)], t

[[E2 ]]s = m ∈M, [[E1 ]]s = L ∈ Loc∗ �.��� %&!"� t = t′|(e, L 7→ (m′, nil)) �/� t′(L) = (e, f)

updateres(E1, E2), s, t ; s, t′|(e, L 7→ (m,nil))

[[E2 ]]s = t′′, [[E1 ]]s = L ∈ Loc∗ �.�/� %6!3� t = t′|(e, L 7→ t′′′) ��� t′(L) +3��+ ����� +"$
updatetree(E1, E2), s, t ; s, t′|(e, L 7→ t′′)

[[E2 ]]s = t′, [[E1 ]]s = L ∈ Loc∗ �
�/� %&!"� [t(L)]↑
add(E1, E2), s, t ; s, t|(e, L 7→ t′)
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C, s, t

7������!� �K$&� �`1
2 C, s, t ����� ��� � � ����� �8( � � �G( ��p!������� 	�
��K��� ������R �B��� 

������� K ����� ���;$.� �

C, s, t ; K
F

2 C, s, t ����� ��� � � ���!	 ����� ��������� ������R �B��� 

������� K ����� ���v$&� �
C, s, t ;

∗ K
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K
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9� ����� �:� 	 ����� 

� ����� ����� 
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� ���SR�� 

������� �K����� ����� 	 ����� � 

��� ����� ��� �#������� ����� �����&�3����� 

�#�������K��� ������� �����������  

4 �����D��� ��� �����������^�b( ��� 	���
���������� ���
Loc
7������ 	���?�|���� 	 � ���d| �����0�!� ������� �;�����������`� 

�0����� ����� �E�����

) ���#��������� ������	 ����� 

� � ��
 � � 
9�`� 

� ���A�������0?�� ���S| ����� ����� �>1

P,Q ::= α | ⊥ | > | P ∨Q | P ∧Q | P → Q | I | P ∗Q | P −∗Q | [l]P |
| ∃locx.P | ∃pathx.P | ∃resx.P | ∃treex.P | ∀locx.P | ∀pathx.P | ∀resx.P | ∀treex.P

=0w
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�#�����i$.� � �+( ��� � 
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����� �-$.� ���>� �+( ��� �����A�����

α
$&���

�����K�J?�R ��� �����`��� �#��� �>1
α ::= (E = E) | E | p  < 
���?�� 

� ���-$&� ������� 
���������������� � �������������0?���	�

����� ��������

�������t���v) ������� ��� |=A

��� ��
D) ���#���
s, t |=A P$.��� ��� � ���SR��;$.�G( ��� �D) ���#�������

P
����� �@?����SRU?�� 	 �����v��� ��	�� ���

s
���v����

�#�����>��������� �������������

t
 J< ��� ����
9� �����

�e?�� 

� ���-$.� �����J?�R ������������� �8( � � ��	�� ����� ����

����������� �*���y���.�J/������b( 

�#��������	�

��������� 	���?������ ��? ���z�J?�R ��� �������
r! :D! 
2�*����8� !��+ +� H �1& � � � ( " �J#$D)#>#$* � " � !��7,.�JD)# �
�

�
s, t |=A [l]P

����� � � ��� � ��� �
t′
� ���
� � �

(e, l 7→ t′) 4 t
� �
s, t′ |=A P

�
�
s, t |=A ∃locx.P

����� � � � � � � � �
l
� ���
� � �

[s|x 7→ l], t |=A P
�

�
s, t |=A ∀locx.P

����� � � � � � � � � � 
�� � � 
���
 � � �
l � [s|x 7→ l], t |=A φ

�
�
s, t |=A ∃pathx.P

� ��� � � ��� � ��� �
l1 . . . ln (n ∈ N) � [s|x 7→ (l1, . . . ln)], t |=A φ

�
�
s, t |=A ∀pathx.P

� ��� �"� � � � � � � 
�� � 

� �
l1 . . . ln (n ∈ N) � [s|x 7→ (l1, . . . ln)], t |=A P

�
�
s, t |=A ∃resx.P

� ��� � � ��� � ��� �
m ∈M � [s|x 7→ m], t |=A P

�
�
s, t |=A ∀resx.φ

����� � � � � � � � �
m ∈M � [s|x 7→ m], t |=A P

�
�
s, t |=A ∃treex.P

� ��� � � ����� � � �
t′ ∈ TM � [s|x 7→ t′], t |=A P

�
�
s, t |=A ∀treex.P

� ��� � � � � � � � �
t′ ∈ TM � [s|x 7→ t′], t |=A φ

�
�
s, t |=A > � � � �	� � � � �

�
s, t |=A ⊥ � � 
�� � � �

�
s, t |=A E = E′ ����� [[E ]]s = [[E′ ]]s

�
�
s, t |=A E

� ���
t = [[E ]]s

���
[[E ]]s

����� � � � � ��� � 	 ��������� � � ��
���� � [[E ]]s 4 t
��� � �
� �

�
s, t |=A p

���
t

������� � � � ����� � � � ��� ���!�
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t = t′|t′′ ��� ����
^�������
[s|(x 7→ t′)|(y 7→ t′′)], t′ |=A x

���

[s|(x 7→ t′)|(y 7→ t′′)], t′′ |=A x−∗P
	J������$.� �
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P ∗Q |=A Q
′
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P ∧Q |=A Q
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m
 J4 

� ����� ��?}$.� ��� �87

x := res(E), s, t ; [s, x 7→ m], t
��� ��� 
^������� 1

[s, x 7→ m], P |=A P
 

|'� 
�� � ∃treex1.(P{x1/x} ∧ (no(E) ∗ [E]x1)) � x := tree(E)
�
P � 1_.��	�	 � ����� �D$&� �

s, t |=A ∃treex1.(P{x1/x} ∧ (no(E) ∗ [E]x1))
 �k � ��p!�������A����� �

t′
���
L = [[E ]]s������$.� � �+( ���z�J?������ 	 � � �

t
���j��� ����� �d| 

�#�����

(e, (L 7→ t′))
���;��� ����� �d| 

�#�����

t′′
������$&� �

t′′(L)�G( ������	�
����J?�R ���  0n ������� ����
*�������
[s, x1 7→ t′], t |=A P

 
|'� 
�� �

P ∧ exists(E) ∧ no(E : l) � x := newlocE
�
P ∗ [x]e ∧ x = (E : l) � 1� � ����� ���-�J/�������
 ������R �B��� 

�������

x = newlocE, s, t
 �4 

�;�J?�R ��� �������G7

newlocE, s, t ; [s|x 7→ L :
l], t|(e, L : l 7→ (e, nil))


 �����
[[E ]] s = L

�����
�
L : l

�G( ����� 	�
��x��� ��� ��� � �����
t
 0_.��	�	 � ����� �v$.� �

s, t |=A P ∧no(E : l)
4 

�'�J?�R ��� �������G7

[[E ]] s
��p�������� ���u����� � ��
�������R �B��� 

������� �G( ����� 	�
��������5$.�0?��  

T�� 	��:� �87
[s|x 7→ L : l], t|(e, L : l 7→ (e, nil) |=A x = L : l

���
[s|x 7→ L : l], t|(e, L : l 7→

(e, nil) |=A P ∗ [L][l]e
����� �

[s|x 7→ L : l], t|(e, L : l 7→ (e, nil) |=A (x = L : l) ∧ (P ∗ [L][l]e)
 

� � ����� 

��$.� ��
9� 	�
���� 

���D$.� � 	 ����� ����� 
��87!��� 
 �#��	�	 � ��?D$&� � �+( ��� 	���
���������� �
l
?�� 

� �������:���b$&���


 ��

� ��?���? ��� �������!	 ������C������ ����?}?B7�������) ���#��?������ �u� ���'$.�G( ��� 
 ��

� � � �0�!�-$.�0? ����������� ��
 	���?������ � 

�������
�����+( 
Yp!�������  

|'� 
�� �
P ∧ no(E) ∗ [E]> � disposelocE

�
P � 1_.��	�	 � ����� �v$.� �

s, t |=A P ∧ no(E) ∗ [E]>  
[[E ]]s

�����x����� �D��� � � ��� � � � $&� � � ��� � � ����������� �
L
�

= >



�
� � ������� � � � � � �������
	 ��������� � � ��
���� � � � � * �����

��� ��
�������R �B��� 

�������
disposelocE, s, t

�G( ����� 	�
��A�����.$.�0?��  T�� 	��:� �=7 	�

���J?�R ��� ������� ����������
9� � ���
��?�� 

� ���-$&� ���87
� �!��p��������

t′, t′′
��������$&� �

s, t′ |=A P ∧no(E)
���
s, t′′ |=A [E]>  YT���� � 	�

���J?�R ��� �������G7

t′(L)
�G( ����� 	�
��`�J?�R �������

t′′
�G( �����`�J?�R ���v$&�G( ���

l
��� ��� 
%1

disposelocE, s, t ; s, t′
 �� � 	�

�

�J?�R ��� �������3��� ∧ 7�����

s, t′ |=A P

 

|v� 
�� {(∃resx.x = E2) ∧ ∃resy.P ∧ ∀resx.((x = e) ∨ ((> ∗ [E1]x) → ⊥)) ∗ [E1]y}
x := updateres(E1, E2){P ∗ [E1]E2}

1
_.��	�	 � ����� ��$&� �

s, t |=A (∃resx.x = E2)∧∃resy.P∧∀resx.((x = e)∨((>∗[E1]x) → ⊥))∗[E1]y
 

4 

� ����� ��?}$.� ��� �87Y�b( 

	���/�� ����� ����
9� ����� ��?�� 

� ���-$&� ���=7
[[E1 ]]s = L

����� ������� ��� � � ���
[[E2 ]]s = m

�����
��� � ������� ���������  8T�� 	��:� �87 ��� 	 ����� ��?�	�

�����

t
���>��������� �#| 

�#�����

t′
�@?����SR 

� �

s, t′ |=A P∧∀resx.((x =
e) ∨ ((> ∗ [E1]x) → ⊥)

���>��� ����� �#| 

�#�����
t′′

�@?����SR 

� �87
s, t′′ |=A ∃resy.[E1]y

 k � ��p!������������� �
��� � �����������������

m
������� 

�#�����

t(3)
�����x$.� �

t′′ = (e, L 7→ (m, t(3)))
 �� ���`��� 	 ����� ��� � 
��*���

�+( 
YW ����� 

�������3��� � 

����
9�����B7 ��
^) ���#�A������$&� ���@?����SR��
t′

����������>$&�G( � � � � ����� ������� � 	�
������ �������������������

� �+( ��� 	���
���������� �
L
 JT���� � ��� 


update(E1, E2), s, t ; t′|[L]m
���
t′|[L]m |=A P ∗ [E1]E2

 
|v� 
�� �

(∃treex.x = E2) ∧ (P ∧ no(E1) ∗ [E1]>) � x := updatetree(E1, E2)
�
P ∗ [E1]E2 � 1_.��	�	 � ����� �x$&� �

s, t |=A (∃treex.x = E2)∧ (P ∧no(E1) ∗ [E1]m)
 �4 

� ����� ��?}$.� ��� �87��b( 

	���/�� �����

����
9� ����� �e?�� 

� ���-$.� ���87
[[E1 ]]s = L

��������� ��� ��� � � ���
[[E2 ]]s = t′

��������� 

�#�����  &T�� 	��:� �87�� � ��p��������
������p 

�#�������

u
���
u′

�������x$&� �
s, u |=A P ∧no(E1)

���
s, u′ |=A [E1]>

 �T ��� �
u
� � ����� ������� � �������

���
E1

���
u′

����� ������� �v�����-$.� ������� �x��� ����� �d| 

�#����� ���
E1

 .� � 
������ �
updatetree(E1, E2), s, t ;

s, u|(e, L 7→ t′)
����	�

���J?�R ��� �������G7

u|(e, L 7→ t′) |=A P ∗ [E1]E2
 

|v� 
�� �
(∃treex.x = E2) ∧ P ∧ exists(E1) � x := add(E1, E2)

�
P ∗ [E1]E2 � 1_.��	�	 � ����� ��$.� �

s, t |=A (∃treex.x = E2) ∧ P ∧ exists(E1)
 	T���� �

[[E1 ]]s = L
�����D��� � � ��� � �

���
[[E2 ]]s = t′

�����E��� 

�#�����  bT�� 	��:� �=7 ��� 
i����� �
add(E1, E2), s, t ; s, t|(e, L 7→ t′)

 ����	�

�
�J?�R ��� �������G7

s, (e, L 7→ t′) |=A [E1]E2
 JT���� �

s, t|(e, L 7→ t′) |=A P ∗ [E1]E2
 

� � ����������� � �����v��C������ ��?��#��� � 

��� 	 ����������� 
Yp���������� 

�����-/������K$.� ���+( ��� 
 � � �����5����� � 	�

����
 ����� ���  
(�D � � D!H � ���s< ��� 
Yp���������� 

�����-/������ ��� ��
 ��������������r! :A! :9������ � �����������������b( 

	���/�� ����� ����
9� ����� ��?�� 

� ���-$.� ���  
���
���������;4 

� � 
�� �#���������K�!�SWa?������ ��� 
Yp!���������  �_���� �,��� ������	����

s, t
1

|v� 
�� � ∀locx′.exists(E) ∧ (no(E : x′) → ([E][x′]e−∗P{E:x′/x}) � x := newlocE
�
P � 1_.��	�	 � ����� �`$&� �

s, t |=A ∀locx′.exists(E) ∧ (no(E : x′) → ([E][x′]e−∗P{E:x′/x})
 �� � � 

� �

����� �,$.� �
[[E ]]s

������������	 ���0�t�E��� ��� ��� � �Q$.� ���+( ����� ���`���
L
 �� � 
;����� �

x := newlocE, s, t ;

[s, x 7→ L : l], t|(e, L : l 7→ (e, nil))

 �����

t(L : l)
� ���j�J?�R ���  � ���`���

t(L : l)
����� � ���y�J?�R ���

����
`����� �
s, t |=A [E][l]e−∗P{E:l/x})

����� �
[s, x 7→ L : l], t|(e, L : l 7→ (e, nil)) |=A P

 
|v� 
�� �

(∃treex.x = E2) ∧ (exists(E1) ∧ ([E1]E2−∗P )) � x := add(E1, E2)
�
P � 1_.��	�	 � ����� �>$.� �

s, t |=A (∃treex.x = E2) ∧ (exists(E1) ∧ ([E1]E2−∗P ))
 < 
i) ���#�A����� 
�� �#�����

$.� �
[[E2 ]]s

������������	 ���0� �P��� 

�#����� � � ����?
t′
��7

[[E1 ]]s
�P��� ��� ��� � � � ����?

L
7 ���`$.� �

t(L)
�����

�J?�R ���  	T ��� � ��
 ������R �B��� 

������� �G( ����� 	�
��������5$&�0?�� ��� ��� 

add(E1, E2), s, t ; s, t|(e, L 7→ t′)

 
� ���`���

s, t |=A [E1]E2−∗P
7
s, t|(e, L 7→ t′) |=A P

 

|v� 
�� {(∃resx.x = E2) ∧ ∃resy.[E1]y ∗ ((∀resx.((x=e) ∨ (([E1]x ∗ >) → ⊥))) ∧ ([E1]E2−∗P ))}
updateres(E1, E2){P}

1

_.��	�	 � ����� �`$&� �
s, t |=A (∃resx.x = E2) ∧ (∃resy.[E1]y ∗ ∀resx.((x = e) ∨ (([E1]x ∗ >) →

⊥)) ∧ ([E1]E2−∗P ))
 D< 
 ) ���#������� � �0�!�-$&� �%$&� �

[[E2 ]]s
������������	 ���0� �g��� � ������� ��������� � � ����?

m
��7

[[E1 ]]s
� ��� ��� ��� � � � ����?

L
7 ���3$.� �

t(L)
�����3�J?�R ���  � � 
���������� 
9� �����^$&� �

t
��� �J?�|

����� 	 � ��� ��� ������p ����� �#| 

�#�������  uL � ����� �d| 

�#�����
t′
������$&� �

s, t′ |=A ∃resy.[E1]y
������� ����� �d|



�#�����
t′′

�����`$.� �
s, t′′ |=A ∀resx.((x = e) ∨ (([E1]x ∗ >) → ⊥)) ∧ ([E1]E2−∗P ))

 @� �

= D



� � 
 ��� � � ��� ��� ������� ��� � ��
 �
��	 �����!�
� �


%����� �
s, t′′ |=A ∀resx.(x = e) ∨ (([E1]x ∗ >) → ⊥)

 ,� ������� ����
9� ��� ��?�� 

� ���-$.� � � �0�!�-$.� �
$.� � ���%������p!�-/���� � ��� �d| 

�#����� � � ����� ������� � 	�
��j��� ����� ����������� ���

L
 � � 	 �����j����� � ��� �J?�|

����� ����$&� �
updateres(E1, E2), s, t ; s, t′′|(e, L 7→ (m,nil))

 �� � �����`���
s, t′′ |=A [E1]E2−∗P

7
s, t′′|(e, L 7→ (m,nil)) |=A P

 
|'� 
�� �

(∃treex.x = E2) ∧ ([E1]> ∗ (no(E1) ∧ ([E1]E2−∗P ))) � updatetree(E1, E2)
�
P � 1_.��	�	 � ����� �,$.� �

s, t |=A (∃treex.x = E2) ∧ ([E1]> ∗ (no(E1) ∧ ([E1]E2−∗P )))
 04 

�D�J?�R ��� �������

����� ����
9� ����� ��?�� 

� ���-$&� ���87
[[E2 ]]s

������������	 ���0�Q�E��� 

�#����� � � ����?
u
��7

[[E1 ]]s
�E��� � � ��� � � � ����?

L
7

����$.� �
t(L)

�������J?�R ���  B� � ����� 
����#������� � 
9� � ���J$&� �
t
� �'�J?������ 	 � ��������������p ����� �d| 

�#�������  BL � ����� �d|



�#�����
t′
������$&� �

s, t′ |=A [E1]>
���K��� ����� �d| 

�#�����

t′′
�����s$.� �

s, t′′ |=A no(E1) ∧ ([E1]E2−∗P )
 

T���� �
t
� � ����� ������� � 	��:� ����� � ��� �d| 

�#����� ���

L
��� �����`��� ��
 ������R �B��� 

�������

updatetree(E1, E2), s, t�G( ����� 	�
��^�����5$&�0?��B7 ��� 
%1
updatetree(E1, E2), s, t ; s, t′′|(e, L 7→ u)

 �� � �����`���
s, t′′ |=A

[E1]E2−∗P
���
s, (e, L 7→ u) |=A [E1]E2

7���� 

s, t′′|(e, L 7→ u) |=A P

 

�6*��6* � � / � � 9E<��B5 
=7
� �z�J?������ �����t� 

� � ������

� ��$.� � ����� � ������
Yp!����������

�����-/������ ����� ������� 	��������  b< ����
Yp!����������

�����-/������

$&� � � ��� � ��� 

� ����� � ����� ����������������� ���+( ��� �����������>����� 
Yp!��������� 	���?������ ��?��,����� ����
 	 � ���d| �����0�!� ���������G( 
�	�
��
���D) ���#��� 	�

����������� �-/����  
( D
� � D H �-T
�,< ��� 
Yp���������� 

�����-/������ ����� � ����� 	��������K�b( 

	���/�� ����� ����
9� ����� �e?�� 

� ���-$.� ���  
� �
� ��� ���@� � ����� ����� 	�

� � 
�� 	 ����� � ��
�$&� � 
Yp!������� �

P � C � Q � $.� ��� ��
�$&� � ������R �B��� 

�������
s, t ∈

wp(C,Q)
�@?����SR��

s, t |=A P
 

|'� 
��
s, t ∈ wp(x = E,P )

1,4 

�K�J?�R ��� �������G7
[s, x 7→ E], t |=A P

7J����� �
s, t |=A P{E/x}

 
|'� 
��

s, t ∈ wp(x := res(E), P )
1v4 

�>�J?�R ��� �������G7 ��� 


[s, x 7→ m], t |=A P
� 
������

t(L) = (m, t′)
�  

� � 
y?�� 

��������� �
s, t |=A P{m/x}

 �T�� 	��:� �87 � � ��p!�������
t1

�����K$.� � �+( ��� 	J���������N�J?������ 	 � �����
t��� ��
�) 

����� �#��� � 

� ���j1

t = t1|(e, L 7→ (m,nil))
 �k � ����� 

�������`?�� �-����� ��$&� � �+( 

�#�����

t1
�@?����SR��

t1(L) = e
 G4 

� ����� ��?}$&� ��� �87 ��� 
c�������

s, t1 |=A ∀resy.((y = e) ∨ (([E]y ∗ >) → ⊥))
 �� � 


?�� 

��������� �^1
s, (e, L 7→ (m,nil)) |=A [E]m

��� 	�

� ����� �e?}$&� ��� �87 ��� 
`�������
s, t |=A ∀resy.((y =

e) ∨ (([E]y ∗ >) → ⊥)) ∗ [E]m
 

|'� 
��
s, t ∈ wp(x := tree(E), P )

1,4 

�i�J?�R ��� �������G7
[s, x 7→ t′], t |=A P

��� � � ��p��������
t, L

�������i$&� �
t(L) = t′

���
L = [[E ]]s

 aT���� � � � ��p!�������
t′′

������$&� �
t = t′′|(e, L 7→ t′)

 b4 

� ����� ��?}$.� ��� �87 ��� 


s, (e, L 7→ t′) |=A ∃treex1.[E]x1
���
s, t′′ |=A no(E)

 � � 
N����� �
s, t |=A ∃treex1.(φ{x1/x} ∧

(no(E) ∗ [E]x1))
 

|'� 
��
s, t ∈ wp(x := newlocE,P )

1,4 

�D�J?�R ��� �������G7 ��� 

[s|x 7→ L : l], t|(e, L : l 7→ (e, nil)) |=A P�
�

L = [[E ]]s
���
t(L : l)

�G( ����� 	�
��A�J?�R ���  G4 

���J?�R ��� ������� ��� −∗ 7 ��� 
j1
[s|x 7→ L : l], t |=A

[L][l]I |=A P
 u� ���`���

t(L : l)
�G( ����� 	�
��`�J?�R ���+7 ��� 
 ����� �z1

[s|x 7→ L : l], t |=A no(L :
l) → [L][l]I−∗P ��� �����`��� ����� ��?������ � 

��� ����� � ��� 

��� 	 ����� ������� ��� 	���
���������� �

l
7 ��� ����������� �

R ��

��������� �
s, P |=A ∀locx′.(no(E : x′) → ([E][x′]I−∗φ{E:x′/x}))

 
|'� 
��

s, t ∈ wp(x := add(E1, E2), P )
1,4 

�3�J?�R ��� �������G7

s, t|(e, L 7→ (m,nil)) |=A P

 �����

m =
[[E2 ]]s

7
L = [[E1 ]]s

���
[t(L)]↑  a4 

� ����� �e?}$&� ��� �87 ��� 


s, t |=A [E1]E2−∗P
��� �����`���

t(L)
�����

�J?�R ���+7���� 
K?�� 

��������� �
s, t |=A exists(E2)

 �� � 
������ �h�������
s, t |=A exists(E1)∧([E1]E2−∗φ)

 
|'� 
��

s, P ∈ wp(x := updateres(E1, E2), φ)
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 ���!�
� 	�� � � � � ��� �
t
� � � � � � � � � � �

h � � ������� th � ��� � � ��� ����� � � �"� � � � � � �

�� ��
 � �

l1, . . . , ln �
�
� � �

� th(l1, . . . , ln) = t(l1, . . . , ln)
���
n < h

�

� th(l1, . . . , ln) = (r, nil)
��� ∃r ∈M, t′ ∈ TM,Loc.t(l1, . . . , ln) = (r, t′)

� �
n = h

�

� th(l1, . . . , ln)
� � ����� � � � 	 � � ��� ���

n > h
�

� �i����� ������

�������'$.� � 	 �����'��� �,) ���#�A�����D�������0?��B7���
 ���������������������N�b( ��� 

�#�����D����
 ��
9���������v��� ���������
) ���#������� ��� ����� 	 ������� �����`�������������;) ���#�������  

( D
� � D � �-T
�,4 ����� ���������>) ���#�������
φ
��� ������� 

�#�����>�����������������������

t
7
t |=T φ

�����
th(φ) |=T φ

� �
� ��� ���E< � � 
������#� ����

� �����'?����-�����`����� � �����:��� �
�
h(t) > h(φ)

 JT 

� ����� � 
�� � ��7!� ��� � 	������������ � 	�

�
� �0��� ���������������#� ���#������� ��� �#���

φ
$&� �

th(φ) |=T φ
�����

th(φ) |=T φ
 

|'� 
��
p
1
t |=T p

�����-$.� ������� � ���
t = (m,nil)


������
m ∈ M

���
m |=T p

���87 �����`���
h(p) = 1

���

h(t) > h(φ)
��� 


t 6= (m,nil)
���K?�� 

��������� �

th(p) 6= (m,nil)
T���� �

t 6|=T p
���
th(p) 6|=T p

 

|'� 
��
ψ ∗ ψ′ 1,4 ������������� t′ ��� t′′ �������A$.� � t v t′|t′′  J� � 	 � ���

t1 = t′h(ψ∗ψ′)

���
t2 = t′′h(ψ∗ψ′)

 
t1|t2�����,�J?�R ��� 	J������$.� �

t′|t′′ �����,�J?�R ���  �T �E��C����B7�� � ����� ����

� �K$.� �
t′h(ψ) = t1h(ψ)

���
t′′h(ψ′) = t2h(ψ′)

 
T���� � 	�

� �+( �." 	 �����0/����^�b( � �0��� ���������G7 ��� 


t′ |=T ψ
�����

t′h(ψ) |=T ψ
�����

t1 |=T ψ
� �-����� 	 �����

t′′
���
t2
�  Jn � � ���+7���� 
 	 ����� �������

t′, t′′
7
t|t′′ |=T ψ ∗ ψ′ ����� t1|t2 |=T ψ ∗ ψ′ ��� ����	 ����� ����� ���:�����  

|'� 
��
I
1
t |=T p

�����-$.� ������� � ���
t = (m,nil)


������
m ∈ M

���
e v m

 � � �����`���
h(I) = 1

7
th(I) = (m,nil)

� ���
t = (m,nil)

 0T���� �
t |=T p

� ���
th(p) |=T p

 

|'� 
��
ψ−∗ψ′ 1,4 ������������� t′ 7 	�

� �&"�	 �����0/�� ���b( � �0��� ���������G7 t′|t |=T ψ′ � ��� (t′|t)h(ψ′) |=T ψ′  a� ��	�

�
�+( �." 	 �����0/������b( � �0��� ��������� ?�� 

��������� �87

(t′|t)h(ψ′) |=T ψ′ ����� t′|th(ψ′) |=T ψ′  t |=T ψ−∗ψ′ � ���

th(ψ′) |=T ψ−∗ψ′ ��� �����`���
h(ψ′) = h(ψ−∗ψ′)

7 ��� 	 ����� ����� ���:�����  
|'� 
��

ψ ∧ ψ′ 1 t |=T ψ∧ψ′ ����� t |=T ψ
���
t |=T ψ

′  .4 

� �&"�	 �����0/������b( � �0��� ���������G7 t |=T ψ
� ������	  

t |=T

ψ′ � � ��� th(ψ) |=T ψ
���
th(ψ′) |=T ψ

′  B4 

� ��
E��C������." 	 �����0/����v�b( � �0��� ���������
tmax(h(ψ),h(ψ′)) |=T ψ� ������	  

tmax(h(ψ),h(ψ′)) |=T ψ
′ � � ��� th(ψ) |=T ψ

� ������	  
th(ψ′) |=T ψ

′ �  
|'� 
�� > 1<� ��


t |=T > ���
th(>) |=T >  

|'� 
��
ψ ∨ ψ′ 1vk!����� 
9� � 
��

ψ ∗ ψ′  

|'� 
�� ⊥ 1<� ��

t 6 |=T⊥

���
th(⊥) 6 |=T⊥

 

|'� 
��
ψ → ψ′ 1,k!����� 
9��� 
��

ψ ∧ ψ′  

] ��� � 
������ � �5� 	���?��}?}�����`����� �������`����� �*� ����� ��� ������������� �����������^� ����� ���-�J?������ � 
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���
9���������
����� 

�#�������'��	������0�!��� ��� ����� 	����  &� ��� �:� � � 

� � �+( ��� � ���A�����D����� � �����87 � ��� � 
������ �'��� ���x) 

� � � �:� � ����� ��
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�#�������87
	J������$.� �h������p>) ��/������ � � 	 ��������� � ������������	 ���0�!����
9����C���� � ��� �b( ��� 	���
���������� �  
� ��� � ��������?��#��� � 

����� ��� � 	 ���#����������� ���b(\?�� 
9��� � � ��
*�J?����-� 
9��� � � ��?���� ��
 � 

�����d) 
���������� 	 �����@� � * �����`1

AF?



�
� � ������� � � � � � 	������ 
 � � 
 � � � � � � ��� 
�� ����
 � ��	�� ����� � � ���

�  *� "H � � D�� ��� � � " !��+#
� " '8!��+ �� I *)' � I " 6 ( D7I " �J# � ��% (� ='��
� � � ��� � ��
�� 	 ��� �
	�� � � ������� � � � ��� � � T =
(T, (e, nil), |,vT , |=T)M,Loc

���
(T, (e, nil), |,vT )

����� � � 
��
� ��� 	�� 	 � � � ������� � � � ��� � � 
�� ��� 
�� ����
 � � �
	 � � ��� � � ��� M ����� � � 
 ��� ��� 	�� � � � ��� � � � � � ����� � � � � ��� �

t ∈ T
� �
φ
� � � � � ��
 � ��� 	��G� � * ����� � t |=T φ����� 	 � 
 � 	 ������� �

���
��������� � � �=( 
����#����� 	 ����� � ��
�$&� � ��/�� ���u$.�G( � � �#��{����b( ����� ����������R ���5��� �@?����SR�� 

������� � 	 ����� �8( 
����#�������
������
 � 

�����d) 
����������P������
^) ���#�������  UT�� ��� 	 ��� � �D��� �5� �B7������K������p ��/�� ����� 	 � � 

� � ��� 	��:� ����� 	��������-/������
� ��� �K� 

� � �+( �����!��� ����� �����K��� ∗ ��� −∗  
|v� 
�� ∗ 1K_.��	�	 � � ��� �,$&� � �+( ��������� ��� �@?����SR���� ��� t |=T φ ∗ φ′ ����� � 

�����d) 

� �  J] ��� �K��������� �K����� � �@?����SR����$.� ��	�

�#� ������������� �����u�J?������ 	 � ��� ������� �h���

t
���t������p������ �#| 

�#�������

t′
���
t′′

� �0" ��� 
�
9������� � ����� �
����� ���'$&� �

t′ |=T φ


�0�

t′′ |=T φ
′  8� � �����`��� ����� 

�#������� ����� ��������� ��� �h����� ����� ������������� 

	�	�

��������

� �

�^��������� ��q+���>��� �������������������v� ������
9�����B7�� � ��p!�������E��� � ���������ER ��� ���>�J?������ 	 � ��� ������� �K���
t
 

|v� 
�� −∗ 1K_.��	�	 � ����� �'$.� � �+( ���Q����� ��� �@?����SR���� ��� t |=T φ∗φ′
����� � 

�����d) 

� �  &] ��� �u��������� �'����� � �@?����SR����

$.� � 	 ����� �������
t′
�������`$&� �

t′ |=T φ
7
t|t′ |= φ′

 �< � 	��������-/���� �����������`$&�G( � � 	 �����*" 
������ �`��� �
� ��R ��� ��?,�b( 

�#������� �@?����SR 

� �

φ
 &� ��	 ���0� 

� �87&�b( 

	���/�� ��� �����`���M9! O>57������ 

� �h$&� � ������� 

�#������������$&� �

h(t) > h(φ−∗φ′) ��� ����� 	 �������������`��� � 
 ���������������������Q� ��
 ��
9���������
h(φ−∗φ′)  B4 

� ����� ��?}$.� ��� � � ��#��{�� 	 ����� �@?����SR���� ��� 	 ����� �������

t′
������$.� �

h(t′) ≤ h(φ−∗φ′) ��� ������$.� � t′ |=T φ


�������

t|t′ |= φ′
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� ��R �G7 ����� �:� � ��� ����� ���A��������� �������������������,� 

� � ����
�$.� � ���E�0� � ��������
9�����0?�����/���� 9! :w  
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� ����� ��?}$&� ��� �87 � ��� ��	 ��������� �K����� � 
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 ��

� �-�!� ��?>���;fxk | < ��� �����,�J?����-� 
9�����t1

�  *� "H � � D ��� � ��� " (1�+I�� !$* I *)' �+I " 6 (+D�I " �J# � � % (  ='��
� � � ��� � � 
�� 	�� � � 	�� ��� ������� � � � ��� � � T =
(T, (e, nil), |,vT , |=T)M,Loc

���
(T, (e, nil), |,vT )
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	 � � ����� ����� M ��� � � � 
 ��� ��� 	�� � � � ��� � ��� � � � ������� � � � ���

φ
� � � �	� ��
 � ��� 	�� � � * ����� � t |=T φ
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 � 	 ������� �
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� � � rFA��  �T 

� � ������� ��� 
 ��
9��pb7 � ��� � ����� � � � ��� � ����� 	��������-/������ 	 � ��?�� 	�

� ��
 ������
9��� � 

�������g�����
$.��

� ���SR�� 
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# " �J# −∗ �
� � � � � � � � � �����

t
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�	� ��
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φ
� ��
 � 

� � � ���
� ��� � ��� � � ����� � � � � � −∗ � Check(t, φ)

����� � � ��� � 	 � � ��� � � 
 � ����� � ��
 � ����
 � 
 
 �

� � ��� �

� Check(t, p) = vrai
���
t = (m,nil)

� �
m |=T p � faux

��� � �
� �
� Check(t, ψ ∗ ψ′) =

∨

t1|t2vt
(Check(t1, ψ) ∧ Check(t2, ψ′))

�

� Check(t, I) = vrai
���
t = (m,nil)

� �
e v m � faux ��� � �
� �

� Check(t, ψ ∧ ψ′) = Check(t, ψ) ∧Check(t, ψ′)

BFE
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 � 	������ 
�� � 
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� Check(t,>) = vrai
�

� Check(t, φ ∨ ψ) = Check(t, φ) ∨ Check(t, ψ)
�

� Check(t,⊥) = faux
�

� Check(t, ψ → ψ′) = ¬Check(t, ψ) ∨ Check(t, ψ′)
�

� Check(t, [l]ψ) = vrai
���
t = (m, l 7→ t′)

� �
Check(t′, ψ) � faux ��� � ��� �

� Check(t,∃locx.ψ) =
∨

l∈{l0}∪Locψ∪Loct
Check(t, ψ{l/x})
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l0 ∈ Loc− (Locψ ∪ Loct)

� �

� Check(t,∀locx.ψ) =
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l∈{l0}∪Locψ∪Loct
Check(t, ψ{l/x})
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l0 ∈ Loc− (Locψ ∪ Loct)
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� Check(t,∃pathX.ψ) =
∨

L∈Reachable(t,ψ) Check(t, ψ{L/X})∗
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� Check(t,∀pathX.ψ) =
∧

L∈Reachable(t,ψ) Check(t, ψ{L/X})∗
�

∗ � Reachable(t, ψ)
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l1, . . . ln
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t1|t2vt
P (t1, t2)
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2 Check(t, p) = vrai
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X4 = X3 ∪ {c1 ≤ c3, c2 ≤ c5}
F

2 	�

� ����� 	��-?��������G7
X5 = X4 ∪ {[l]1, c1, c3, c2, c5}

F
2 	�

� ����� 	�

���:��� � � ��?B7

X6 = X5 ∪ {[l]c2 ≤ [l]c5, c3[l]c2 ≤ c3[l]c5, c1[l]c2 ≤ c3[l]c2, c1[l]c2 ≤
c1[l]c5, c1[l]c5 ≤ c3[l]c5, c1c4 ∼= c1[l]c5, c1c4 ≤ c3c4}

F
2 	�

� ����� 	��-?��������G7

X7 = X6 ∪ {c1c4, c1[l]c5}
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��� � ���A�������D����� � ���0��� ���,�b( 

����� �#��� � 

� ���>1

2 N(X) = {1, c, c1, c2, c3, c5, }
2 E(X) = {c5 → c2, c3 → c1}
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 ����� �����#� ��������� �b( ���g����� ��q+���
�b( 

�#������� 	�

�����������  	� �;������������� ����� 
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2�*����8� !��+ +� � �1& � ���1 +�J ���I D " !$ ���7,.�JD $ " H !��+D�( " #$#$ =' �+*	�
� � � ��� G(X) = [N(X), E(X)]
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X
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X
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 � � ��� 〈T, 1, •,v〉
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� T = {t / t|∀L.t(L) = (m, t′),m ∈ N(X)
�
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� � ��� ���!�
� ������� � ��� � �
� t|1 = 1|t = t

�

� [t1|t2]↑
� ��� ∀L.∃t′1, t2,m1,m2.t1(L) = (m1, t

′
1) � t1(L) = (m2, t

′
2)

� �
m1 ×m2 ∈ N(X)

�

� t1|t2
� � ����� � � � 	 � � ��� ��� � �
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� v ����� � � ����� � �����
� 	 � � ����� � � ���
� ∀t1, t2 ∈ M.t1 v t2

��� � ��� � � ����
 � � � ��� ∀L.∃t′1, t2,m1,m2.t1(L) = (m1, t
′
1) � t1(L) =

(m2, t
′
2) � m1 → m2 ∈ E(X)

� �
t′1 v t′2

�

( D
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 �����0�!� �������

��� � 

�#��� 

�������P���
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� ��� ��� � � ��? ���
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x v y
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z ∈M
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[z • x]↑ 
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[z • y]↑ �b( 
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���:��� � � ��?�������
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� � � ��� G(X) = [N(X), E(X)]
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 � � �
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X
� � �K����� ��q+��� 	�

��������� � ��� � 
 � � �

X
����� � ������� � 
 � � ��� 〈T, (1, nil), |,v〉 � ��� � � � ���
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� T = {[[x]]card / x ∈ N(X)} �
� | ����� � � � � � 	�� 
 � 

� � ��� ���!�
� ������� � �
� � �
� [[x]]card|(1, nil) = (1, nil) × [[x]] card = [[x]]card

�

� [[[x]]card|[[y ]]card]↑
���
x× y ∈ N(X)

�

� [[x]]card|[[y ]]card
� � ����� � � � 	 � � ��� ��� � �
� �

� v ����� � � ����� � �����
� 	 � � ����� � � ���
� ∀x, y ∈ T.x v y

��� � � � � � ����
 � � � ���
x→ y ∈ E(X)
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� ����
 ������������� 	���?��}?}����� ������� � �������������z��������
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F φ : x F φ′ : x
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F φ′ : ci
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ass1 : c1 ≤ c

√
2
T (q ∗ [l]p) ∧ (q′ ∗ [l]p′) : c1√
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��p!	�������������� ������� "�	 �

E + F
7
E − F

7
E × F

 
< 
 ��?�� 

� ���-$.� �c��� ������) ���#�A������� �����*�J?�R ����� 	 �����^��� � 	�� ���

s ∈ Stack
������� � 
��*��� 	 ��� � ���������

h ∈ Heap
	�

� ����� ����
9� ����� ��?�� 

� ���-$&� ��� �#��� � 

� �����>1

|
s, h |= α

� ���
[[α ]]s = true

F
|
s, h |= ∃x.P ����� ∃v ∈ Ints

�����G$&� �
[s|x 7→ v], h |= P

F
|
s, h |= E 7→ F

� ���
[[E ]]s = dom(h)

���
h([[E ]]s) = [[F ]]s

F
|
s, h |= false

��
9� 

���GF
|
s, h |= P → Q

�����
s, h |= P

F
s, h |= Q

F
|
s, h |= emp

�����
h = []

����������� 
�� ���-����F
|
s, h |= P ∗Q �S) ∃h0, h1

� �!���Z� ��� � � ��7
h0 ∗ h1 = h

7
s, h0 |= P

7
s, h1 |= Q

F
|
s, h |= P−∗Q ����� ∀h′ ����� $.� � h′ ��� h ��������� �K�!���Z� ��� � ��� ���

s, h′ |= P


�������

s, h′ ∗ h |= Q
 

� � 	 �����*�J/�� �������*?�� 
9��� � � ��
 ������������	 ���0� 

� ��� ��� �����c��� �
P
| 
���� ����������� 	�����	 � ��� ��������� ��� ���

P
� � 

� �

$.��

� ���SR�� 

��������� � ��� � 
 ������������	 ���0� 

� ���
[[P ]]BI−Loc

� 

� � ������

��� 

�����b( 
���������������� �K����� 

�#�������K��� �����d|
� �����������  �� ������� ������

������� ���;�J?�R ��� � ��?���������� ��������� � �����`��������� �>1

2 [[E 7→ F ]]BI−Loc = [E]F
F

2 [[P�Q]]BI−Loc = [[P ]]BI−Loc�[[Q]]BI−Loc
	 ����������� � ����� ��		?�� 

���������K��� ��

� �����

�
F

2 [[emp]]BI−Loc = I
F

2 [[false]]BI−Loc = ⊥ F
2 [[α ]]BI−Loc = α

F
2 [[∃x.P ]]BI−Loc = ∃resx.P

 

� � 	����������N� 

� � ������

� �Q��� � 	�����	����-?���? ���#� ����

��� 	 ����� ��
 ������������	 ���0� 

� ��� ��� ����� ���c���5�J/����������
	 ��� � ��������� �����+( � � ��� 

� ���>����� 

�#�������K�����������������������K$&� ���+( ��������� ���-�J/���� �����  0k � �=( 

� � �K���E����� �������D$&� � ���
��� 

�#�����D) �������E��� �E) ���#�A������������������	 ���0� 

� ���^��� �

P
| 
�����������������	 ������������	 ��� � ���������=7���
 ���������������������P���

����� 

�#�����*�`��� 

�#����� 	J��� ��
*) ��������?�� 

��������� �  	4 ����� ������
�7 � ��� � 

��

�:"!����� � � ��
������y����� � 
��D$&��� 	 �����
�����0�!���A����

�#����� � �
� � � � �  
(�D � � D ��� H �;_�������� �^������p 

�#�������

t
���
t′
7G��� ��� 	���
���������� �

l
���A��� �

P
| 
����������������

P
�������A$.� �

t =
t′|(e, l 7→ (e, nil))

���
l /∈ Loc′t



������� ���
s, t |=A [[P ]]BI−Loc

��� 
*?�� 

��������� �
s, t′ |= [[P ]]BI−Loc

 

���
���������;4 ��������� 	�

� � �0��� ��������� �����#� ���#������� ��� �#���
P
 3� ��� ���J?�� 

� � ����������$&� ������� 
�� ����� ��� 

�+7 �����:�������

P := Q−∗Q′ 1

� � �#��	�	 � � ��$.� �
s, t′|(e, l 7→ (e, nil)) |=A [[Q−∗Q′ ]]BI−Loc

 0_���� �
t′′

�����b$.� �
s, t′′ |=A [[q ]]BI−Loc

 
4 

���J?�R ��� �������

s, t′′|t′|(e, l 7→ (e, nil)) |=A [[Q′ ]]BI−Loc
 x4 

� �." 	 �����0/����j�b( � �0��� ��������� ��� 
 ����� �

s, t′′|t′ |=A [[Q′ ]]BI−Loc
 J� ������� �

s, t′ |=A [[Q−∗Q′ ]]BI−Loc
 

(�D � � D � ��� �>_�������� � ����������

�#�������
t
���
t′
���

(m, f)
7a��� ��� 	���
���������� �

l
���;��� �

P
| 
����������������

P
�������

$.� �
t = t′|(e, l 7→ (m, f))

��� �������v$&� �
f 6= nil

�
f
�����v�J?�R ��� $&� ���-$.� ��	�

��� � ���

s, t |=A [[P ]]BI−Loc
���


�?�� 

��������� �
s, t′ |= [[P ]]BI−Loc

 

���
���������;4 

� � �0��� ��������� �����#� ���#������� ��� �#���
P
 

?G=



� ��� � � � 	 ��� ��� 	���� � � � � � � � ���
� � ��� ������� 	�� ����� �	� � ��
 ���

( D
� � D ��� ���*_�������� �t������p 

�#�������
t
���
m, f

���`��� �
P
| 
����������������

P
�������`$.� �

t = (m, f)


������� ���

s, t |=A [[P ]]BI−Loc
��� 
*?�� 

��������� �

s, (e, f) |= [[P ]]BI−Loc
 

� �
� ��� ���E4 

� � �0��� ���������������#� ���#������� �����#���
P
 

�  "H; �( ( " �+H D � ��� �*_���� �Q��� 

�#�����
t
7
tp

��
 ��������������������� 	J����� ��������� 

�#����� ���t��� � 
���������������� �#��� �����
	 ��� � ���������

P
7����

s, t |=A [[P ]]BI−Loc
����
`?�� 

��������� �

s, tp |= [[P ]]BI−Loc
 

� �
� ��� ���>� � ��?������ � 

� ��������
 ����� ��?}$.� ��� ���A�!� ���������>����� �����`����� =  r�7%=  :9 ��� =  =  
� � ��������� ��

� ��� ����� � �0�!����	 ��� � 
9������	 ������?�� 
9��� � � ��� � ����� ��� ����� ��
 	�������� 
9��� � � ��? 	 ����� ����� 

�#������� ��� ����� ���

	 ����������� 	 ��� � ���������  
( D
� � D � ��� �K_���� �x��� � 
��v��� 	 ��� � ���������

h ∈ Heap
75��� � 	�� ���

s
���x��� ��
�� ������������� �#��� ����� 	 ��� � ���������

P� 

� � −∗ 7���� 
c1
s, [[h]]RT |=A [[P ]]BI−Loc

�����
s, h |= P

 

� �
� ��� ���E< 
 	���������� ���D) 

� � 	�

��� �0��� ��������� �#���
P
1

|'� 
��
emp

1�_.��	�	 � ����� �>$.� �
s, [[h]]RT |=A [[emp]]BI−Loc

����� �
s, [[h]]RT |=A I

 b� � 	�

�A�J?�R ��� �������
��� |=A

7 ��� 
t����� �
[[h]]RT = e

7������ �
h
����� ��� � 
�� ���-�������

s, h |= P
 �<�( 
9������� �:� 	�� ��� 

������� ����� �

���E��C���� � ���0?�� 
! 
|'� 
��

false
1v� ��� ����

���t1J� 

� �������K������p � 
��=7!��
^) ���#������� �G( ��������
9� 

��� � 

�����#) 

� ���  

|'� 
�� ∃x.P 1K� ��� ����

����1!��
 ������

�������P���E) ������� ��� ��������
^��C����A� 

� � �����Kr � 
��  
|'� 
��

α
1

[[α ]]BI−loc = α
 b< 
 � 

�����d) 
����������j��� ���������^) ���#�A�����`�J?�	 ���0�y����� �*�����-$.� ������� �A���

s
��� ���

	 ����� ����� ���:�����  
|'� 
��

E 7→ F
1<� ��	 � ���

[[E ]]s = l
���

[[F ]]s = m
 �_.��	�	 � � ��� ��$.� �

s, [[h]]RT |=A [[E 7→ F ]]BI−Loc
7

��� 
 

�������
[[H ]]RT = (e, l 7→ (m,nil))

��� 	�

�D�J?�R ��� �������G7 ��� ������� � 
��K��� 	 ��� � ���������D$.��� �����������d|
	 ���0�3� ������

�#����� �����

[l 7→ m]
 � � ��� 
��������

s, [l 7→ m] |= E 7→ F
 U<�( 
9������� �:� 	�� ��� 

������� �#��� �

���E��C���� � ���0?�� 
! 
|'� 
��

Q→ Q′ 1vk �`��?}�!��

� 	�

���&"�	 �����0/�� �>�b( � �0��� ���������  
|'� 
��

Q ∗Q′ 1<� � �#��	�	 � ��� s, [[h]]RT |=A [[P ]]BI−Loc
7=����� �

s, [[h]]RT |=A [[Q]]BI−Loc∗ [[Q′ ]]BI−Loc
 

k � ��p�������������� ��������p 

�#��������	�

�����������
t1, t2

��������$.� �
[[h]]RT = t|t2

7
s, t1 |=A [[Q]]BI−Loc

���

s, t2 |=A [[Q′ ]]BI−Loc
 	k � ����� 

�������>?����-����� �>$.� �

[[h]]RT = t1p|t2p
���>�b( 

	���/������ ��������� ��

� ��� =  :A�7

��� 

s, t1p |=A [[Q]]BI−Loc

���
s, t2p |=A [[Q′ ]]BI−Loc

 a4 

� ��� �����`��� =  :wB7 ��� � 

� �E$.�G( � � ��p��������
������p � 
��

h1
���
h2

�������v$.� �
[[h1 ]]RT = t1

���
[[h2 ]]RT = t2

��� ��� 

h = h1 ∗ h2

 �T^( �
�
s, h |= P

 
<�( 
9���������:� 	�� ��� 

������� �#��� �����E��C���� �����0?�� 
! 

�  "H; �( ( " �+H D � �7T �E_���� �E��� � 
����������������
P

����� ���*$&�G( � � �G( ��p!������� 	�
��;��� � ��� �K) ���#�A�����`���
P
��� ��
t) ���#���

Q → Q′ �
� Q
����� ������� � �+( ��		?�� 

������� −∗  ,_���� �c��� � 
��N��� 	 ��� � ���������

h ∈ Heap
7h��� � 	�� ���

s
���^1

s, [[h]]RT |=A [[P ]]BI−Loc


�������

s, h |= P
 

� �
� ��� ���E< � ��������� ��

� ���t�J?����������`��� �����`��� 	���?��}?}����� �  Gk � ��������� ���:� 	���������� ���i����� �������A$.� � �+( �:� 	�� �S|
� 

����������������� 

� 	 ����� �����x) ���#���������K��� �l" 	 �

Q−∗Q′ 1
_.��	�	 � ����� �h$.� �

s, [[h]]RT |=A [[Q−∗Q′ ]]BI−Loc
 5_���� �'��� � 
��

h′
�����	$&� �

s, h′ |= Q
 @4 

� �." 	 �����0/����

�b( � �0��� ���������G7
s, [[h′ ]]RT |=A [[Q]]BI−Loc

 �� � 

s, [[h′ ]]RT |[[h]]RT |=A [[Q′ ]]BI−Loc

������� ��� �J?}����� �
s, h ∗ h′ |= Q′  

k ���G( ����� 	�
�� 	 � �����:�����v���,�J?������ ������� ��
���?���� 	����5$&� �K������� ��������� ��

� ��� � 

�
P−∗Q �0?������ ��� ���v�����@?����SR����

��
 	�����	����-?���?
P
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�#������� 	J�����  
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�
� � ������� � � � � � �������
	 ��������� � � ��
���� � � 
�� 	��������
	���� � � � � � � � � �

�8*,)+*�� � >+;82�� 5 9E> �B2E/3; 
=7�� � /32,; � 7?58A �
T 

� � ��
 �������������3r! =07�����
 	�����	 � ��?E��� ��

��� 

���>�����@?��0?����-$.� �>���E� 

��� 	J����

�������3����� 

�#�������  J] ��� �

�+( ����� � ��� ��� � ����� 	 �����h?�� 
9��� � �x��� � ����� ��� ����� ��
;� 

��� 	J����

���������b( ��� � 
��'��� 	 ��� � ��������� ��
;� 

��� 	J����

�����������
�+( 

�#����������������������������� ������������	 ���0� 

� �  
m 

	�	 ������� ������� �����`� 

�0���������;��
�������	�����	 � ��?�����	 ����� ��
^� 

��� 	J����

�������j������� 
��,��� 	 ��� � ����������1

� � � 
 �������!�
� 	�� � � � 
 � � � � ��� � � � � � � �����!�
� �
[[E ]]s = l ∈ Loc, [[E ]]s = m ∈M

[E] := F, s, h s, [h|l 7→ m]

[[E ]]s = l ∈ Loc ∩ dom(h)

dispose(E), s, h s, (h− l)∗

���
(h− l)

����	���?�� ��� ��� ����� 
��
h
	���� �@?>������
������ �:�����

l
 

� � � 
 �������!�
� 	�� ��� ����� ��� �A1 � ��� ��� � ��������� 	�� 
 �
� � � � � �
[[E ]]s = m ∈M

x := E, s, h [s|x 7→ m], h

[[E ]]s = l ∈ Loc, h(l) = m ∈M
x := [E], s, h [s|x 7→ m], h

� � � �����!�
� 	�� � � � 
 ��� � � ��� �
[[Ei ]]s = mi ∈M,∀i ∈ [[0..n− 1]] (l + i) ∈, Loc ∩ dom(h)

cons(E1, . . . , En), s, h s, [h|l 7→ m1| . . . |l + n− 1 7→ mn]

< ����
Yp�����������

�����-/������ � � � 
 ��� � � 	 � � �!� 

� � ������������	 ���0� 

� ���>� ����� �����`� 

�0����� ��p!	����:��?����D� 

� � ���
��

��� 

�����b( 
���������������� ��������	 ��� � ���������K�J?�� 

� � �-? ���S| ����� �#� � ����� � ����� �#��� � 

� ���A1

{∃x.(E 7→ x) ∗ ((E 7→ F )−∗P )} [E] := F {P}
{∃x.(E 7→ x) ∗ P} dispose(E) {P}
{∀x′.((x′ 7→ E1) ∗ . . . ∗ ((x′ + n− 1) 7→ En))−∗P{x

′

/x}} x := cons(E1, . . . En) {P}
{P{E/x}} x := E {P}
{∃x′.P{x′/x} ∧ ((E 7→ x′) ∗ >)} x := [E] {P}
� ��� �����`� 

�0����������� � ����/�� 	�������� ���D��� ������� 

� � ��� �����`� 

�0����� 	 ����� ��
*� 

��� 	J����

�������j����� 

�#�������  

< 
 ������

������� ��� ����� ��
 � 

��� 	J����

�������g�b( 

�#������� ���*��� 	 ��� � ��������� �����`����� � ��

�#������� ��� 	 ����� ��
 	��:��	�

���
�����������`� 

�0�����  G_ � �+( ��� ��p�����	�������
 �����`� 

�0���

cons
7 ��
 �����`� 

�0���

C
�#��� ����� 	 ��� � ��������� 
 �����`���

?}$.��� � 

����� � ��
 �����`� 

�0���
[[C ]]point

� 

� � ������

��� 

���A���E� 

��� 	J����

�������j����� 

�#�������870�J?�R ����� 	�

��1

2 [[ [E] := F ]]point ≡ updateres(E,F )
F

2 [[dispose(E)]]point ≡ disposeloc(E)
F

2 [[x := E ]]point ≡ x := E
F

2 [[x := [E]]]point ≡ x := res(E)
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newloc
	 ���#�����D��� ����?����K��� ������� ��� 	���
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^) ����� ��� � � ������� �D��"���
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��� � ��� �b( ��� 	���
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n
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� � ��� ������� 	�� ����� �	� � ��
 ���

� � 	�����	 � ���Q����� � �����h��� � �������������%���5�!�SRU?��Q��� ��
 �����`� 

�0���
new
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{P0}
x := cons(a, a);
{P1}
y := cons(b, b);
{P2}
[x+ 1] := t− x;
{P3}
[y + 1] := x− t;
{Pf}

P0 ≡ ∀x′((x′ 7→ a) ∗ ((x′ + 1) 7→ a))−∗P1{x
′

/x}
P1 ≡ ∀y′((x′ 7→ b) ∗ ((y′ + 1) 7→ b))−∗P2{y

′

/y}
P2 ≡ ∃z((x+ 1) 7→ z) ∗ (((x+ 1) 7→ tx)−∗P3)
P3 ≡ ∃z′.((y + 1) 7→ z′) ∗ (((y + 1) 7→ x− t)−∗Pf )
Pf ≡ (x 7→ a) ∗ ((x+ 1) 7→ t− x) ∗ (y 7→ b) ∗ ((y + 1) 7→ x− t)
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x := cons(a, a);
y := cons(b, b);
[x+ 1] := t− x;
[y + 1] := x− t;

� " �8� $ � ( " !��+ �� I	� " HJ6 H D7IJD H D�#$#$ +�JH;'�D)# ,

x := newloc(2, nil);update(x, a);update(x + 1, a);
y := newloc(2, nil);update(y, b);update(y + 1, b);
updateres(x+ 1, t− x);
updateres(y + 1, x− t);
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[[Pf ]]BI−Loc = [x]a ∗ [x+ 1](t− x) ∗ [y]b ∗ [y+ 1](x− t)
 � 	�

����� �,��� ��� �����D) ���#�A�����B7���� � 

��� ����� �

����� ����� 
Yp!��������� 

�����-/������ 	���?������ ��?��h� 

� � ��� ����

	�� �����Dr! Bn � � ���+7 �����`� 

�0��� 	�

� �����`� 

�0���B7���������������� �
����� 
���������������� ��	���?�� ��� ��?���� ����R �B����� =  :9! 
_ ���+( ��� ����� 	�

��� ����� 
Yp!���������h��� ��
 ������������� � ��� ����

���:� ��
;R �B����� =  :wA� 
 ����� ������pt��� ��
 ������������� 

�#�������

��� ������������������� � ��
>R �B�����M=  :9���7���� ����� 

��$.� �D$&� � ����� 
Yp!���������x���,� �����E�x�������h����� ������������������� ����� � 	��:� �
����� 	�����p����E� 

� � ���������^���������-/����  b� ����� �8( ��p!	�� �-$.� � 	�

� ���>) 

� �D$&� �B7�� 

� � ��� � 
�� �@?��0?�� 

��������

�#�������D���

?FD



� ��� � � � 	 ��� ��� 	���� � � � � � � � ���
� � ��� ������� 	�� ����� �	� � ��
 ���

{P ′
0
}

x := newloc(2, nil);
{P ′

1}
updateres(x, a);
{P ′

2
}

updateres(x+ 1, a);
{P ′

3
}

y := newloc(2, nil);
{P ′

4
}

updateres(y, b);
{P ′

5}
updateres(y + 1, b);
{P ′

6
}

updateres(x+ 1, t− x);
{P ′

7
}

updateres(y + 1, x− t);
{ [[Pf ]]s}

P ′
0 ≡ ∀x′.((no(x′) ∧ no(x′ + 1)) → (([x′]I ∗ [x′ + 1]I)−∗P ′

1{x′

/x}))
P ′

1
≡ ∃resz.[x]z ∗ (∀resz

′.((z′ = e) ∨ (([x]z′ ∗ >) → ⊥)) ∧ ([x]a−∗P ′
2
))

P ′
2

≡ ∃resz.[x+ 1]z ∗ (∀resz
′.((z′ = e) ∨ (([y + 1]z′ ∗ >) → ⊥))

∧([x + 1]a−∗P ′
3))

P ′
3 ≡ ∀y′.((no(y′) ∧ no(y′ + 1)) → (([y′]I ∗ [y′ + 1]I)−∗P ′

4{y′

/y}))
P ′

4
≡ ∃resz.[y]z ∗ (∀resz

′.((z′ = e) ∨ (([y]z′ ∗ >) → ⊥)) ∧ ([y]b−∗P ′
5
))

P ′
5

≡ ∃resz.[y + 1]z ∗ (∀resz
′.((z′ = e) ∨ (([y + 1]z′ ∗ >) → ⊥))

∧([y + 1]b−∗P ′
6))

P ′
6

≡ ∃resz.[x+ 1]z ∗ (∀resz
′.((z′ = e) ∨ (([x + 1]z′ ∗ >) → ⊥))

∧([x + 1](t− x)−∗P ′
7))

P ′
7

≡ ∃resz.[y + 1]z ∗ (∀resz
′.((z′ = e) ∨ (([y + 1]z′ ∗ >) → ⊥))

∧([y + 1](x− t)−∗ [[Pf ]]s))
[[Pf ]]s ≡ [x]a ∗ [x+ 1](t− x) ∗ [y]b ∗ [y + 1](x− t)
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{emp}
x := new();

{x 17→ � }
[x] := 7;

{x 17→ 7} ∴ {x 0.57→ 7 ∗ x 0.57→ 7}
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


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

{x 17→ 7}
y := [x] − 1;

{x 17→ 7 ∧ y = 6}

w

w

w

w

w

w

w

{x 17→ 7}
z := [x] + 1;

{x 17→ 7 ∧ z = 8}
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









{x 0.57→ 7 ∗ x 0.57→ 7 ∧ y = 6 ∧ z = 8} ∴ {x 17→ 7 ∧ y = 6 ∧ z = 8}
dispose(x)
{emp ∧ y = 6 ∧ z = 8}
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ztree z nil Empty =̂ emp

ztree z t (T ip α) =̂ t
z7→ (0, α, 0)

ztree z t (Node γ ρ) =̂ ∃l, r.t z7→ (1, l, r) ∗ ztree z l γ ∗ ztree z r ρ
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Dat

SVkÃ]	SVYMhT`[ZTS	l � uvYJSVhTa_l9ZTS	l�uvknknan`MxThTk_l V al � Kc»�j ZTm*\3jT`Mk9ZTg�j3]rYJSºUig�j3g��®ZTS W�uvankn`JSVY�WoSVanUiSVknk)uvj:kZTS�U�uvjT`MWThTYJSVay]	S	l�a_S	l_l)g�hTa_]	S	l�SVk�W4SVanUiSVknk)uvj�kEZTS�a_SVWTa_m	l_SVj�k_SVaEuvh UX`JSVh�R YJS	l�]	g�j:kna)uv`Mj:k_S	lfln|Hj:k)uCR�`Jt:h3S	l`MUXW4g�l)m	S	l�W�uva�hTj�ZTgH]VhTUiSVj:kcÄcb§d�K»�j�l)uv`Mk~t�h�p hTjij���h3Z � u�]	g�j:k_SVjT`Ma�l_g�`MkDhTj3S�ZTg�jTj3m	S � hTj3S�a_S	l_l_g�hTa_]	S�ZTS Dat �*¥ l_g�`Mk~hTjimVYJmVUiSVj�k � hTj3Sa_S	l_l_g�hTa_]	S�ZTS
Elem

� SVk�ZTS	l�]	g�hTWTYJS	lDZTS � uvYJSVhTa_l�SVk�Zqpwuvknknan`MxThTk_l � hTj3Sza_S	l_l_g�hTa_]	S�ZTS Attr ⇀fin V al
� KCÈ�uvaY<u�lnhT`Mk_S ¥ g�jQl_g�hT^�uv`Mk_S�Wog�h � g�`Ma~¹®u�]V`MYJSVUiSVj:kza)u
�.g�hTk_SVa�ZTS	lzuvknknan`MxThTk_l�Z3uvj3l~hTj�SVUXWTY<u�]	SVUiSVj�k�ZTg�jTj3m�K�È{g�hTa]	SVY<u ¥ g�j¢uvhTk_g�an`Jl_S�mVs:uvYJSVUiSVj�k�hTj§SVUXWTY<u�]	SVUiSVj�k��E]	g�j:k_SVjT`Ma�hTjT`Jt�h3SVUiSVj:k�hTj3S�a_S	l_l_g�hTa_]	S�uvWTW�uvank_SVj�uvj:kO�

Attr ⇀fin V al
KHe6p�SVj3l_SVUyxTYJS�ZTS	l�a_S	l_l)g�hTa_]	S	l

MXML
t�h3SOY®p�g�j¢hTkn`MYM`Jl_S�]	g�UXUiS�SVj3l_SVUyxTYJS�ZTSOx�u�l_SOWog�hTa]	g�j3lnknanhT`Ma_S�YJS�Uig�j3g��®ZTSEZTS�a_S	l_l_g�hTa_]	S	l�W�uvankn`JSVY{S	lnk�ZTg�j3]�YJS[lnhT` � uvj:kE¾

MXML = Elem ∪Attr ⇀fin V al ∪ (Elem×Attr ⇀fin V al) ∪Dat ∪ {e}
g�Ï

e
S	lnk~hTj§mVYJmVUiSVj:k�j3SVhTkna_Sct�h3S�Y®p�g�j¢u
�.g�hTk_SOuC\3j§Zqp�g�xTk_SVjT`Ma�hTj3Scl_knanh3]VknhTa_ScUig�j3g��®Z3uvYJS�KT»�jQZTm*\3jT`MkuvYJg�a_l�Y®p�g�WomVa)uvk_SVhTacW�uvankn`JSVY ZTS[]	g�UXWog�ln`Mkn`Jg�j9ZTS�a_S	l)l_g�hTa_]	S	l • ]	g�UXUiSyl_hT`Mk[¾

N
m • e = e •m = m

W4g�hTa�k_g�hTk_S[a_S	l_l_g�hTa_]	S
m ∈MXML �N��Hg�`Mk

m,m′ ∈ Dat
¥
[m •m′]↑ SVk m •m′ ∈ Dat �N��Hg�`Mk

v ∈ Elem
SVk
f ∈ Attr ⇀fin V al

¥
[v • f ]↑ SVk v • f = (v, f) �N��Hg�`Mk

f, f ′ ∈ Attr ⇀fin V al
¥
[f • f ′]↑ l_ln` dom(f) ∩ dom(f ′) = ∅ SVk f • f ′ = f ∪ f ′ K

È�uva�S*R�k_SVj3ln`Jg�j ¥ g�j¸uºmVs:uvYJSVUiSVj:kXWog�hTafk_g�hTk
v ∈ Elem

¥ SVk�Wog�hTaEk_g�hTk
f, f ′ ∈ Attr ⇀fin V al

¥
[(v, f) • f ′]↑ l_ln` [f • f ′]↑ SVkcZ3uvj3l�]	Sy]Fu�l (v, f) • f ′ = (v, f ∩ f ′) K

e�S	l�]_^3g�`½RÃt�hT`4g�j�k�mVk_m�¹®uv`Mk_l�W4g�hTa�Y<ufZTm*\3jT`Mkn`Jg�j�ZTScY<uf]	g�UXWog�ln`Mkn`Jg�j¢W4SVanUiSVknk_SVj�k�Zqp�SVUXW4¿	])^3SVact�h�p hTjuvknknan`MxThTkij3SÃl_g�`MkiZTm*\3jT`cZTSVh�R ¹�g�`JlXZ3uvj3lXhTj Ui¿VUiS¢j���h3Z � SVkiZTg�j3]ÃWog�hTaXhTj¸hTjT`Jt�h3S�mVYJmVUiSVj:k � K�»�jhTkn`MYM`Jl_S�uvYJg�a_l�Wog�hTaOj3g�l�uvanxTa_S	lOYJSEUig�j3g��®ZTS MXML = 〈MXML, e, •,v〉 g�Ï v S	lnkOa_m���S*R�` � S � m v m′ln`�SVk�l_SVhTYJSVUiSVj�k�ln`
m = m′

� SVk�k_g�k)uvYJSVUiSVj�kc`Mj3ZTm*\3jT`�uv`MYMYJSVhTa_l1K
»�jµhTkn`MYM`Jl_SXmVs:uvYJSVUiSVj�kEYJSX¹�uv`Mk[t�h3S�Y<uÃ]	g�UXWog�ln`Mkn`Jg�jÅZTS	lEuvanxTa_S	lyl_g�`Mk[W�uvankn`JSVYMYJSiWog�hTa�`MUXWog�l_SVayZTSVh�RlnWom	]V`½\�]V`Mk_m	lcuvh�RÃuvanxTa_S	l�t:h3S�Y®p�g�j9U�uvjT`MWThTYJS�¾
� TWQ[G1Q[X GLQ�� M cHQ[G+XPQ�GLVYX\I � ^�G3X �[Z[Q[GLGE^�F KEQ�� Q[X\I_RPFHG��JVeFNX\IEG��

LFÐ��



� 
�¯ �"����°n� 	���� ±F���*�J�,�f��� ¯�°F�*°_�,���V���&±�©3©o¦_�,���	�V�f�	�®�V��°,� �	���H°n¦)�,�
L�K�
{g�hTk_S	l{YJS	l{ZTg�jTj3m	S	l�WTa_m	l_SVj:k_S	l�Z3uvj3l{hTjEmVYJmVUiSVj:kDZTg�jTj3mzZTg�` � SVj:kD¿Vkna_S~a_SVs�a_g�hTWom	S	l�Z3uvj3l hTjEhTjT`Jt:h3SSVUXWTY<u�]	SVUiSVj�kFKoÈDYMh3l�¹�g�anUiSVYMYJSVUiSVj:k ¥ ln` Y®p�g�j�u

l 6= l′
SVkcln`

m,m′ ∈ Dat
¥
(e, l 7→ m)|(e, l′ 7→ m′)

j�p�S	lnkW�u�l�ZTm*\3jT`®KÌ�K{��j j3g�U Zqp�SVUXWTY<u�]	SVUiSVj�k�S	lnkfhTjT`Jt:h3S¢Z3uvj3l�Y®pwuvanxTa_S ¥ ]�p�S	lnkX�ºZ�`Ma_SQt�h�p hTjÆj3g�U Zqp�SVUXWTY<u�]	SVUiSVj�kj3S[W4SVhTk�ZTm	ln`Ms�j3SVa�t:h�p hTj9l)SVhTYqj���h3Z9Z3uvj3l�k_g�hTk�Y®pwuvanxTa_S�K�e�S�j3g�UÀZqp hTj9SVUXWTY<u�]	SVUiSVj�k�WoSVanUiSVkcZTg�j3][ZTSa_SVkna_g�h � SVa�l)uvj3lcuvUExT`Ms�h ��k_myYJSy]_^3SVUX`Mjrt:hT`�UiÂVj3SE�X]	SVk�SVUXWTY<u�]	SVUiSVj�kFKo��SVknk_Sya_S	lnknan`J]Vkn`Jg�j�lFp�S*R�WTan`MUiSySVj`Mj3Z�`Jt�h�uvj:k�t�h3S�Wog�hTa�ZTSVh�RQ]_^3SVUX`Mj3l
L
SVk
L′ k_SVYJl�t:h3S L 6= L′

¥
(e, (L : l) 7→ m)|(e, (L : l) 7→ m′)

j�p�S	lnkW�u�l�ZTm*\3jT`®K
��g�UXUiS�`Mj3Z�`Jt�h3m9WTa_m	]	m	ZTSVUXUiSVj�k ¥ YJS9l_SVhTYOm	]FuvankQt�h3S�Y®p�g�j l)S�WoSVanUiSVk � `JlQ� � `Jl�ZTS	l§]	g�j:kna)uv`Mj�k_S	ll_|�j�k)uCRH`Jt�h3S	l�ZTS	l§ZTg�]VhTUiSVj�k_l�Äcb§drS	lnk�ZqpwuvhTk_g�an`Jl)SVaQhTj j���h3Z � ]	g�j:k_SVjT`Ma§hTjT`Jt�h3SVUiSVj:k¢ZTS	l�]	g�hTWTYJS	luvknknan`MxThTk
� � uvYJSVhTaFK e{u¢]	g�UXW4g�ln`Mkn`Jg�jµZqp hTj k_SVYDj���h3Zµu � S	]�hTj j���h3Z ]	g�j:k_SVj�uvj�kyhTjµmVYJmVUiSVj:kyW4SVanUiSVknkna)uZTSQa)u
�ng�hTk_SVaE¹®u�]V`MYJSVUiSVj:kXZ�hÆ]	g�j:k_SVj�hÆZ3uvj3lfhTj¸uvanxTa_SQZTg�jTj3m ¥ ]	SQt:hT`�S	lnkykna_Â	lfhTkn`MYJS§Z3uvj3lfYJSQ]	g�j�k_S*RHk_SZTSzY<u�U�uvjT`MWThTY<uvkn`Jg�jXZTS�ZTg�jTj3m	S	l�l_SVUX`½¼�lnknanh3]VknhTa_m	S	l ¥ ]	g�UXUiS6j3g�h3l{YJS � SVana_g�j3l WTYMh3l�YJg�`MjEZ3uvj3l�]	Sz]_^�uvWT`Mkna_S�K
»�jÉj3g�k_S¢uvYJg�a_l

TXML
YJS�Uig�j3g��®ZTS§W�uvankn`JSVY�g�Ï YJS	lfuvanxTa_S	l�l_g�j�kf]	g�j3lnknanhT`Mk_lX�9W�uvankn`MaXZ�hÉUig�j3g��®ZTS

MXML
SVkfg�Ï Y<u�]	g�UXW4g�ln`Mkn`Jg�j a_S	lnWoS	]Vk_S�YJS	lfZTSVh�RÉ]	g�j�kna)uv`Mj:k_S	li]V`½¼�ZTS	l_l_h3lFK���`Mj3ln` ¥ YJSQZTgH]VhTUiSVj:k�Äcb§dWTa_m	l)SVj:k_myZ3uvj3l�Y<uf\3s�hTa_Sy��KML[]	g�ana_S	lnWog�j3Z9�fY®pwuvanxTa_S[]	g�ana_S	l_W4g�j3Z3uvj�k�ZTg�jTj3mySVj¢\3s�hTa_SE��KwÌ�K

< ����������������� ��!����	��" 
���� >
< 
 �������������#�%$�&���������� �!�'�($)&*" +-,.+"� >
< #�$&% >
< ')(*$�(,+/� +H�10 �.-�0>
< '*/10324+ > 56� < 7	'*/10�2"+ >
< '*8"$&#9+ > 52���3$�+4$ < 7	'*8"$:#�+ >
< /1$&%4;<(,$&=5�6+��.���>�10 7)?40:7 >

< @&',(,$&(,+ >
< /1;<(BA8�6+��10 7,?40>
< /1/C0324+ > �D��5 < 7	/1/C0324+ >
< /184$&#�+ > �9$)���:��!E���;,=< < 7F/184$&#�+ >
< ',(,$�(*+HG�0HI>�6+��.���>�10 �B-40&7 >

< @&/C;J(.A >
< @:#�$�% >

;

mapl1

state
id 7→ s2

l2

scode

l3

NE

l4

sname

l5

Nevada

l6

capital

idref 7→ c3

l7

city

id 7→ c3

l8

ccode

l9

CCN

l10

cname

l11

Carson City

l12

state of

idref 7→ s2

?A@	BAC���KwÌENQÁ�gH]VhTUiSVj:k�ÄcbQdfSVk�uvanxTa_S[ZTS�a_S	l)l_g�hTa_]	S[]	g�ana_S	lnWog�j3Z3uvj:k
»�jÉWoSVhTkXmVs:uvYJSVUiSVj:kilnWom	]V`½\�SVa�hTj¸l_g�h3l�SVj3l_SVUyxTYJS¢ZqpwuvanxTa_S	lXk_SVY�t:h3S§k_g�hTkiuvanxTa_S§YMhT`�uvWTW�uvank_SVj�uvj�k]	g�ana_S	l_W4g�j3Z9��uvhÃUig�`Mj3l'D�hTj9ZTgH]VhTUiSVj:kcÄcb§d�K

E6��´É´µ�GFIH	JKH���jruvanxTa_SfW�uvankn`JSVY~ZTSEa_S	l_l_g�hTa_]	S	l�ZTS
TXML

]	g�ana_S	lnWog�j3Z �QhTjºZTgH]VhTUiSVj:k�Äcb§d�l_`{k_g�h3ll)S	l�SVUXWTY<u�]	SVUiSVj:k_l�]	g�j:kn`JSVjTj3SVj�k�uvhÃUig�`Mj3lchTj9mVYJmVUiSVj:kOg�h�ZTS	l�ZTg�jTj3m	S	lFK
LNM)O�P>QRORS�e�S�a_m	l_hTYMk)uvkcS	lnk�`MUXUim	Z�`<uvk�SVk�ZTm	]	g�hTYJSEZTS�Y<uX]	g�j3lnknanh3]Vkn`Jg�j�Ui¿VUiSyZTS

TXML
K

TVU�WIUYX Z\[�]_^a`cb�`5d:ef[�g2eh`*i�jlknmpoq`IrVs�b4jKetb4j*^ab4ulefjlg�s�`cs�d�[�g2e
e~p hTkn`MYM`Jl)uvkn`Jg�jÅZTSfUigHZTÂVYJS	l�YJg�s�`Jt�h3S	l�W4g�hTa�a_SVWTa_m	l_SVj�k_SVayYJS	l�ZTg�jTj3m	S	l[l_SVUX`½¼�l_knanh3]VknhTa_m	S	l[t:hT`DS	lnk�WTa_gv¼Wog�l_m	Sc`J]V`�WTa_m	l_SVj�k_S�ZTS	l�ln`MUX`MYM`Mknh3ZTS	l�u � S	]�Y<u[ZTmVU�uva_])^3S�WTa_g�Wog�l_m	ScW�uva���uvYJ]Fuvs�j3g�SVk�uvY®K"ËwÌvÍ�Î ¥ ]	S	lzkna)u � uvh�R

v�w9xAy{z.y{|I}�~=��~=|���|����l���
~�~=|������
x-�)~=|9�V�f��������|.��~=�K���3����y{|�x3�=�l���f���=�3�f|>��� �
~���~=|���|.�K������y{|.x)�=�l��}
xf�l��|9���3���fy{|.x)�lx�� |.���
�-}
�>��~=���>|�x�����y{���=|��

LFÐ��



�����R��� ©o�[�M±�����¨V�3����� ¯v�)�F�*°*����±�©T� ��±���°[�J�,�E¯�°F�*°_�,�cÄcb§d
mVk)uvj:k�SVh�R9Ui¿VUiSEhTj3SES*R�k_SVj3ln`Jg�jrZTSE]	SVh�R9WTa_g�Wog�l_m	l�`MjT`Mkn`<uvYJSVUiSVj:k[lnhTaOYJS	l�uvanxTa_S	l�u � S	]fW4g�`Mj�k_SVhTa_lfËwÌ�Ñ�Î�K�cj3S�Z�`½ÊqmVa_SVj3]	S�U�u
�.SVhTa_S�SVj�kna_S�Y<uEa_SVWTa_m	l_SVj:k)uvkn`Jg�jºt:hT`qS	lnk�ZTm*\3jT`JS�Z3uvj3l�]	SVknk_S�kn^3Â	l_S�SVk�]	S	l�kna)u � uvh�R¢S	l_kt:h3S�YJS	lXuvanxTa_S	lfZTSQa_S	l_l_g�hTa_]	S	lfWoSVanUiSVknk_SVj:kiZTSQa_SVWTa_m	l_SVj:k_SVa�k_g�hTk_S	l�YJS	lE`Mj�¹�g�anU�uvkn`Jg�j3lX]	g�j�k_SVj:h3S	liZ3uvj3lhTj�ZTgH]VhTUiSVj:k�Äcb§d ¥ uvYJg�a_l�t:h3SyYJS	l�uvanxTa_S	lOZTSQËwÌ�� ¥ ÌvÍ&Î�l_Syx4g�anj3SVj�k���Y<uXa_SVWTa_m	l)SVj:k)uvkn`Jg�jµZTS	l�mVYJmVUiSVj:k_l ¥SVk�ZTSXZTSVh�R�k�|HWoS	l�Zqpwuvknknan`MxThTk_l[W�uvankn`J]VhTYM`JSVa_l�¾4YJS	l�`JZTSVj�kn`½\"uvj:k_lfSVk�YJS	l�W4g�`Mj�k_SVhTa_l���K ��SVknk_SXZ�`½ÊomVa_SVj3]	SXS	l_k]Vanh3]V`<uvYJS�Z3uvj3lyYJSi]Fu�Z�a_S�ZTSXY<uÃUig�Z�`½\�]Fuvkn`Jg�j ZTSiZTg�]VhTUiSVj�k_lyÄcb§d¢t�hT`~j3g�h3l[`Mj�k_mVa_S	l_l_Si`J]V` ¥ WThT`Jl_t:h�p�SVYMYJSW4SVanUiSVkchTj3S�U�uvjT`MWThTY<uvkn`Jg�j�WTYMh3l�\3j3SyZTS	l�ZTg�jTj3m	S	lFK

��j3S�uvhTkna_S�Z�`½ÊqmVa_SVj3]	S�ZTm �n�EUiSVj�kn`Jg�jTj3m	S[]	g�j3]	SVanj3S�Y<uEa_SVWTa_m	l_SVj:k)uvkn`Jg�j9ZTS	l�`JZTSVj�kn`½\"uvj:k_l�Z3uvj3l�YJS	l�ZTgv¼]VhTUiSVj:k_l{Äcb§dHK1Á�uvj3l YJS~UigHZTÂVYJSDWTa_m	l_SVj�k_mzZ3uvj3l�]	SVknk_S~kn^3Â	l_S ¥ Y®p�S*RH`Jlnk_SVj3]	SzZqp `JZTSVj:kn`½\"uvj�k_lDSVk Y<u � mVan`½\�]Fuvkn`Jg�jZTS�YJSVhTa�hTjT`J]V`Mk_m�Z3uvj3l�hTj�ZTgH]VhTUiSVj:kcZTg�jTj3m[S	l_kz¹®uv`Mk_S[uvhÃjT` � SFuvh�YJg�s�`Jt�h3S�KTÁ�uvj3l�YJS	l�kna)u � uvh�R�ZTSXËwÌvÍ�Î ¥ Y<uWTa_m	l_SVj3]	S[Zqp `JZTSVj�kn`½\"uvj:k_lOhTjT`Jt:h3S	lcZ3uvj3lc]_^�u�t�h3S�j���h3Z�S	l_k�hTj3S[]	g�j:kna)uv`Mj�k_SEln|Hj:k)uCR�`Jt�h3S�KTe u�s&S	lnkn`Jg�j9ZTS	l`JZTSVj:kn`½\"uvj�k_l�uvhÃjT` � SFuvhÃYJg�s�`Jt�h3S�t:h3SOY®p�g�j9uf]_^3g�`Jln` WTa_m	l_SVj:k_S�hTj3S�WTYMh3l�s�a)uvj3ZTS[l)g�hTWTYJS	l_l_SOWThT`Jl_t�h�p�SVYMYJS�j3Sj3m	]	S	l_ln`Mk_S�W�u�l�t:h3S[k_g�h3l�YJS	l�mVYJmVUiSVj�k_l�WTa_m	l)SVj:k_lcZ3uvj3lchTj9ZTgH]VhTUiSVj:kOÄcbQdXuv`JSVj�kchTj�`JZTSVj�kn`½\"uvj:k ¥ ]	S[t�hT`]	g�ana_S	lnWog�j3Z9�fY<u�lnWom	]V`½\�]Fuvkn`Jg�j�lnk)uvj3Z3uva_Z�ZTS	lcZTg�]VhTUiSVj�k_lcÄcb§d�K

	�

� ����������������������� ��!"!#�%$"&"�����'!)(*���+$,���-!.�/$10�$2�-!.3�465

»�j¢l_g�hT^�uv`Mk_SOu�Z3uvWTk_SVa�YJS�Uig�ZTÂVYJSOZqpwuvanxTa_SOW�uvankn`JSVY"Wog�hTa�W4g�h � g�`Ma�j3g�k)uvUXUiSVj:k�WTa_g�Wog�l_SVa�ZTS	l�t�h�uvj:kn`½¼\�]Fuvk_SVhTa_l�lnhTa�YJS	l�Z�`½ÊqmVa_SVj:k_l�ZTg�U�uv`Mj3S	lcl_mVU�uvj:kn`Jt�h3S	lFK3È�g�hTac]	SVY<u ¥ g�j�]	g�j3lnknanhT`Mk�hTjÃUigHZTÂVYJS�U�uvjT`MWThTY<uvj:kZTS	l�]	g�hTWTYJS	l�]	g�j3lnkn`Mknh3m	l�Zqp hTj3S�WT`MYJS�ZTS � uvan`<uvxTYJS	l�SVk�Zqp hTj�uvanxTa_S�ZTS TXML
K��Hg�`Mk�hTjÃSVj3l_SVUyxTYJSyZTS�j3g�UilZTS � uvan`<uvxTYJS	l V ar ¥ hTj3S[WT`MYJS[S	lnkcuvYJg�a_l�hTj9mVYJmVUiSVj�k�ZTS V ar ⇀fin (MXML ∪ TXML)

K
»�j mVk_SVj3Z uvYJg�a_lQY<uµYJg�s�`Jt�h3S87-9 :)d<;>=�WTa_m	l)SVj:k_m	S uvh ])^�uvWT`Mkna_SrÌ u � S	]ºZTS	l¢t:h�uvj�kn`½\�]Fuvk_SVhTa_lÃlnhTa�YJS	lZ�`½ÊomVa_SVj�k_l¢Uig�ZTÂVYJS	lÃl)mVU�uvj:kn`Jt�h3S	lFK�e u ln|Hj:k)uCRTSºZTS�Y<uÉYJg�s�`Jt:h3SºWog�hTa¢YJS	lÃZTg�jTj3m	S	l¢ÄcbQdÉS	lnkÃuvYJg�a_l¢Y<ulnhT` � uvj:k_Si¾

?A@CB ³{  �  >£"³ F5H�J8D E £#E" GFIH �9ª £1H ·Q« ��� ¤�£"³�³ @��:�KJMLON"P)H

P ::= [l]P
�i±F�&¯�� ����¦y��� �*� �"�M¯��)�V�i�V©��

P−∗P | P ∗ P | I ± �T¦V°.¯����V��°,���V�z��©��>��¦[�����½��� �4� � �_¯���� Q)� �
P → P | P ∧ P | P ∨ P | > | ⊥ ± �T¦*°n¯����*�H°)���	�6�H©3����¦,�y¯&�&������� Q,� �
∃resx.P | ∀resx.P

¨V��¯�©���� � �_¯����*�H°)�y�,�H°��M�,�[°_�,�,�V±��H° �,�,� �
∃locx.P | ∀locx.P

¨V��¯�©���� � �_¯����*�H°)�y�,�H°��M�,�f�V���4�½¯��,�*���*©��>� �
∃pathx.P | ∀pathx.P

¨V��¯�©���� � �_¯����*�H°)�y�,�H°��M�,� � 
��*��� ©3� �
∃treex.P | ∀treex.P

¨V��¯�©���� � �_¯����*�H°)�y�,�H°��M�,�E¯�°	�*°_�,� �
E

�SR �"°_�,�,�,��±�©T� �
g�Ï hTj3S�S*RHWTa_S	l_l_`Jg�j

E
S	lnkQl_g�`MkihTj uvanxTa_S�ZTSÃa_S	l_l_g�hTa_]	S	l � W4g�h � uvj:k§¿Vkna_S9]	g�UXWog�l_m�ZTS � uvan`<uvxTYJS	l �l_g�`MkyhTj3SQWTa_g�Wog�ln`Mkn`Jg�j�K�»�j hTkn`MYM`Jl_S§ZTg�j3]�hTj3S�¹�g�j3]Vkn`Jg�j Zqp `Mj�k_SVanWTa_mVk)uvkn`Jg�j

[[ · ]]s
t�hT`�u�l_l_gH]V`JSQ��])^�u�t:h3SS*RHWTa_S	l)ln`Jg�j

E
¥ t�hT`qj�p�S	lnk�W�u�lchTj3S�WTa_g�Wog�ln`Mkn`Jg�j ¥ Y®pwuvanxTa_SEZTS�a_S	l_l_g�hTa_]	S	l�]	g�ana_S	lnW4g�j3Z3uvj�kFKo��SVknk_S�¹�g�j3]Vkn`Jg�jlFp�mVk_SVj3Z�j�uvknhTa_SVYMYJSVUiSVj�k[��W�uvankn`Ma�ZTSyY<uiZTm*\3jT`Mkn`Jg�jrZTS�Y<uXWT`MYJS

s
K3e u�l_mVU�uvj:kn`Jt�h3SyZTS	lc¹�g�anUyhTYJS	l�YJg�s�`Jt:h3S	lS	lnk~ZTg�jTj3m	S�W�uva~YJS�UigHZTÂVYJS�t�hT`3S	lnkDhTj3S�S*R�k_SVj3ln`Jg�j�Z�hXUigHZTÂVYJS�ZqpwuvanxTa_S	l~W�uvankn`JSVY�s&mVj3mVa)uvY"t�hT`3S	lnkDWTa_g�W4g�l)muvh�]_^�uvWT`Mkna_SfÌÃ¾

?A@CB ³{  �  >£"³ F5HUTVDXW £q¤ZY «>� ¤\[ �T·<]{·v�:�yª{�T·C�   ��«�ª £1H · ¤{£4³{³ @:���MJMLON#P)H � ©XUig�ZTÂVYJS�ZqpwuvanxTa_S	lzW�uvankn`JSVYW4g�hTafZTg�jTj3m	S	lfÄcbQdÆ�,�*�O�J�Q�i±�©"±_^��:�¢��� ¯�°F�*°n�*�§�:�Ã�&±�©3©4¦_�,�EÄcbQd
(TXML, (e, nil), |,vT )M,Loc

�f�H©3���� ��©4�[°_�*�½¯&����±�©µ�:�\Q	±�°��V� ©>� |=P⊆MXML × Σ
�	¯����<�GQV¯��<�	¯�©��D�M¯ �_±�©"��������±�©9�*���G`C¯�©"���'a

bScc|�����|��ed �gf���|��>��� }�����~=�������=�I����x3�����:��}
�������.�9��}
xf�>��} ��|��:�=���
xMh)� i)�

LFÐkj



� 
�¯ �"����°n� ����� ±F���*�J�,�f��� ¯�°F�*°_�,���V���&±�©3©o¦_�,���	�V�f�	�®�V��°,� �	���H°n¦)�,�

∀E �*�
[[E ]]s

�,�V�6�H©4� �"°.± ��±v�,������±�© ∀t, t′ ∈ TXML.(t |=T p
�V�
t′ vT t⇒ t′ |=T [[E ]]s)�V��,�

[[E ]]s
�*�*�z��© ¯�°F�*°n�

s, t |=P E
�,�
t = [[E ]]s

�V�D�*� ¦	���*©"�&¯�©"��¯��kR QV±�°,���H�M�,�E�����M¯Q�½±�����¨V�3� �_±������y�,�H��� a
� s, t |=T P ∗Q ����� ∃t′, t′′.[t× t′]↑ � t vT t′|t′′ � s, t′ |=T P ��� s, t′′ |=T Q 	
� s, t |=T I ����� t vT (e, nil) 	
� s, t |=T P −∗Q ���
� ∀t′ ∈M � s, t′ |=T P ��� [t× t′]↑⇒ s, t|t′ |=T Q 	
� s, t |=T P ∧Q ���
� s, t |=T P ��� s, t |=T Q 	
� s, t |=T > ��
��
��
���� � 	
� s, t |=T P ∨Q ���
� s, t |=T P 
�� s, t |=T Q 	
� s, t |=T ⊥ ������� ��� 	� s, t |=T P → Q ���
� ∀t′.t′ vT t ��� s, t′ |=T P ⇒ s, t |=T Q 	
� s, t |=T [l]P ����� t v (m, l 7→ t′) ������� s, t′ |=T P 	
� s, t |=T ∃locx.P

���
����� ��� ��� ��� l ∈ Loc ��� � � �!� s, t |=T P{l/x} 	� s, t |=T ∀locx.P
���
�#" 
����$�%
���� l ∈ Loc �&
�'(� � � s, t |=T P{l/x} 	� s, t |=T ∃pathX.P
�����)��� �*� ��� ��� L ∈ Loc∗ �%� � � �!� s, t |=T P{L/X} 	

� s, t |=T ∀pathX.P
�����+" 
����,��
���� L ∈ Loc∗ �&
�'-� � � s, t |=T P{L/X} 	

� s, t |= ∀resx.P
���
�#" 
����$��
���� m ∈MXML � [s|x 7→ m], t |= P 	

� s, t |= ∃resx.P
���
����� ��� ��� �%� m ∈MXML � [s|x 7→ m], t |= P 	

� s, t |= ∀treex.P
���
�#" 
����$��
���� t′ ∈ TXML � [s|x 7→ t′], t |= P 	

� s, t |= ∃treex.P
���
����� �*� ��� �%� t′ ∈ TXML � [s|x 7→ t′], t |= P .

TVU0/ U�W 132Vjl]_^54=jnm j ef^{ulk�d�6AkR`cs�d�[�g2e
� � uvj:k�ZTS�]	g�j:kn`Mj�h3SVa ¥ g�jºZTmVk)uv`MYMYJSXt�h3SVYJt�h3S	lc¹�g�anUyhTYJS	l ¥ hTkn`MYM`Jl)m	S	lOZ3uvj3l�Y<uQlnhT`Mk_S�ZTSf]	Sf])^�uvWT`Mkna_S ¥ t:hT`]	g�ana_S	l_W4g�j3ZTSVj�k���ZTS	l�l_W4m	]V`½\�]Fuvkn`Jg�j3lFK

798 ³ ��ª��T·1�   � ¤ �º« [ �T·<]{·v�;:1@:·   B�� H�³ �=< £ ·v´ H « �È{g�hTayu�l)lnhTa_SVa�t:h�p hTj3SfW�uvankn`JSXZqp hTjµuvanxTa_SXln`Mknh3m	SXuvhrx4g�hTk�Zqp hTj ]_^3SVUX`Mj
L � mVan`½\�S�hTj3SE¹�g�anUyhTYJS P ¥g�j�ZTm*\3jT`Mk�Y<uf¹�g�anUyhTYJS[lnhT` � uvj:k_S�¾

contains(L,P ) = > ∗ [L]P

t�hT`6`Mj3Z�`Jt�h3Sit�h�p�g�jÅWoSVhTkyZTm	]	g�UXWog�l_SVayY®pwuvanxTa_SQSVjÉZTSVh�R W�uvankn`JS	lQ¾�hTjÅl_g�h3l.¼}uvanxTa_SQln`Mknh3m�uvhÅxog�hTkyZqp hTj])^3SVUX`Mj
L
t�hT` � mVan`½\�S[Y<uE¹�g�anUyhTYJS P SVk�YJS�a_S	lnk_S�ZTS[Y®pwuvanxTa_S�K

79>@?   �	�F� ³{� � ¤\[ H�³ �BA �H´  �³ ¤ � ³ � H{³ �T· ]�·C�
È{g�hTaXlFpwu�l)lnhTa_SVaft�h3SQYJS§])^3SVUX`Mj

L
S	lnkfZTm*\3jT`�Z3uvj3lfhTj uvanxTa_S ¥ `MY�lnh �ikXZTS§lFpwu�l_lnhTa_SVa�t�h�p `MYz|Éu�hTjl)g�h3l.¼}uvanxTa_S � mVan`½\"uvj:k > uvh�xog�hTk�Z�h9]_^3SVUX`Mj

L
¥ ]	S�t�hT` lFp�S*R�WTan`MUiS�W�uva�Y<uf¹�g�anUyhTYJS[lnhT` � uvj:k_S�¾

exists(L) = contains(L,>)

7 ² £"³ � ?   �	�F� ³{� � ¤\[ H�³ �BA �H´  �³È{g�hTaOUig�j:kna_SVa[t�h�p hTjºuvanxTa_Sfj3SE]	g�j:kn`JSVj:k�W�u�l�YJSf]_^3SVUX`Mj
L
¥ `MY�lFpwuvs�`Mk�ln`MUXWTYJSVUiSVj:k�Zqp `Mj3Z�`Jt�h3SVa�t:h�p `MYS	l_k�`MUXW4g�l)ln`MxTYJS�W4g�hTa�YMhT`{ZTS � mVan`½\�SVact�h�p `MY�S*RH`Jlnk_S ¥ ¥ ]	S�t:hT` ]	g�ana_S	l_W4g�j3Z9�fY<uE¹�g�anUyhTYJSQ¾

no(L) = exists(L) → ⊥

L�LFÐ



�����R��� ©o�[�M±�����¨V�3����� ¯v�)�F�*°*����±�©T� ��±���°[�J�,�E¯�°F�*°_�,�cÄcb§d
T U0/ U / � ^{ulk�d�6 j*b 4�oq`��f[�rVs#mpo d:g���[>b�]_`cs4d=[�gae

e�S�xThTk~ZTS�]	S�]_^�uvWT`Mkna_S�mVk)uvj�k~ZTSzUiSVknkna_S�SVjXWTY<u�]	S�hTjXY<uvjTs:uvs&S�Zqpwu�l_l)SVankn`Jg�j3l�W4g�hTa�Y<u�Uig�Z�`½\�]Fuvkn`Jg�jQZTSZTg�jTj3m	S	l�ÄcbQd ¥ `MY4S	lnk6hTkn`MYJSOZTS�Wog�h � g�`Ma�lnW4m	]V`½\�SVa�t�h�p hTj3S�WTa_g�WTan`JmVk_m�l_SVa)u � mVan`½\�m	SOln`4g�j¢u
�ng�hTk_Sc]	SVank)uv`Mj3S	l`Mj�¹�g�anU�uvkn`Jg�j3lO�fhTj9]	g�j:k_S*R�k_S[`MjT`Mkn`<uvY®K
e~p hTj3S�ZTS	lDlnWom	]V`½\�]V`Mk_m	lDZTS��	�®¼�e g�]�W�uvaDa)uvWTWog�ankDuvh�RiuvhTkna_S	l�YJg�s�`Jt�h3S	l~ZqpwuvanxTa_S	lDS	lnkDt:h3S�Y<uOl_mVW�uva)uvkn`Jg�jj�pwuXW�u�l�YM`JSVhruvh�jT` � SFuvh ZTS	lcj3gHSVh3ZTlcU�uv`Jl�uvhºjT` � SFuvhºZTS	l�a_S	l_l_g�hTa_]	S	lOZTS	lOuvanxTa_S	l1K�
Oa
��]	S��i]	SVY<u ¥ `MY{S	l_kkna_Â	l�ln`MUXWTYJS�Zqp `Mj3Z�`Jt:h3SVa[t�h3SfY®p�g�jÅu
�.g�hTk_S�ZTS�Y®p `Mj�¹�g�anU�uvkn`Jg�jÅ�§hTj SVUXWTY<u�]	SVUiSVj:kEZTg�jTj3m�KI��`Mj3ln` ¥ Y®pwu
�ng�hTkZqp `Mj�¹�g�anU�uvkn`Jg�j3l � mVan`½\"uvj:k P � Y®p�SVUXWTY<u�]	SVUiSVj:k

L
W4g�hTaÃWTa_g�h � SVa�Y<u WTa_g�WTan`JmVk_m

Q
lFp�S*R�WTan`MUiSrW�uva�Y<u¹�g�anUEhTYJSi¾

[L]P−∗Q
��SVknk_S~¹�g�anUyhTYJS�j3S � mVan`½\�S�W�u�l�Z�hfk_g�hTk�ln`�Y®p�SVUXWTY<u�]	SVUiSVj�k L S*RH`Jlnk_S�g�hfj3g�j�u � uvj�k�Y®pwu
�ng�hTkFK���YHS	lnk�k_g�hTk_S*¹�g�`Jl¹�u�]V`MYJSXZTS�a)u
�ng�hTk_SVay]	S�k_S	lnkFK ��`DY®p�g�j � SVhTkElFpwu�l_lnhTa_SVa�t�h3S�Y®p�SVUXWTY<u�]	SVUiSVj:k L S*RH`Jlnk_S�Wog�hTa�| u
�.g�hTk_SVa[ZTS	l`Mj�¹�g�anU�uvkn`Jg�j3l ¥ g�j9]	g�j3ln`JZTÂVa_S�Y<uE¹�g�anUyhTYJSQ¾

exists(L) ∧ ([L]P−∗Q)

e~p hTkn`MYM`Jl)uvkn`Jg�jºZTS ∧ W4SVanUiSVk�Zqpwu�l)lnhTa_SVa��fY<uE¹�g�`Jl�t:h3S�Y®pwu
�ng�hTk�uvxog�hTkn`Ma)ui� � mVan`½\�SVa Q SVk�t:h3S
L
S*R�`Jlnk_S`MjT`Mkn`<uvYJSVUiSVj:kFK�Á�SÃU�uvjT`JÂVa_S�uvj�uvYJg�s�h3S ¥ ln`�Y®p�g�j l)g�hT^�uv`Mk_S�t:h3S�Y®p�SVUXWTY<u�]	SVUiSVj:k¢j�p�S*RH`Jl_k_SÃW�u�lQu � uvj�kQZqp |u
�.g�hTk_SVa�ZTS	l�`Mj�¹�g�anU�uvkn`Jg�j3l ¥ g�j9]	g�j3ln`JZTÂVa_S�Y<uE¹�g�anUyhTYJSQ¾

no(L) ∧ ([L]P−∗Q)

T U0/ U	X � d:efj�����[�r b mpo rag `5b��2b4j
e uµUX`Jl_S9� �ng�hTaQZqp hTj uvanxTa_S9]	g�j3ln`Jlnk_S�� a_SVUXWTY<u�]	SVa§k_g�hTkQg�h W�uvankn`OZ�h ]	g�j:k_SVj�h Zqp hTj j���h3ZqKze SWTa_g�xTYJÂVUiS�WTan`Mj3]V`MW�uvY�a_SVj3]	g�j:kna_m�^�uvxT`Mknh3SVYMYJSVUiSVj:kÃZ3uvj3liYJS	lXYJg�s�`Jt�h3S	l�ZqpwuvanxTa_S	lQWog�hTa�lnWom	]V`½\�SVa�]	SÃk�|HWoSZqp�g�W4mVa)uvkn`Jg�j S	lnkEZTS�ZTm*\3jT`MaEWTa_m	]V`Jl_mVUiSVj�kEYJS�j���h3ZÉ�¢UigHZ�`½\�SVaQËwÌvÍ&Î ¥ WTa_g�xTYJÂVUiSQt�h3SiY®p�g�jÅa_m	l_g�hTkEZTS�Y<u¹�u��	g�j�l_hT` � uvj�k_S�K
��hTWTWog�l_g�j3l6t�h�p�SVj�a_SVUXWTY<u��Fuvj�kzhTj�l)g�h3l.¼}uvanxTa_S � mVan`½\"uvj�k P W�uvazhTj�l_g�h3l.¼}uvanxTa_S � mVan`½\"uvj:k P ′ Z3uvj3lzhTj]_^3SVUX`Mj

L
¥ g�j§g�xTkn`JSVj:k�Y<u�WTa_g�WTan`JmVk_m

Q
K���Sc]	g�UXWog�ank_SVUiSVj:k�l_S�kna)u�Z�hT`Mk�Z3uvj3lzY<u�YJg�s�`Jt�h3SclnhTazYJS	l6ZTg�jTj3m	S	lÄcb§dEZTS�Y<uE¹®u��	g�j9lnhT` � uvj:k_S�¾

[L]P ∗ ([L]P ′−∗Q)

��`oY®p�g�jÃl_g�hT^�uv`Mk_S�t:h3SOk_g�hTk�hTjÃl_g�h3l.¼}uvanxTa_S�l_g�`Mk�a_SVUXWTY<u�]	m ¥ ]Fuva�g�j¢ZTg�`Mk�lFpwu�l)lnhTa_SVa�t:h3S�Y®p�g�j¢UiSVk�xT`JSVjZTS�]���k_m�k_g�hTkzYJS�l_g�h3l.¼}uvanxTa_S�]	g�j3]	SVanj3mOu � uvj�k�ZTS�¹�uv`Ma_ScY<u�UX`Jl_Sc� �.g�hTa ¥ ]	S�t:hT`"l_S�kna)u�Z�hT`Mk6W�uvazY<u�¹�g�anUyhTYJSE¾
[L]> ∗ (([L]P ′−∗Q) ∧ no(L))

��SVknk_S�¹�g�anUyhTYJS�WoSVhTk6l_S�YM`Ma_S�]	g�UXUiSclnhT`MkO¾&g�j�WoSVhTkzZTm	]	g�UXWog�l_SVazY®pwuvanxTa_S�SVj�ZTSVh�RiW�uvankn`JS	l ¥ hTj3S � mVan`½¼\"uvj:k
[l]> SVk~YJS�a_S	lnk_S�ZTS�Y®pwuvanxTa_S�K ��`�g�j�u
�ng�hTk_Sc��]	S�a_S	lnk_S�hTjQuvanxTa_S � mVan`½\"uvj:k [L]P ′

¥ uvYJg�a_l6g�jig�xTkn`JSVj�k
Q
K

��S�WTa_g�xTYJÂVUiS�ZTScUX`Jl_S�� �.g�hTa�ZTS�Y®pwuvanxTa_S�`MYMYMh3lnkna_S�hTjQZTS	lzs�a_g�l�u � uvj�k)uvs&S	l�ZTS�Y<u�s&S	l_kn`Jg�jQW�uvankn`J]VhTYM`JÂVa_SZTS�Y<u¢]	g�UXW4g�l_`Mkn`Jg�jÅZ3uvj3l�YJS	lyuvanxTa_S	l[ZTS�a_S	l)l_g�hTa_]	S	lFK�PDjµS*ÊqSVk ¥ Z3uvj3l[YJS	l�UigHZTÂVYJS	l[ZqpwuvanxTa_S	l[¹�g�j3ZTm	l[l_hTaYJS	l�uvUExT`JSVj:k_l�ËwÌ�� ¥ ÌkjCÎ ¥ Y<uy]	g�UXW4g�l_`Mkn`Jg�j¢ZqpwuvanxTa_S	l�j3S�W4SVanUiSVk�W�u�l�ZTS�UigHZ�`½\�SVa�hTjQj���h3Z¢S*RH`Jlnk)uvj�kFK��Op�S	l_kZqpwuv`MYMYJSVhTa_l�]	S¢WTa_g�xTYJÂVUiS�t�hT`cuºUiSVj3m��ºY<uºWTa_g�Wog�ln`Mkn`Jg�j ZTS9��uvYJ]Fuvs�j3gÅSVk�uvY®KDl_hTaXY<uºYJg�s�`Jt:h3SÃZqpwuvanxTa_S	lu � S	]�]	g�j:k_S*R�k_S	lºËwÌvÍ�Î ¥ YJS�xThTk§mVk)uvj:k¢ZTS�WoSVanUiSVknkna_S�Y®pwu
�ng�hTkQZqp `Mj�¹�g�anU�uvkn`Jg�j3l§Z3uvj3l§ZTS	lQj���h3ZTlQSVkQj3g�jhTjT`Jt:h3SVUiSVj�kO�fY<u�a)u�]V`Mj3SyZTS�Y®pwuvanxTa_S�K
L�L�L
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�¯ �"����°n� ����� ±F���*�J�,�f��� ¯�°F�*°_�,���V���&±�©3©o¦_�,���	�V�f�	�®�V��°,� �	���H°n¦)�,�
	 
�� �����'�'�X&"����� ������������� ��� �'� �'��� �
	 �-� &

»�jµu � hrWTa_m	]	m	ZTSVUXUiSVj:kft:h3S ¥ Z3uvj3l�hTj ZTg�]VhTUiSVj�k[Äcb§d ¥ Y®p�SVj3])^�u
	Jj3SVUiSVj:kyYJg�s�`Jt�h3SXZTS	l�Z�`½ÊqmVa_SVj:k_lmVYJmVUiSVj�k_liS	lnkf\TRTmQW�uva�hTj3S¢ZTm*\3jT`Mkn`Jg�j¸k�|HWoS§Z�h¸ZTgH]VhTUiSVj:k �.�DÇ��6� K��Og�kna_S§xThTkXS	lnkfZqp�S*R�WTan`MUiSVail_g�h3l¹�g�anUiS[YJg�s�`Jt�h3S�YJS	lca_ÂVs�YJS	lcZqp hTj3SyÁ%
�Á�K*��`Mj3ln` ¥ ZqpwuvWTa_Â	lcY<ui]	g�ana_S	lnWog�j3Z3uvj3]	SySVj�kna_SEuvanxTa_S	lOZTS�a_S	l_l_g�hTa_]	S	lSVkfZTg�]VhTUiSVj�k_lyÄcb§d¢S*R�WTan`MUim	S�Z3uvj3l[Y<u�l_S	]Vkn`Jg�jÉ��KML�KwÌ ¥ g�jÅW4SVhTk � mVan`½\�SVafln`~hTjÅZTgH]VhTUiSVj:k � mVan`½\�SihTj3S�DÇ�� SVj � mVan`½\"uvj:kOln`qY®pwuvanxTa_S[]	g�ana_S	lnWog�j3Z3uvj:k � mVan`½\�S[hTj3SO¹�g�anUyhTYJSEZTg�jTj3m	S�K
»�j[kna_g�h � S~ZTSVh�R�k�|HWoS	l�ZTSDa_ÂVs�YJS	l Z�`Jl_kn`Mj3]Vk_l Z3uvj3l�hTj3S �DÇc� KFe�S	l�WTa_SVUX`JÂVa_S	l{]	g�j3]	SVanj3SVj�k{YJS	l�mVYJmVUiSVj�k_l ¥SVkc`Mj3Z�`Jt:h3SVj�kc]	g�UXUiSVj:k�`MYJl�l_S�lnh3]	]	Â	ZTSVj:k�YJS	l�hTj3lcuvh�R�uvhTkna_S	lFKTe�S	l�l)S	]	g�j3ZTS	lc]	g�j3]	SVanj3SVj:k�YJS	lcuvknknan`MxThTk_l ¥`Mj3Z�`Jt�h3SVj:kEZ3uvj3l�t:h3SVYJl�mVYJmVUiSVj:k_lEg�jrW4SVhTk�YJS	lOkna_g�h � SVa ¥ lFp `MYJl�ZTg�` � SVj:kyu � g�`Ma�hTj3S � uvYJSVhTa�W�uvankn`J]VhTYM`JÂVa_SiSVkl1p `MYJlDg�j:kDhTj3S�l_mVU�uvj�kn`Jt:h3S�W�uvankn`J]VhTYM`JÂVa_ScZ3uvj3l�YJS�ZTg�]VhTUiSVj�k � ]	g�UXUiS�YJS	l�`JZTSVj:kn`½\"uvj�k_l ¥ W�uva~S*RTSVUXWTYJS ¥ ZTg�j:kYJS[a ��YJS[S	lnk�ZTS�ZTg�jTj3SVachTjÃUig1|&SVj9hTjT`Jt�h3S[Zqp `JZTSVj:kn`½\�SVa�hTj�j���h3Z � K»�jÃS*RHWTYM`Jt�h3S�ZTg�j3]�`J]V`�]	g�UXUiSVj:kcg�j�ZTm*\3jT`Mk�YJS	l�WTan`Mj3]V`MW�uvYJS	l�]	g�j:kna)uv`Mj�k_S	l�lnhTa�YJS	l�mVYJmVUiSVj�k_l�WThT`Jl�lnhTaYJS	lzuvknknan`MxThTk_l ¥ SVk~g�jilFp `Mj�k_mVa_S	l_l_S�SVj3lnhT`Mk_S�uvh�RX]Fu�lDW�uvankn`J]VhTYM`JSVa_l6ZTS	l~uvknknan`MxThTk_l�u	|:uvj�k6hTjXa ��YJS�Zqp `JZTSVj:kn`½\"uvj�kg�h�ZTS�W4g�`Mj�k_SVhTa ¥ a ��YJS[t�h3S�Y®p�g�j9ZTmVk)uv`MYMYJS[WTYMh3l�YJg�`Mj�K
»�jÃhTkn`MYM`Jl_SVa)uXZ3uvj3l�]	SVknk_S�W�uvankn`JS[YJS	l�WTa_m	Z�`J]Fuvk_l�lnhT` � uvj�k_l�Wog�hTa�k_S	lnk_SVa�YJS�k}|�WoS�ZTS	l�a_S	l_l_g�hTa_]	S	lc]	g�j:k_S*¼j�h3S	lcZ3uvj3lcYJS	l�j���h3ZTlcZTS�Y®pwuvanxTa_Si¾

s,m |=P cont
l)ln`

m ∈ Dat
K

s,m |=P elem
l_ln`

m ∈ Elem
K

s,m |=P elem(name)
l)ln`

name ∈ Elem
SVk
m = name

K
s,m |=P att(name)

l)ln` ∃f ∈ (Att→fin V al)
k_SVY t�h3S

m = f
SVk
dom(f) = {name} K

s,m |=P value(val)
l)ln` ∃f ∈ (Att→fin V al)

k_SVY�t�h3S
m = f

¥ ∃x.dom(f) = {x} SVk f(x) = val
Kg�Ï YJS	l§SVj3l_SVUyxTYJS	l

Dat,Elem,Att
SVk
V al

l)g�j:k§YJS	lQSVj3l_SVUExTYJS	l¢ZTS9a_S	l_l)g�hTa_]	S	lQZTm*\3jT`JS	l¢Z3uvj3l§Y<ul)S	]Vkn`Jg�j���KML�KwÌ�K
TVUYX U�W 1 g2k�
 `��:g2jl]_jlg�s m jle u 4=ul]_jlg�s4e

È{g�hTa�ZTm*\3jT`Ma�hTjfZTgH]VhTUiSVj:k�Äcb§d ¥ g�jfZTg�`Mk�ZTg�j3]6`Mj3Z�`Jt�h3SVa�W4g�hTa�]_^�u�t�h3SzmVYJmVUiSVj�k�YJS	l�\3YJl{W4g�l)ln`MxTYJS	l{ZTS]	SVk�mVYJmVUiSVj�kFKH��j¢mVYJmVUiSVj:k�W4SVhTk�j3S�W�u�l�u � g�`Ma�ZTS�\3YJl ¥ u � g�`Ma�hTjQ\3YJl�hTjT`Jt:h3SOZqp hTj¢k�|HW4SOZqp�mVYJmVUiSVj:k�WTa_m	]V`Jlt�hT`4W4SVhTk�¿Vkna_S�g�WTkn`Jg�jTj3SVY � uvh§U�uCR�`MUyhTU hTj�\3YJl � g�h§a_mVW4mVk_m � uvh§Uig�`Mj3l�hTj�\3YJl � g�hÃu � g�`Ma�hTj3S�l)m	t:h3SVj3]	SWTa_m	]V`Jl)S[ZTS�\3YJlFKTe uil_g�YMhTkn`Jg�j�WoSVhTk�SVj�\3j9¿Vkna_S�hTj�UimVY<uvjTs&S[ZTS	lcZ�`½ÊomVa_SVj�k_l�]Fu�l�mVj�hTUimVa_m	l�]V`½¼�ZTS	l)lnh3lFK

7�� «G@�´Å� ³ � :  >¤ ��cjQj���h3Z¢]	g�ana_S	lnW4g�j3Z3uvj�kc��hTjÃmVYJmVUiSVj:k � `JZTScj3SOZTg�`Mk�W�u�l�u � g�`Ma�ZTSc\3YJl1K���`Mj3ln` ¥ Wog�hTa�lFpwu�l_lnhTa_SVa�t:h3SYJS	l�mVYJmVUiSVj:k_l
�
seul � Zqp hTj�uvanxTa_S[j�p�g�j:kcW�u�lcZTSO\3YJl ¥ g�j�]	g�j3ln`JZTÂVa_SyY<uE¹�g�anUEhTYJSi¾

∀pathx.(contains(x, elem(seul)) → ∀locz.no(x : z))��SVknk_Sf¹�g�anUEhTYJSi`Mj3Z�`Jt�h3SXZTg�j3]it�h3S�W4g�hTa�k_g�hTky])^3SVUX`Mj
x
¥ ln`

x
]	g�j:kn`JSVj�kyhTjµmVYJmVUiSVj:kEj3g�UXUim

seuluvYJg�a_lc`MYqj�p�S*RH`Jl_k_S�W�u�l�Zqp�SVUXWTY<u�]	SVUiSVj:k�ZTm*\3jT` l_g�h3l
x
¥ ]	S[t�hT`�S	lnk�kna)u�Z�hT`MkcW�uva ∀locz.no(x : z))

K

7�� «G@�´Å� ³ �i� :4� � H{³ H{³� GFIH �ABD«>�
È{g�hTa§`Mj3Z�`Jt�h3SVa§t�h3S�YJS	l§mVYJmVUiSVj:k_l¢ZTS�k�|HW4S��

personne � ZTg�` � SVj:kÃu � g�`Ma¢hTj \3YJl�hTjT`Jt�h3S9j3g�UXUim
�
nom � ¥ g�j�]	g�j3ln`JZTÂVa_S[Y<uf¹�g�anUEhTYJSi¾
L�LFÌ
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∀pathx.(contains(x, elem(personne)) → ([x]∃y.[y](elem(nom) ∗ >) ∗ ∀locz.no(x : z)))

�z^�u�t�h3S6]_^3SVUX`Mj�UiSVj�uvj�k���hTjEmVYJmVUiSVj:k�j3g�UXUim��
personne ��� ∀pathx.contains(x, elem(personne)) �ufZTg�j3]�hTj§\3YJl�]	g�j�k_SVj�uvj:k�hTjÃmVYJmVUiSVj:k�ZTS�k}|�WoS �

nom ��� [x]∃y.[y](elem(nom) ∗>) � SVk�t:h�pwuvh3]VhTj�uvhTkna_SSVUXWTY<u�]	SVUiSVj:k�S*RH`Jl_k_S�l_g�h3l�YJS�]_^3SVUX`Mj
x � ∀locz.no(x : z) � K

»�j�l_hT`Mk�hTj9a)uv`Jl_g�jTj3SVUiSVj�kOl_`MUX`MY<uv`Ma_S[Wog�hTac`Mj3Z�`Jt�h3SVa�t�h�p hTj�mVYJmVUiSVj:k �
nom � j3Sy]	g�j:kn`JSVj:k�t�h3S[ZTS	lZTg�jTj3m	S	ly¾

∀pathx.((> ∗ [x]elem(nom)) → ([x]∃y.[y]cont ∗ ∀locz.no(x : z)))

7 � «G@�´Å� ³ �i�!:"� � � H ´ £" �³ � H�³ BD«>�
È�g�hTa�l1pwu�l_lnhTa_SVa�t:h�p hTjÆmVYJmVUiSVj:k�u�uvh Uig�`Mj3lfhTjÉ\3YJl�Zqp hTj ]	SVank)uv`MjÆk�|HWoS ¥ g�jÆ]	g�j3ln`JZTÂVa_S§Y®p�S*R�SVUXWTYJSZqp hTjÅmVYJmVUiSVj:kfj3g�UXUim

fils
t:hT`�uvWTW�uva)u
	JkfuvhµUig�`Mj3lEhTj3S�¹�g�`Jlyl_g�h3lyhTjÅmVYJmVUiSVj:k

parent
Kqe u¢¹�g�anUyhTYJS]	g�ana_S	lnWog�j3Z3uvj:k_SyS	l_kcuvYJg�a_l�Y<u�lnhT` � uvj:k_Si¾

∀pathx.(contains(x, elem(parent)) → ([x]∃locy.[y](elem(fils) ∗ >)∗
∀locz.(exists(z) → [z]elem(fils) ∗ >)))

�B]V` ¥ W4g�hTac])^�u�t:h3Sy]_^3SVUX`Mj9UiSVj�uvj�kO�fhTj9mVYJmVUiSVj�k
�
parent ��� ∀pathx.contains(x, elem(parent)) � ¥ `MYS*RH`Jl_k_SyhTjrSVUXWTY<u�]	SVUiSVj:kyl)g�h3l

x
]	g�j�k_SVj�uvj:k[hTjrmVYJmVUiSVj:k �

fils �	� [x]∃locy.[y](elem(fils) ∗ >) � SVk�k_g�hTkuvhTkna_S~SVUXWTY<u�]	SVUiSVj:k�ZTm*\3jT`:l_g�h3loYJS6]_^3SVUX`Mj
x
]	g�j:kn`JSVj:k{YMhT`�uvh3l_ln`�hTj[mVYJmVUiSVj�k �

fils �
� [x]∀locz.(exists(z) →
[z]elem(fils) ∗ >) � K
7 � «G@�´Å� ³ �i�!:"� � � H ª�« H � H�³ BD«>�

»�j � SVhTk�lnW4m	]V`½\�SVa�t�h�p hTjÃmVYJmVUiSVj:k�Wog�l_l_Â	ZTS�uvh¢WTYMh3l�hTj3S�g�]	]VhTana_SVj3]	S�Zqp hTj¢k�|HWoSOZTSO\3YJl�W�uvankn`J]VhTYM`JSVa ¥W�uva�S*RTSVUXWTYJS ¥ g�jÃZTmVk_SVanUX`Mj3S�t:h3SOZTS	l�mVYJmVUiSVj:k_l�Z�h§k�|HW4S �
parent � WoSVh � SVj:k�u � g�`Ma�]	g�UXUiSc\3YJl�hTj3S�g�h

� mVa_gigH]	]VhTana_SVj3]	S[Zqp hTj9mVYJmVUiSVj:k � option � W�uva�Y<uf¹�g�anUEhTYJSi¾
∀pathx.(contains(x, elem(parent)) → [x]((∃y.[y](elem(option) ∗ >)) ∨ I) ∗ ∀locz.no(x : z))

��`�Y®p�g�j kna_g�h � S�hTjµmVYJmVUiSVj:k �
parent � uvh x4g�hTk�Zqp hTjµ])^3SVUX`Mj � ∀pathx.contains(x, elem(parent)) � ¥YJSEl)g�h3l.¼}uvanxTa_SEZTSf]	S�]_^3SVUX`Mj S	lnk�l_g�`Mk � `JZTS ¥ l_g�`Mk�]	g�UXW4g�l_mfZqp hTjº\3YJl�]	g�j�k_SVj�uvj:k[hTjrmVYJmVUiSVj:k � option �

� [x](∃locy.[y](elem(option)∗>))∨I) � SVkDuvh3]VhTj�uvhTkna_S�SVUXWTY<u�]	SVUiSVj�k~j�p�S	lnkDZTm*\3jT`3l_g�h3l x � ∀locz.no(x : z) � K
7 ¶ £ ´µª £ �   �  >£"³¸�:£ ´µª�«>� ? � ¤\[ @�«G@H´µ� ³ �F�

�Og�h3l�Uig�j:kna_g�j3l�U�uv`Mj:k_SVj�uvj�k�]	g�UXUiSVj�k�g�j�WoSVhTk�u�l_l)g�]V`JSVa�YJS	l�l_]_^3mVU�u�lcYJg�s�`Jt:h3S	l�ZTg�jTj3m	lc]V`½¼�ZTS	l_lnh3lW4g�hTaDlnWom	]V`½\�SVa~ZTS	lD]	g�j:k_SVj�h3lz]	g�UXWTYJS*RTS	lDWog�hTaDhTjXmVYJmVUiSVj:k6ZTg�jTj3m�K�»�jil_hTWTW4g�l_S�t�h�p hTjimVYJmVUiSVj:k~j3g�UXUim
message

ZTg�`MkDu � g�`Ma~]	g�UXUiS6\3YJl�hTjXmVYJmVUiSVj:k from ¥ hTj�mVYJmVUiSVj:k
to
¥ uvhfUX`MjT`MUyhTU hTj�mVYJmVUiSVj:k

content
¥

hTjÃj3g�UyxTa_Sy`Mj3ZTm*\3jT` � m � SVj:knh3SVYMYJSVUiSVj�k � mVa_g � Zqp�mVYJmVUiSVj:k body SVk�hTj�mVYJmVUiSVj:kOg�WTkn`Jg�jTj3SVY date KÈ�g�hTacS*RHWTan`MUiSVaO]	S	l�]	g�j3Z�`Mkn`Jg�j3l ¥ g�j�lFp `Mj3lnWT`Ma_S[ZTS	l�]	g�j3Z�`Mkn`Jg�j3l�S*RHWTan`MUim	S	l�]V`½¼�ZTS	l_lnh3lFK»�j9uiuvYJg�a_l�Y<uf¹�g�anUyhTYJSylnhT` � uvj�k_Si¾
∀pathx.(contains(x, elem(message)) →

([x](∃locy1, y2, y3, y4.[y1](elem(from) ∗ >)∗
[y2](elem(to) ∗ >) ∗ [y3](elem(content) ∗ >)∗
[y4](elem(date) ∗ >) ∨ I)∗
∀locz.exists(x : z) → ([x][z](elem(content) ∨ elem(body)) ∗ >)))

L�LF�
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�¯ �"����°n� ����� ±F���*�J�,�f��� ¯�°F�*°_�,���V���&±�©3©o¦_�,���	�V�f�	�®�V��°,� �	���H°n¦)�,�
��SVknk_S�¹�g�anUyhTYJS�`Mj3Z�`Jt�h3S�t�h3S�ln`3g�jQu�hTj�]_^3SVUX`Mj

x
UiSVj�uvj:k���hTj�mVYJmVUiSVj�k

message
¥ uvYJg�a_l~g�jQu�l_g�h3l

x
¾
N hTj9mVYJmVUiSVj:k

from
Z3uvj3l�hTj9SVUXWTY<u�]	SVUiSVj�k

y1 �N hTj9mVYJmVUiSVj:k
to
Z3uvj3l�hTj9SVUXWTY<u�]	SVUiSVj�k

y2 �N hTj9mVYJmVUiSVj:k
content

Z3uvj3l�hTj�SVUXWTY<u�]	SVUiSVj�k
y3 �N m � SVj:knh3SVYMYJSVUiSVj�kºhTj mVYJmVUiSVj�k

body
Z3uvj3lÃhTj SVUXWTY<u�]	SVUiSVj�k

y4
¥ YJSº¹�uv`Mk�t�h3S l)uÉWTa_m	l_SVj3]	Sµl_g�`Mkm � SVj:knh3SVYMYJSfl_S�kna)u�Z�hT`Mk�W�uva�Y®p hTkn`MYM`Jl,uvkn`Jg�j9ZTS�Y®p�g�WomVa)uvk_SVhTa ∨ �N k_g�hTkcuvhTkna_S�SVUXWTY<u�]	SVUiSVj:kcZTm*\3jT`�ZTg�`Mk�]	g�j�k_SVjT`Macl_g�`Mk�hTjÃmVYJmVUiSVj:k
body

l)g�`Mk�hTj�mVYJmVUiSVj�k
content

K
TVUYX U0/ � jle�s�d�[�g m jlet`Ks-s�b�d �arVs4e

e�S�l_S	]	g�j3Zyk}|�WoS�ZTSzZTm	]VY<uva)uvkn`Jg�jiZ3uvj3l�hTj3S �DÇc� ]	g�j3]	SVanj3SzYJS	lDuvknknan`MxThTk_l�Wog�l_ln`MxTYJS	l{W4g�hTa�hTj�mVYJmVUiSVj:kFKÈ�g�hTaÃ]_^�u�t�h3S�mVYJmVUiSVj�k ¥ g�j ZTm*\3jT`Mk§YJS9j3g�U ZTS	l§uvknknan`MxThTk_l¢t�h3S�Y®p�g�j W4SVhTk§g�h ZTg�`Mk§ZTm*\3jT`MaQWog�hTaQ]	SVkmVYJmVUiSVj�k ¥ ln`�]	S	l�uvknknan`MxThTk_l�l_g�j:k�a_S	t�hT`Jl�g�hrg�WTkn`Jg�jTj3SVYJl�SVk�g�jr`Mj3Z�`Jt�h3Sfm � SVj�knh3SVYMYJSVUiSVj:kEY<u � uvYJSVhTa�t:h�p `MYJlZTg�` � SVj�kcu � g�`MaFK�Á�SOWTYMh3l ¥ ]	SVank)uv`Mj3l�uvknknan`MxThTk_l�WoSVh � SVj:kcu � g�`Ma�hTj§a ��YJSOW�uvankn`J]VhTYM`JSVaFK�»�j§l1p `Mj:k_mVa_S	l_l_SO`J]V`quvh�R`JZTSVj�kn`½\"uvj:k_l��®������SVkcuvh�R§Wog�`Mj:k_SVhTa_l��®����°_�GQ���K

7�� �	�F·   ] H �F�i·v� FIH�  �»�j§l_W4m	]V`½\
	�t�h�p hTjÃuvknknan`MxThTk�		lnk�a�		t�hT`Jl�
4g�hTa�hTj¢k�|�
�	��qp�m��Jm���	Vj:k�
�u��nk����Vh�����	��� �»�j!�Tg�jTj"	�
og�h��#�$	��<u
�<uil�
4m$���&%
�Fu�'���(*)+
�	�����	�'�'-,�).'/�10 ��)"�2��3.4"	��/3.4"	5�6087���7���	�)9'
�

city � ��(*��'��$(*).'�	�)����:4�);,�'�'�����<�4�' � id � ¾

∀pathx.(contains(x, elem(city)) → contains(x, attr(id))

394��=	�>�
�������	/394"	 ¥.? �"4�)@�-A"	��B��)
x
�$(*)9'���	�).'C4�)�7���7���	�)9'

city
¥ ��	��i¿���	/��A"	��B��)!�$(*)9'���	�).'C�60D,�'�'�����<�4�'

id
 

7�� �	�F·   ] H � £ ª{�  >£"³�³ �H«ÈE(*4��5��)"�2��3.4"	��F394G0 4�)H,�'�'�����<�4�'F	 ? '�(*
�'���(*)�)"	��I
J(*4��54�)K7���7���	�).'5��(*)�)"7 ¥ ��� ? 4 ��'F��	��2����	L3.4"	M�608(*)

J	�4�' ? (*��'N��	�)"�$(*)9'���	��O�60D,�'�'�����<�4�' ¥P? (*��'N)"	Q����	�)L��	�)"�$(*)9'���	��� ��:��) ? � ¥�? �.
�(*4��I4�)"	 � ������	C�60D,�'�'�����<�4�' � capital �	 ? ':(*
�'���(*)�)"	�� ¥ (*)+(*<�'���	�).'E¾

∀pathx.(contains(x, elem(city)) → contains(x, attr(capital) ∨ I)
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7XW �3«>� H · ¤\[ H�³ ���	�F·   ] H �ÈE(*4��Y	�>2
�������	��+3.4G0 4�)Z,�'�'�����<�4�'
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∀pathx.(contains(x, elem(foo) ∧ attr(bar)) → contains(x, (attr(bar) ∧ value(42)))
�.�O4�)\��A"	��B��)

x
(*)],�4�)\7���7���	�)9'

foo
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 ��#(*�B��	V(*)a)"	M
J	�4�'�
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∀pathx.(contains(x, elem(foo) ∧ attr(bar)) → contains(x, (attr(bar)∧ (value(42) ∨ value(21))))
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mapl1

state
id 7→ s2

l2

scode

l3

NE

l4

sname

l5

Nevada

l6

capital

idref 7→ c3

l7

city

id 7→ c3

l8

ccode

l9

CCN

l10

cname

l11

Carson City

l12

state of
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∃pathx, y.∃resv.([x]id ∧ (elem ∗ value(v)) ∗ [y]id ∧ (elem ∗ value(v)) ∗ >) → ⊥
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∀pathx.∀resv.(contains(x, elem(state � of) ∗ (attr(idref) ∧ value(v))) →
∃pathy.(([y]id ∧ (elem ∗ value(v))) ∗ >))
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∀pathx.∀resv.(contains(x, elem(state � of) ∗ (attr(idref) ∧ value(v))) →
∃pathy.(([y]id ∧ (elem(state) ∗ value(v))) ∗ >))
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∀pathx.∃locy.∀resv, u.(contains (x, elem(state)∗
(attr(id) ∧ value(u))∗
[y](elem(capital) ∗ (attr(idref) ∧ value(v)))) →
∃pathz.∃loct.contains(z, elem(city)∗
(attr(id) ∧ value(v))∗
[y](elem(state � of) ∗ (attr(idref) ∧ value(u)))))
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∀pathx.(contains(x, elem(state)) → [x]∃locy1, y2, y3.[y1](elem(scode) ∗ >)∗
[y2](elem(sname) ∗ >)∗
[y3](elem(capital) ∗ >)∗
∀locz.no(x : z))
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∀pathx.(contains(x, elem(city)) → ([x]((attr(capital) ∧ (value(yes) ∨ value(false))) ∨ I) ∗ >))
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∀pathx.(contains(x, elem(map)) → (∀locz.(contains(x : z, (elem(state)) ∨ elem(city)) ∨ no(x : z))))
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,��X�608	�>2
���	 ?�? ��(*)

E1
�Y�$(*)"�2��'���(*) 394G0 ���C)G0 b\,���'�3.4G0 4�)]7���7���	�)9'V��	��$	_' b�
�	 ? (*4 ?

E2
 R ,Y�$(*�B�_,�)"��	

x := getLocattr(E1, E2)@E3

��U,*�$	5	�)

x
��	�)"(*� ��	/�608	��B
��U,*�$	���	�)9':3.4��1�$(*)9'���	�)9'�4�)Y,�'�'�����<�4�'��$(*����	 ? ¼


�(*)"�",�).'c���608	�>�
���	 ?�? ��(*)
E1

,�b9,�)9':�$(*�B��	 � ,���	�4����$	�����	F��	��608	�>�
���	 ?�? ��(*) E2
? ��'�4"7 ? (*4 ? �608	��B
��U,*�$	���	�)9'

��7 ? ��`P)"7�

,����608	�>2
���	 ?�? ��(*)
E3
 �R ,��$(*�B�_,�)"��	

x := getLoccont@E

��U,*�$	V	�)

x
��	M)"(*� ��	��608	��B
��U,*�$	*¼

��	�)9' ? ��'�4"7 ? (*4 ? �608	��B
��U,*�$	���	�).'���7 ? ��`P)"7X

,����608	�>�
���	 ?�? ��(*)
E
3.4�� �$(*)9'���	�).'/��	 ? ��(*)�)"7$	 ?  

T U�� U / � ul]_`5g�s4d�� r2jnm2jle kR[�] ]_`Ig2m2jle
RG	 ? �$(*�B�_,�)"��	 ?!? (*)9'@��)9'�	���
���7�'�7$	 ?!? 	���(*) 4�)"	Y��	��U,�'���(*)

;
	�).'���	a��	 ? �$(*)2%"`P4��-,�'���(*) ?  ��(*4 ? )"	

��	�
���	�)"(*) ? 

, ? �$	 ? ��7�%")���'���(*) ? 3.4��#(*).'B��7 �n�;7�'�7���(*)�)"7$	 ? �",�) ? �U, ? 	$��'���(*) Ì2 Í" ERE, ? 7��_,�)9'���3.4"	���	 ?
�$(*�B�_,�)"��	 ? 	 ? '���(*)"�M��(*)�)"7$	E�L'��-, � 	�� ? �U,B��7�%")���'���(*);��	5�U,B��	��U,�'���(*)

;
 

[[E2 ]] s = l ∈ Loc, [[E1 ]] s = c ∈ Dat, ∃L ∈ Loc∗ ��� ��� [t(L : l)]↑, l′ ∈ Loc ��� ��� ∀L′ ∈ Loc∗.t(L′ : l′) ��� 	�
 �
��� 

���������
x := newcontE1@E2, s, t ; [s|x 7→ l′], t|(e,L : l : l′ 7→ c)

[[E2 ]] s = l ∈ Loc, [[E1 ]] s = c ∈ Elem,∃L ∈ Loc∗ ��� ��� [t(L : l)]↑, l′ ∈ Loc ��� ��� ∀L′ ∈ Loc∗.t(L′ : l′) ��� 	�
 �
��� 

���������
x := newelemE1@E2, s, P ; [s|x 7→ l′], t|(e, L : l : l′ 7→ c

[[E2 ]] s = l ∈ Loc, [[E1 ]] s = t′ ∈ TMXML
,∃L ∈ Loc∗ ��� ��� [t(L : l)]↑, l′ ∈ Loc ��� ��� ∀L′ ∈ Loc∗.t(L′ : l′) ��� 	�
 ����� 
����������

x := newtreeE1@E2, s, P ; [s|x 7→ l′], t|(e,L : l : l′ 7→ t′

�#(*�B��	#��)"�2��394"7#�",�) ? �U, ? 	$��'���(*)��2 Í" c ¥ ��	 ? '���(*� ? �_Â�`P��	 ? ���½¼ ��	 ?�? 4 ? ��).'���(.�24�� ? 	�)9'O4�)L)"(*4 � 	��2	��B
��U,*�$	*¼
��	�)9'N�",�) ? �60D,���<���	Q��	S��	 ?�? (*4����$	 ?  �»/)X��)"�2��394"	C394"	S�608	��B
��U,*�$	���	�)9'

l′
��(*��'�¿�'���	O4�)X)"(*4 � 	���	��B
��U,*�$	���	�)9'

��,�� ? ��)"(*)Y�60D,���<���	M,���) ? �G��(.�2�&%
7X)"	 ? 	��-,���'�

, ? ��7�%")��6 
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[[E3 ]] s = l ∈ Loc, [[E1 ]] s = m ∈ Attr, [[E1 ]] s = n ∈ V al, ∃L ∈ Loc∗ ��� ��� [t(L : l)]↑

newattrE1, E2@E3, s, t ; s, t|(e, L : l 7→ (m 7→ n))

[[E1 ]] s = l ∈ Loc,∃L ∈ Loc∗ ��� ��� t = t′|(e,L : l 7→ t′′)
V

t′(L : l) � � 	�
 �
��� 
����������
deleteE1, s, t ; s, t′

R ,5�_Â�`P��	:
���7$�$7$��	�)9'�	���7$�$(*�B
�( ? 	
t
	�)@��	�42> ? (*4 ? ¼ ,���<���	 ?

t′
	�'

(e, L : l 7→ t′′)
¥
t′′
7�'-,�).'C	�>",*��'�	���	�)9'

��	 ? (*4 ? ¼ ,���<���	���	
t
? ��'�4"7@,�4 ��A"	��B��)

L : l
 {ÈN(*4�� ? 0D, ?�? 4���	��L��	_�$	��U, ¥ (*)^��)"�2��3.4"	@3.4"	

t′
)"	@�$(*).'���	�)9'

,�4"��4�)"	M��)�¹ (*���_,�'���(*) ? (*4 ? �$	X�-A"	��B��)G 
[[E1 ]] s = l ∈ Loc, [[E2 ]] s = m ∈ Attr, ∃n ∈ V al, ∃L ∈ Loc∗ ��� ��� t = t′|(e,L : l 7→ ((m 7→ n), nil))

deleteE2@E1, s, t ; s, t′

[[E1 ]] s = l ∈ Loc, [[E2 ]] s = m ∈ Elem,∃n ∈ Elem,∃L ∈ Loc∗ ��� ��� t = t′|(e,L : l 7→ (n, nil))

replaceelemE2@E1, s, t ; s, t′|(e,L : l 7→ (m,nil))

»/)�,�	�) ? 4���'�	Q��	 ? �_Â�`P��	 ? ���U, ?�? ��3.4"	 ? �10D,CÊ1	$��'-,�'���(*) ? 	�'E��	S��7$��4�
J7��-,�'���(*)L�10 ��)�¹[(*���_,�'���(*) ? �",�) ? �60D,���<���	c¾

[[E ]] s = m ∈ (Elem ∪ Attr ∪ V al ∪Dat ∪ Loc ∪ TMXML
)

x := E, s, t ; [s, x 7→ m], t

[[E ]] s = l ∈ Loc,∃L ∈ Loc∗, t′ ∈ TXML
��� ��� t(L : l) = t′

x := tree@E, s, t ; [s, x 7→ t′], t

[[E ]] s = l ∈ Loc,∃L ∈ Loc∗; ∃m ∈ Elem, t′ ∈ TXML
��� ��� t(L : l) = (m, t′)

x := elem@E,s, t ; [s, x 7→ m], t

[[E ]] s = l ∈ Loc,∃L ∈ Loc∗; ∃m ∈ Dat, t′ ∈ TXML
��� ��� t(L : l) = (m, t′)

x := content@E, s, t ; [s, x 7→ m], t

[[E ]] s = l ∈ Loc, [[E1 ]] s = n ∈ Attr, ∃L ∈ Loc∗,∃m ∈ V al, t′ ∈ TXML
��� ��� t(L : l) = ((n 7→ m), t′)

x := attr(E1)@E, s, t ; [s, x 7→ m], t

RG	 ? �_Â�`P��	 ?�? 4�� � ,�).'�	 ? 
���7 ? 	�).'�	�)9'L��	 ? �$(*�B�_,�)"��	 ? 
J	�����	�'�'-,�)9'L��	B��7$��4�
�7���	�����	 ? )"(*� ? �108	��B
��U,C¼
�$	���	�).' ¥ �$(*�B�_,�)"��	 ? 394���)G087�'-,���	�).'_

, ? 
���7 ? 	�).'�	 ? �",�) ? ��	��U,�)�`9,�` 	Y��	��_,�)���
�4��U,�'���(*) ��	�<
, ? 	P OR ,

���	��B�JÂ���	K��	Y�$	 ? �$(*�B�_,�)"��	 ? 	 ? '_
���4 ?_? ���B
���	Y3.4"	!��	 ? ��	�42>T,�4�'���	 ? ��,��_
J(*4���4�) 7���7���	�).'���(*)�)"7 ¥
�60 4�)�������'�7V��	 ? (*);%"� ? �$(*).'�	�)
,�)9'M��	 ? ��(*)�)"7$	 ? 	 ? '�, ?-? 4���7$	M

,����U,@��7�%")���'���(*)K�i¿���	V��	��608	�) ? 	��M<���	V��	 ?
,���<���	 ?  ÈE(*4��#��	 ? ��	�42>@��	���)��JÂ���	 ? �_Â�`P��	 ?F¥ (*)���(*��' ? 0D, ?�? 4���	��C3.4"	��6087���7���	�).'�(*4@�60D,�'�'�����<�4�'#��	$��A"	����-A"7F	 ? 'Q<���	�)
��7�%")��E��	F�_,�)��JÂ���	F4�)���3.4"	X�",�) ? �60D,���<���	P �.� �$	5)G08	 ? '�

, ? ��	F��, ?F¥ �U,V�$(*)2%"`P4��-,�'���(*)a	 ? '�<���(�394"7$	X¾�(*)Y)"	

J	�4�'���7 ? (*4"�2��	X�U,V�$(*�B�_,�)"��	P 

[[E ]] s = l ∈ Loc, [[E1 ]] s = m ∈ Dat, ∃L ∈ Loc∗,∃l′ ∈ Loc, t′ ∈ TXML
��� ��� [t(L : l : l′)]↑ 	 � t(L : l : l′) = (m, t′)

x := getLoccont(E1)@E, s, t ; [s, x 7→ l′], t

[[E ]] s = l ∈ Loc, [[E1 ]] s = m ∈ Elem,∃L ∈ Loc∗, ∃l′ ∈ Loc, t′ ∈ TXML
��� ���

t = t′|(e,L : l′ : l 7→ (m,nil)) 	 � ∀l′′ ∈ loc, t′′ ∈ TXML.t
′(L : l : l′′) 6= (m, t′′)

x := getLocelem(E1)@E, s, t ; [s, x 7→ l′], t

c Ì�Ð
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[[E3 ]] s = l ∈ Loc, [[E2 ]] s = n ∈ V al, [[E1 ]] s = m ∈ Attr, ∃L ∈ Loc∗, ∃l′ ∈ Loc ��� ���
t = t′|(e,L : l : l′ 7→ ((m 7→ n), nil) 	 � ∀l′′ ∈ loc, t′′ ∈ TXML.t

′(L : l : l′′) 6= t′′|(e, L : l : l′′ 7→ ((m 7→ n), nil)

x := getLocattr(E1, E2)@E3, s, t ; [s, x 7→ l′], t

RG	 ? �$(*)"�2��'���(*) ? ��	 ? �$(*�B�_,�)"��	 ?
getLoc
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��U,*�$	���	�)9'
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�4��U,C¼
'���(*) ?  
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���(*`P�-,��B��	�3.4��G��(��2�&%
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���7 ? 	�)9'-,�).'���	 ? ��(*)�)"7$	 ? Ä	� 
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���	M��)���'��U,���	���	�)9'5
���(*
�( ? 7
	�)H%"`P4���	��2 c 
J(*4��XbH,�
�
�(*��'�	��M��	 ? ��A
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mapl1

state
id 7→ s2

l2

scode

l3

NE

l4

sname

l5

Nevada

l6

capital

idref 7→ c3

l7

city

id 7→ c3

l8

ccode

l9

CCN

l10

cname

l11

Carson City

l12

state of

idref 7→ s2

 

� " x := getLocelem(state)@nil	 " x := getLocelem(capital)@x
 " y := getAttr(idref)@x� " z := getLocattr(id, y)@nil� " addAttr(capital, yes)@z
 " z := getLocelem(cname)@z� " z = getLoccont@z� " y = getContent@z� " y = newcont(y)@x
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mapl1

state
id 7→ s2

l2

scode

l3

NE

l4

sname

l5

Nevada

l6

capital

idref 7→ c3

l7

city

capital 7→ yes

id 7→ c3

l8

ccode

l9

CCN

l10

cname

l11

Carson City

l12

state of

idref 7→ s2

l13

Carson City
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� �U����� ���������������,� ��� ���	� ������
���

�*�\Q��
��������� �*�

� ∃pathy.(exists(y : E) ∧ ∃treet.(([y][E]t ∗ no(y : E)) ∧ P{t/x})) � x := tree@E
�
P �� ∃pathy.(exists(y : E) ∧ ∃resc.(([y][E]elem(c) ∗ >) ∧ P{c/x})) � x := elem@E
�
P �� ∃pathy.(exists(y : E2) ∧ ∃resc.(([y][E2](attr(E1) ∧ val(c)) ∗ >) ∧ P{c/x})) x := attr(E1)@E2

�
P �� ∃pathy.(exists(y : E) ∧ ∃resc.(([y][E]data(c) ∗ >) ∧ P{c/x})) x := content@E
�
P �

7M��� 0 H - 4 [ .�2)< 0 )�� +#-/. 0�2
� )!
J(*4�� ? 4���'/,�� 	$�X��	 ? '�����
���	�' ? ��	 ? �$(*�B�_,�)"��	 ? )"7$�$	 ?�? ��'-,�).':�U,V����7�,�'���(*)K�10 4�)+	��B
��U,*�$	���	�)9'��
� ∃pathy.(exists(y : E2)∧
∀pathy

′.∀locz.(no(y
′ : z) → ([y][E2][z]cont(E1)−∗P{z/x}))) � x := newcontE1@E2

�
P �� ∃pathy.(exists(y : E2)∧

∀pathy
′.∀locz.(no(y

′ : z) → ([y][E2][z]elem(E1)−∗P{z/x}))) � x := newelemE1@E2

�
P �� ∃pathy.(exists(y : E2)∧

∀pathy
′.∀locz.(no(y

′ : z) → ([y][E2][z]E1−∗P{z/x}))) � x := newtreeE1@E2

�
P �

RS0 4�'������ ? ,�'���(*)K��	
no(y′ : E2 : z)

(��
y′
	�'
z
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� ∃pathy.(exists(y : E3)∧
([y][E3](attr(E1) ∧ value(E2))−∗P{z/x})) � newattrE1, E2@E3

�
P �

7�� H � � ) (*&�&/. 032!( - ) (!� �#" + 6 ($� (723- 4 [ .�2)< 0 )�� +#-/. 0�2
� ∃pathy.((P ∧ no(y : E)) ∗ [y][E]>) � deleteE1

�
P �� ∃pathy.(P ∗ [y][E1]attr(E2)) � deleteE2@E1

�
P �� ∃pathy.([y][E1]elem ∗ ([y][E1]elem(E2)−∗P )) � replaceelemE2@E1

�
P �

%N(*4��@�$	 ? �'&�`P��	 ?F¥ (*) ��(*��')( 4 ? '�	�����	�)9'��&%
	����$	Y394�����(*��'*��'���	 ? 4�
�
�������7+��	Y�60D,���<���	Y	�'@, ?�? 4���	�� ? ,
? 7�

,��-,�'���(*)Y`P�
�*�$	��L�608(*
J7��-,�'�	�4�� ∗  

7,+ ( 6 A (*) 6 A ( 4 [ (!� �#" + 6 ($� (723-�&
� ∃pathy.∃locz.([y][E2][z]elem(E1)∗
∀locz

′.((> ∗ [y][E2][z
′]elem(E1)) → ⊥)) ∧ P{z/x} � x := getLocelem(E1)@E2

�
P �� ∃pathy.∃locz.([y][E2][z]cont(E1)∗

∀loct.((> ∗ [y][E2][t]cont(E1)) → ⊥)) ∧ P{z/x} � x := getLoccont(E1)@E2

�
P �� ∃pathy.∃locz.([y][E3][z](attr(E1) ∧ value(E2))∗

∀loct.((> ∗ [y][E3][t](attr(E1) ∧ value(E2)) → ⊥)) ∧ P{z/x} � x := getLocattr(E1, E2)@E3
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{∃pathy.([y][E2]elem ∗ ([y][E2]elem(E1)−∗P )}replaceelemE1@E2{P}
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J	�4�'L��	!��7$�$(*�B
J( ? 	���	�) ��	�42> ? (*4 ? 8 ,���<���	 ? �N4�)T394��
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��U,*�$	���	�)9'
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s, t
	�'�4�)"	

�$(*�B�_,�)"��	
C
�

8 � , ?
x := newcontE1@E2

���.4�
�
J( ? (*) ? 3.4"	
s, t |=P ∃pathy.(exists(y : E2) ∧ ∀pathy′.∀locz.(no(y′ :

z) → ([y][E2][z]cont(E1)−∗P{z/x})))
 � �X	�>2� ? '�	H��(*)"�H4�) �-A"	��B��)

L
'�	��M3.4"	 � c 	 s, t |=P

exists(L : E2)
	�' � / 	 s, t |=P ∀pathy′.∀locz.(no(y′ : z) → ([L][E2][z]cont(E1)−∗P{z/x})))

 
�V0D,�
��'& ? � c 	O�608	��B
��U,*�$	���	�).' L : E2

	�>2� ? '�	/��(*)"���U,��$(*)2%"`P4��-,�'���(*)�)G08	 ? 'C

, ? <���(�394"7$	 ¥ (*)!,M��(*)"�
4�)\	��B
��U,*�$	���	�)9'

l′
'�	��S3.4"	

C, s, t ; [s|x 7→ l′], t|(e, L : E2 : l′ 7→ E1)
(��

l′
	 ? 'F4�)\)"(*4�� 	��

	��B
��U,*�$	���	�)9'� � (*�B��	
l′
	 ? 'O4�)@)"(*4�� 	��=	��B
��U,*�$	���	�).' ¥ (*)@,X��(*)"�

s, t |=P ∀pathy′.∀locz.no(y′ :
z)
 � / 	B)"(*4 ? � &�)"	K,���(*� ? � s, t |=P [L][E2][z]cont(E1)−∗P{z/x}

¥ �$	Y3.4��:���B
�����3.4"	
[s|x 7→

l′], t|(e, L : E2 : l′ 7→ E1) |=P P
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x := newelemE1@E2
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x := newcontE1@E2

 
8 � , ?

x := newtreeE1@E2
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x := newcontE1@E2
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newattrE1, E2@E3
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s, t |=P ∃pathy.(exists(y : E3)∧([y][E3](attr(E1)∧value(E2))−∗P{z/x}))
 � �

	�>2� ? '�	���(*)"��4�)���A"	��B��)
L
'�	��"394"	 � c 	 s, t |=P exists(L : E3)

	�' � / 	 s, t |=P [L][E3](attr(E1)∧
value(E2))−∗P{z/x}
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, ? <���(�394"7$	 ¥ (*);,V��(*)"�
C, s, t ; s, t|(e, L : l 7→ (m 7→ n))

 ��L0D,�
��'& ? � / 	 ¥ (*);, s, t|(e, L : l 7→
(m 7→ n)) |=P P{z/x}

 
8 � , ?

deleteE1
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�
J( ? (*) ? 3.4"	

s, t |=P ∃pathy.((P ∧ no(y : E)) ∗ [y][E]>)
 � ��	�>2� ? '�	���(*)"�!4�)

��A"	��B��)
L
'�	���394"	

s, t |=P ((P ∧ no(y : E)) ∗ [L][E]>)
 �� ��	�>�� ? '�	!��(*)"�

t1, t2
'�	�� ? 394"	 � c 	

t = t1|t2
¥ � / 	 s, t1 |=P P ∧ no(L : E)

	�' � � 	 s, t2 |=P [L][E]>  ��V0D,�
��'& ? � c 	�	�' � � 	 ¥ ��	X��A"	��B��)
L : E

	�>2� ? '�	V	�)
t
	�'5�U,��$(*)2%"`P4��-,�'���(*)\)G08	 ? 'F

, ? <���(�394"7$	P � )^,���(*)"�

s, t ; s, t′
(��H���O	�>�� ? '�	

t′′
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t = t′|(e, L : l 7→ t′′)
	�'
t′(L : l)
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t′ = t1

	�'
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deleteE2@E1
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s, t |=P ∃pathy.(P∗[y][E1]attr(E2))
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L
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s, t |=P (P ∗ [L][E1]attr(E2))
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t1, t2
'�	�� ? 394"	 � c 	 t = t1|t2

¥ � / 	
s, t1 |=P P

	�' � � 	 s, t2 |=P [L][E1]attr(E2)
 ��V0D,�
��'& ? � c 	�	�' � � 	 ¥ ��	F��A"	��B��) L : E1

	�>�� ? '�	F	�)
t	�'��U,_�$(*)2%"`P4��-,�'���(*)H)G08	 ? '�

, ? <���(.3.4"7$	P � )H,@��(*)"�

s, t ; s, t′
, � 	$�

t = t′|(e, L : l 7→ ((m 7→
n), nil))

 � )Y7�'-,�<�����' � ,*������	���	�).'/3.4"	
t1 = t′

	�'�394"	
t2 = (e, L : l 7→ ((m 7→ n), nil))
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replaceelemE2@E1
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s, t |=P ∃pathy.([y][E1]elem∗([y][E1]elem(E2)−∗P ))
 � �

	�>2� ? '�	���(*)"��4�)���A"	��B��)
L
'�	��
3.4"	

s, t |=P [L][E1]elem∗([L][E1]elem(E2)−∗P )
 �� �"	�>�� ? '�	���(*)"�

t1, t2
'�	�� ? 3.4"	 � c 	 t = t1|t2

¥ � / 	 s, t1 |=P [L][E1]elem
	�' � � 	 s, t2 |=P [L][E1]elem(E2)−∗P
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t
	�'5�U,��$(*)2%"`P4��-,�'���(*)^)G08	 ? '5

, ? <���(�394"7$	P � )

,@��(*)"�
s, t ; s, t′|(e, L : l 7→ (m,nil))

	�'
n
4�)a7���7���	�)9'F'�	��O3.4"	

t = t′|(e, L : l 7→ (n, nil))
 

� ) 7�'-,�<�����' � ,*������	���	�).'Y394"	
t1 = (e, L : l 7→ (n, nil))

	�'�3.4"	
t2 = t′

 � (*�B��	
s, t2 |=P

[L][E1]elem(E2)−∗P
¥ (*)+,V<���	�)

s, t′|(e, L : l 7→ (m,nil)) |=P P
 

8 � , ?
x := getLocelem(E1)@E2

���.4�
�
J( ? (*) ? 394"	
s, t |=P ∃pathy.∃locz.([y][E2][z]elem(E1) ∗ ∀locz′.

((> ∗ [y][E2][t]elem(E1)) → ⊥)) ∧ P{z/x}
 � �G	�>2� ? '�	X��(*)"�X4�);��A"	��B��)

L
	�'�4�)+	��B
��U,*�$	���	�).'

l
'�	��C3.4"	

s, t |=P ([L][E2][l]elem(E1) ∗ ∀locz′.((> ∗ [L][E2][z
′]elem(E1)) → ⊥)) ∧ P{z/x}

 
��(*)"�B���C	�>�� ? '�	

t1, t2
'�	�� ? 3.4"	 � c 	 t = t1|t2

¥ � / 	 s, t1 |=P [L][E2][l]elem(E1)
	�' � � 	 s, t2 |=P

∀locz′.((> ∗ [L][E2][t]elem(E1)) → ⊥))
	�'_(*) ,H7�`9,���	���	�).'

s, t |=P P{z/x}
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∀x, y.m2(x, y)
def
= msg(msg(x),msg(y))

∀x, y, t.m2t(x, y)
def
= msg(pubk(t,m2(x, y)))

∀x, t.mt(x)
def
= msg(pubk(t,msg(x)))
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Alice3
def
= 〈l1〉send(z, l1,mz(Nx))

Alice2
def
= ∀Nx.(from(z, (m2a(Na,Nx)))( (Alice3⊗ ct(z)))

Alice1
def
= [l1](〈l1〉send(z, l1,m2a(Na,A)) ⊗Alice2)

Bob3
def
= from(z,mb(Nb))( ct � by(a)

Bob2
def
= 〈l2〉send(z, l2,m2a(Nx,Nb)) ⊗Bob3

Bob1
def
= [l2]∀Nx.(from(z,m2b(Nx, a))( Bob2)
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∀x.decomp(x) def
= [z]((∃y.from(y, x))( x)

∀x, y.decomp(x, y) def
= [z](m2(x, y)( msg(x) ⊗msg(y))

∀x.decrypt(x) def
= [z](mz(x)( msg(x))

∀x.decrypt(x, y) def
= [z](m2z(x, y)( m2(x, y))

∀t, x.encryptt(x) def
= [z](msg(x)( mz(x))

∀t, x, y.encryptt(x, y) def
= [z](m2(x, y)( m2z(x, y))

∀t, x, y.sendert(x, y) def
= [z](y( 〈z〉send(x, t, y))

Intrus
def
= !∀x, y.decomp(x, y), !∀x.decomp(x),

!∀x, t.encryptt(x), !∀x, y, t.encryptt(x, y)
!∀x.decrypt(x), !∀x, y.decrypt(x, y)
!∀x, y, t.sendert(x, y)
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∀x, y, t.route(x, y, t) def= ∀x, y, t.send(x, y, t)( {x}from(y, t)
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Alice1, Bob1, Intrus, !∀x, y.route(x, y)
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[l1]contacted(z) ⊗ [l2]ct � by(a)  
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(1)
���

[l1]Alice2,Bob1, Intrus,
!∀x, y, t.route(x, y, t),
[z]from(l1,m2z(Na,A))

` [l1]ct(z) ⊗ [l2]ct � by(a)
[l1]Alice2,Bob1, Intrus,
!∀x, y, t.route(x, y, t),
{z}from(l1,m2z(Na,A))

` [l1]ct(z) ⊗ [l2]ct � by(a)
��� �����	�

send(z, l1,m2z(Na,A)) ` send(z, l1,m2z(Na,A))

�
� ���

send(z, l1,m2z(Na,A)), [l1]Alice2, Bob1, Intrus, !∀x, y, t.route(x, y, t), route(z,y,m2z(Na,A)) ` [l1]ct(z) ⊗ [l2]ct � by(a)
�
( ���	�

send(z, l1,m2z(Na,A)), [l1]Alice2,Bob1, Intrus, !∀x, y, t.route(x, y, t), ∀t.route(z, l1, t) ` [l1]ct(z) ⊗ [l2]ct � by(a)
�
∀ ���
�

send(z, l1,m2z(Na,A)), [l1]Alice2,Bob1, Intrus, !∀x, y, t.route(x, y, t), ∀y, t.route(z,y, t) ` [l1]ct(z) ⊗ [l2]ct � by(a)
�
∀ ���	�

send(z, l1,m2z(Na, A)), [l1]Alice2,Bob1, Intrus, !∀x, y, t.route(x, y, t), ∀x,y, t.route(x,y, t) ` [l1]ct(z) ⊗ [l2]ct � by(a)
�
∀ ���	�

send(z, l1,m2z(Na,A)), [l1]Alice2, Bob1, Intrus, !∀x,y, t.route(x,y, t) ` [l1]ct(z) ⊗ [l2]ct � by(a)
����� ���

[l1]〈l1〉send(z, l1,m2z(Na,A)), [l1]Alice2,Bob1, Intrus, !∀x, y, t.route(x, y, t) ` [l1]ct(z) ⊗ [l2]ct � by(a)
����� � ���	�

[l1](〈l1〉send(z, l1,m2z(Na,A)) ⊗ Alice2), Bob1, Intrus, !∀x, y, t.route(x, y, t) ` [l1]ct(z) ⊗ [l2]ct � by(a)
�
⊗ ���	�

Alice1, Bob1, Intrus, !∀x, y, t.route(x, y, t) ` [l1]ct(z) ⊗ [l2]ct � by(a)
�
∼= ���	�
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Z(A) → B : {Na‖A}pk(b)
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(2)
���

[l1]Alice2,Bob1,
Intrus, !∀x, y, t.route(x, y, t),

[z]m2z(Na,A))
` [l1]ct(z) ⊗ [l2]ct � by(a)

[z]from(l1,m2z(Na,A)) ` [z]from(l1,m2z(Na,A))

��� ���
[z]from(l1,m2z(Na,A)) ` [z]∃y.from(y,m2z(Na,A))

�
∃ �����

[l1]Alice2, Bob1, Intrus, !∀x, y, t.route(x, y, t), [z]from(l1,m2z(Na, A)),decomp(m2z(Na,A)) ` [l1]ct(z) ⊗ [l2]ct � by(a)
�
( ���	�

[l1]Alice2,Bob1, Intrus, !∀x, y, t.route(x, y, t), [z]from(l1,m2z(Na,A)), ∀x.decomp(x) ` [l1]ct(z) ⊗ [l2]ct � by(a)
�
∀ ���
�

[l1]Alice2,Bob1, Intrus, !∀x, y, t.route(x, y, t), [z]from(l1,m2z(Na,A)) ` [l1]ct(z) ⊗ [l2]ct � by(a)
(1)
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���

[l1]Alice2,Bob1, Intrus,
!∀x, y, t.route(x, y, t), [z]m2(Na,A)

` [l1]ct(z) ⊗ [l2]ct � by(a)
[z]m2z(Na,A) ` [z]m2z(Na,A)

�
� ���

[l1]Alice2,Bob1, Intrus, !∀x, y, t.route(x, y, t), [z]m2z(Na,A),decrypt(Na,A) ` [l1]ct(z) ⊗ [l2]ct � by(a)
�
( ���	�

[l1]Alice2, Bob1, Intrus, !∀x, y, t.route(x, y, t), [z]m2z(Na, A),∀y.decrypt(Na,y) ` [l1]ct(z) ⊗ [l2]ct � by(a)
�
∀ ���	�

[l1]Alice2,Bob1, Intrus, !∀x, y, t.route(x, y, t), [z]m2z(Na,A), ∀x,y.decrypt(x,y) ` [l1]ct(z) ⊗ [l2]ct � by(a)
�
∀ ���	�

[l1]Alice2,Bob1, Intrus, !∀x, y, t.route(x, y, t), [z]m2z(Na, A) ` [l1]ct(z) ⊗ [l2]ct � by(a)
(2)
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(4)
���

[l1]Alice2, Bob1, Intrus,
[z]m2b(Na,A)∀x, y, t.route(x, y, t)

` [l1]ct(z) ⊗ [l2]ct � by(a) [z]m2(Na,A) ` [z]m2(Na,A)

��� ���
[l1]Alice2,Bob1, Intrus,encryptb(Na,A)

∀x, y, t.route(x, y, t), [z]m2(Na,A)
` [l1]ct(z) ⊗ [l2]ct � by(a)

�
( ���
�

[l1]Alice2,Bob1, Intrus,∀x.encryptb(x,A)
∀x, y, t.route(x, y, t), [z]m2(Na,A)

` [l1]ct(z) ⊗ [l2]ct � by(a)
�
∀ ���	�

[l1]Alice2,Bob1, Intrus,∀x,y.encryptb(x,y)
∀x, y, t.route(x, y, t), [z]m2(Na,A)

` [l1]ct(z) ⊗ [l2]ct � by(a)
�
∀ ���	�

[l1]Alice2,Bob1, Intrus,∀x,y, t.encryptt(x,y)
∀x, y, t.route(x, y, t), [z]m2(Na,A)

` [l1]ct(z) ⊗ [l2]ct � by(a)
�
∀ ���	�

[l1]Alice2,Bob1, Intrus,
!∀x, y, t.route(x, y, t), [z]m2(Na,A)

` [l1]ct(z) ⊗ [l2]ct � by(a)
(3)
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(5)
���

[l1]Alice2,Bob1, !∀x, y, t.route(x, y, t),
Intrus, send(l2, z,m2(Na, A))

` [l1]ct(z) ⊗ [l2]ct � by(a)
[l1]Alice2,Bob1, !∀x, y, t.route(x, y, t),
Intrus, [z]〈z〉send(l2, z,m2(Na,A))

` [l1]ct(z) ⊗ [l2]ct � by(a)
����� � ���	�

[z]m2(Na,A) ` [z]m2(Na,A)

��� ���
[l1]Alice2,Bob1, Intrus,

!∀x, y, t.route(x, y, t), [z]m2(Na,A), senderz(l2,m2(Na,A))
` [l1]ct(z) ⊗ [l2]ct � by(a)

�
( ���
�

[l1]Alice2,Bob1, Intrus,
!∀x, y, t.route(x, y, t), [z]m2(Na,A),∀y.senderz(l2,y)

` [l1]ct(z) ⊗ [l2]ct � by(a)
�
∀ ���	�

[l1]Alice2,Bob1, Intrus,
!∀x, y, t.route(x, y, t), [z]m2(Na,A),∀x,y.senderz(x,y)

` [l1]ct(z) ⊗ [l2]ct � by(a)
�
∀ ���
�

[l1]Alice2,Bob1, Intrus,
!∀x, y, t.route(x, y, t), [z]m2(Na,A), ∀t,x,y.sendert(x,y)

` [l1]ct(z) ⊗ [l2]ct � by(a)
�
∀ ���
�

[l1]Alice2,Bob1, Intrus,
!∀x, y, t.route(x, y, t), [z]m2(Na,A)

` [l1]ct(z) ⊗ [l2]ct � by(a)
(4)

����� ���
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(6)
���

[l1]Alice2,Bob1, !∀x, y, t.route(x, y, t),
Intrus, [l2]from(z,m2(Na, A))

` [l1]ct(z) ⊗ [l2]ct � by(a)
[l1]Alice2,Bob1, !∀x, y, t.route(x, y, t),
Intrus,{l2}from(z,m2(Na,A))

` [l1]ct(z) ⊗ [l2]ct � by(a)
�
� �����	�

send(l2, z
,m2(Na,A))

`
send(l2, z
,m2(Na,A))

�
� ���

[l1]Alice2,Bob1, !∀x, y, t.route(x, y, t), route(l2, z,m2(Na,A)),
Intrus, send(l2, z,m2(Na, A))

` [l1]ct(z) ⊗ [l2]ct � by(a)
�
( ���	�

[l1]Alice2, Bob1, !∀x, y, t.route(x, y, t), ∀t.route(l2, z, t),
Intrus, send(l2, z,m2(Na, A))

` [l1]ct(z) ⊗ [l2]ct � by(a)
�
∀ ���	�

[l1]Alice2,Bob1, !∀x, y, t.route(x, y, t), ∀y, t.route(l2,y, t),
Intrus, send(l2, z,m2(Na, A))

` [l1]ct(z) ⊗ [l2]ct � by(a)
�
∀ ���	�

[l1]Alice2,Bob1, !∀x, y, t.route(x, y, t), ∀x,y, t.route(x,y, t),
Intrus, send(l2, z,m2(Na, A))

` [l1]ct(z) ⊗ [l2]ct � by(a)
�
∀ ���
�

[l1]Alice2,Bob1, !∀x,y, t.route(x,y, t),
Intrus, send(l2, z,m2(Na, A))

` [l1]ct(z) ⊗ [l2]ct � by(a)
(5)

����� ���
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(7)
���

[l1]Alice2, Intrus, !∀x, y, t.route(x, y, t)
send(z, l2,m2a(Na,Nb)), [l2]Bob3

` [l1]ct(z) ⊗ [l2]ct � by(a)
[l1]Alice2, Intrus, !∀x, y, t.route(x, y, t)

[l2]〈l2〉send(z, l2,m2a(Na,Nb)), [l2]Bob3
` [l1]ct(z) ⊗ [l2]ct � by(a)

����� � ���	�

[l1]Alice2, Intrus, !∀x, y, t.route(x, y, t)
[l2](〈l2〉send(z, l2,m2a(Na,Nb)) ⊗ Bob3)

` [l1]ct(z) ⊗ [l2]ct � by(a)
�
⊗ ���	�

[l1]Alice2, [l2]Bob2,
Intrus, !∀x, y, t.route(x, y, t)

` [l1]ct(z) ⊗ [l2]ct � by(a)
�
∼= ���	�

[l2]from(z,
m2b(Na,a))

`
[l2]from(z,
m2b(Na, a))

��� ���

[l1]Alice2, [l2](from(z,m2b(Na,a)) ( Bob2),
Intrus, !∀x, y, t.route(x, y, t), [l2]from(z,m2(Na, A))

` [l1]ct(z) ⊗ [l2]ct � by(a)
�
( ���	�

[l1]Alice2, [l2]∀Nx.(from(z,m2b(Nx, a)) ( Bob2),
Intrus, !∀x, y, t.route(x, y, t), [l2]from(z,m2(Na, A))

` [l1]ct(z) ⊗ [l2]ct � by(a)
�
∀ ���	�

[l1]Alice2,Bob1, !∀x, y, t.route(x, y, t),
Intrus, [l2]from(z,m2(Na, A))

` [l1]ct(z) ⊗ [l2]ct � by(a)
(6)

�
∼= ���	�
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(8)
���

[l1]Alice2, [l2]Bob3, !∀x, y, t.route(x, y, t)
Intrus, [z]from(l2,m2a(Na,Nb))

` [l1]ct(z) ⊗ [l2]ct � by(a)
[l1]Alice2, [l2]Bob3, !∀x, y, t.route(x, y, t)
Intrus, {z}from(l2,m2a(Na,Nb))

` [l1]ct(z) ⊗ [l2]ct � by(a)
��� � ��� �

send(z, l2,
m2a(Na,Nb))

`
send(z, l2,
m2a(Na,Nb))

�
� ���

[l1]Alice2, [l2]Bob3, Intrus, !∀x, y, t.route(x, y, t)
route(z, l2,m2a(Na,Nb)), send(z, l2,m2a(Na,Nb))

` [l1]ct(z) ⊗ [l2]ct � by(a)
�
( ��� �

[l1]Alice2, [l2]Bob3, Intrus, !∀x, y, t.route(x, y, t)
∀t.route(z, l2, t), send(z, l2,m2a(Na,Nb))

` [l1]ct(z) ⊗ [l2]ct � by(a)
�
∀ ��� �

[l1]Alice2, [l2]Bob3, Intrus, !∀x, y, t.route(x, y, t)
∀y, t.route(z,y, t), send(z, l2,m2a(Na,Nb))

` [l1]ct(z) ⊗ [l2]ct � by(a)
�
∀ ��� �

[l1]Alice2, [l2]Bob3, Intrus, !∀x, y, t.route(x, y, t)
∀x,y, t.route(x,y, t), send(z, l2,m2a(Na,Nb))

` [l1]ct(z) ⊗ [l2]ct � by(a)
�
∀ ��� �

[l1]Alice2, Intrus, !∀x,y, t.route(x,y, t)
send(z, l2,m2a(Na,Nb)), [l2]Bob3

` [l1]ct(z) ⊗ [l2]ct � by(a)
(7)

����� ���

��� / � � � r��Ks��	� ��

�Gu*s��������
Z → A : {Na‖Nb}pk(a)
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(9)
���

[l1]Alice2, [l2]Bob3, Intrus,
!∀x, y, t.route(x, y, t), [z]m2a(Na,Nb)

` [l1]ct(z) ⊗ [l2]ct � by(a) [z]from(l2,
m2a(Na,Nb))

`
[z]from(l2,
m2a(Na,Nb))

�
� ���

[l1]Alice2, [l2]Bob3, !∀x, y, t.route(x, y, t)
Intrus,decomp(m2a(Na,Nb)), [z]from(l2,m2a(Na,Nb))

` [l1]ct(z) ⊗ [l2]ct � by(a)
�
( ���	�

[l1]Alice2, [l2]Bob3, !∀x, y, t.route(x, y, t)
Intrus,∀x.decomp(x), [z]from(l2,m2a(Na,Nb))

` [l1]ct(z) ⊗ [l2]ct � by(a)
�
∀ ���	�

[l1]Alice2, [l2]Bob3, !∀x, y, t.route(x, y, t)
Intrus, [z]from(l2,m2a(Na,Nb))

` [l1]ct(z) ⊗ [l2]ct � by(a)
(8)

����� ���
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(10)
���

[l1]Alice2, [l2]Bob3, Intrus,
!∀x, y, t.route(x, y, t), send(l1, z,m2a(Na,Nb))

` [l1]ct(z) ⊗ [l2]ct � by(a)
[l1]Alice2, [l2]Bob3, Intrus,

!∀x, y, t.route(x, y, t), [z]〈z〉send(l1, z,m2a(Na,Nb))
` [l1]ct(z) ⊗ [l2]ct � by(a)

����� � ���	�
[z]m2a(Na,Nb) ` [z]m2a(Na,Nb)

�
� ���
[l1]Alice2, [l2]Bob3, Intrus,

!∀x, y, t.route(x, y, t), senderz(l1,m2a(Na,Nb)), [z]m2a(Na,Nb)
` [l1]ct(z) ⊗ [l2]ct � by(a)

�
( ���	�

[l1]Alice2, [l2]Bob3, !∀x, y, t.route(x, y, t),
Intrus,∀t.sendert(l1,m2a(Na,Nb)), [z]m2a(Na,Nb)

` [l1]ct(z) ⊗ [l2]ct � by(a)
�
∀ ���	�

[l1]Alice2, [l2]Bob3, Intrus,
!∀x, y, t.route(x, y, t), ∀y, t.sendert(l1,y), [z]m2a(Na,Nb)

` [l1]ct(z) ⊗ [l2]ct � by(a)
�
∀ ���	�

[l1]Alice2, [l2]Bob3, Intrus,
!∀x, y, t.route(x, y, t), ∀x,y, t.sendert(x,y), [z]m2a(Na,Nb)

` [l1]ct(z) ⊗ [l2]ct � by(a)
�
∀ ���
�

[l1]Alice2, [l2]Bob3, Intrus,
!∀x, y, t.route(x, y, t), [z]m2a(Na,Nb)

` [l1]ct(z) ⊗ [l2]ct � by(a)
(9)

����� ���
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(11)
���

[l1]Alice2, [l2]Bob3, !∀x, y, t.route(x, y, t),
Intrus, [l1]from(z,m2a(Na,Nb))

` [l1]ct(z) ⊗ [l2]ct � by(a)
[l1]Alice2, [l2]Bob3, !∀x, y, t.route(x, y, t),
Intrus, {l1}from(z,m2a(Na,Nb))

` [l1]ct(z) ⊗ [l2]ct � by(a)
�
� � ���	�

send(l1, z,
m2a(Na,Nb))

`
send(l1, z,
m2a(Na,Nb))

��� ���

[l1]Alice2, [l2]Bob3, !∀x, y, t.route(x, y, t),
Intrus,route(l1, z,m2a(Na,Nb)), send(l1, z,m2a(Na,Nb))

` [l1]ct(z) ⊗ [l2]ct � by(a)
�
( ���
�

[l1]Alice2, [l2]Bob3, !∀x, y, t.route(x, y, t),
Intrus,∀t.route(l1, z, t), send(l1, z,m2a(Na,Nb))

` [l1]ct(z) ⊗ [l2]ct � by(a)
�
∀ ���
�

[l1]Alice2, [l2]Bob3, !∀x, y, t.route(x, y, t),
Intrus,∀y, t.route(l1,y, t), send(l1, z,m2a(Na,Nb))

` [l1]ct(z) ⊗ [l2]ct � by(a)
�
∀ ���
�

[l1]Alice2, [l2]Bob3, !∀x, y, t.route(x, y, t),
Intrus,∀x,y, t.route(x,y, t), send(l1, z,m2a(Na,Nb))

` [l1]ct(z) ⊗ [l2]ct � by(a)
�
∀ ���	�

[l1]Alice2, [l2]Bob3, Intrus,
!∀x,y, t.route(x,y, t), send(l1, z,m2a(Na,Nb))

` [l1]ct(z) ⊗ [l2]ct � by(a)
(10)

����� ���

��� / ��� � ��� �9r ����

�Gu�s�� �����
A → Z : {Nb}pk(z)
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(12)
���

send(z, l1,mz(Nb)), [l2]Bob3,
Intrus, [l1]ct(z), !∀x, y, t.route(x, y, t)

` [l1]ct(z) ⊗ [l2]ct � by(a)
[l1]〈l1〉send(z, l1,mz(Nb)), [l2]Bob3,
Intrus, [l1]ct(z), !∀x, y, t.route(x, y, t)

` [l1]ct(z) ⊗ [l2]ct � by(a)
����� � ���	�

[l1]Alice3, [l1]ct(z), [l2]Bob3,
Intrus, !∀x, y, t.route(x, y, t)

` [l1]ct(z) ⊗ [l2]ct � by(a)
�
∼= ���	�

[l1](Alice3 ⊗ ct(z)), [l2]Bob3,
Intrus, !∀x, y, t.route(x, y, t)

` [l1]ct(z) ⊗ [l2]ct � by(a)
�
⊗ ���	�

[l1](from(z,
(m2a(Na,Nb)))

`
[l1](from(z,
(m2a(Na,Nb)))

��� �����	�

[l1](from(z, (m2a(Na,Nb))) ( (Alice3 ⊗ ct(z))), [l2]Bob3, !∀x, y, t.route(x, y, t),
Intrus, [l1]from(z,m2a(Na,Nb))

` [l1]ct(z) ⊗ [l2]ct � by(a)
�
( ���	�

[l1]∀Nx.(from(z, (m2a(Na,Nx))) ( (Alice3⊗ ct(z))), [l2]Bob3, !∀x, y, t.route(x, y, t),
Intrus, [l1]from(z,m2a(Na,Nb))

` [l1]ct(z) ⊗ [l2]ct � by(a)
�
∀ ���	�

[l1]Alice2, [l2]Bob3, !∀x, y, t.route(x, y, t),
Intrus, [l1]from(z,m2a(Na,Nb))

` [l1]ct(z) ⊗ [l2]ct � by(a)
(11)

� ∼= ���	�
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(13)
���

[z]from(l1,mz(Nb)), [l2]Bob3,
Intrus, [l1]ct(z), !∀x, y, t.route(x, y, t)

` [l1]ct(z) ⊗ [l2]ct � by(a)
{z}from(l1,mz(Nb)), [l2]Bob3,

Intrus, [l1]ct(z), !∀x, y, t.route(x, y, t)
` [l1]ct(z) ⊗ [l2]ct � by(a)

�
� �����
�
send(z, l1,mz(Nb)) ` send(z, l1,mz(Nb))

��� ���
send(z, l1,mz(Nb)), [l2]Bob3, Intrus, [l1]ct(z),
!∀x, y, t.route(x, y, t), route(z, l1,mz(Nb))

` [l1]ct(z) ⊗ [l2]ct � by(a)
�
( ���	�

send(z, l1,mz(Nb)), [l2]Bob3, Intrus, [l1]ct(z),
!∀x, y, t.route(x, y, t), ∀t.route(z, l1, t)

` [l1]ct(z) ⊗ [l2]ct � by(a)
�
∀ ���
�

send(z, l1,mz(Nb)), [l2]Bob3, Intrus, [l1]ct(z),
!∀x, y, t.route(x, y, t), ∀y, t.route(z,y, t)

` [l1]ct(z) ⊗ [l2]ct � by(a)
�
∀ ���
�

send(z, l1,mz(Nb)), [l2]Bob3, Intrus, [l1]ct(z),
!∀x, y, t.route(x, y, t), ∀x,y, t.route(x,y, t)

` [l1]ct(z) ⊗ [l2]ct � by(a)
�
∀ ���
�

send(z, l1,mz(Nb)), [l2]Bob3,
Intrus, [l1]ct(z), !∀x,y, t.route(x,y, t)

` [l1]ct(z) ⊗ [l2]ct � by(a)
(12)

����� ���
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Z(A) → B{Nb}pk(B)
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(14)
���

[z]msg(Nb), [l2]Bob3, Intrus,
[l1]ct(z), !∀x, y, t.route(x, y, t)

`
[l1]ct(z)⊗

[l2]ct � by(a) [z]mz(Nb) ` [z]mz(Nb)

�
� ���
[z]mz(Nb), [l2]Bob3, Intrus, [l1]ct(z),
!∀x, y, t.route(x, y, t),decrypt(Nb)

` [l1]ct(z) ⊗ [l2]ct � by(a)
�
( ���	�

[z]mz(Nb), [l2]Bob3, Intrus, [l1]ct(z),
!∀x, y, t.route(x, y, t), ∀x.decrypt(x)

` [l1]ct(z) ⊗ [l2]ct � by(a)
�
∀ ���
�

[z]mz(Nb), [l2]Bob3, Intrus, [l1]ct(z),
!∀x, y, t.route(x, y, t)

` [l1]ct(z) ⊗ [l2]ct � by(a)
����� ���

[z]from(
l1,mz(Nb))

`
[z]from(

l1,mz(Nb))

�
� ���

[z]from(
l1,mz(Nb))

`
[z]∃y.from(

l1,mz(y))

�
∃ ���	�

[z]from(l1,mz(Nb)), [l2]Bob3, Intrus,
[l1]ct(z), !∀x, y, t.route(x, y, t),decomp(mz(Nb))

` [l1]ct(z) ⊗ [l2]ct � by(a)
�
( ���	�

[z]from(l1,mz(Nb)), [l2]Bob3, Intrus,
[l1]ct(z), !∀x, y, t.route(x, y, t), ∀x.decomp(x)

` [l1]ct(z) ⊗ [l2]ct � by(a)
�
∀ ���
�

[z]from(l1,mz(Nb)), [l2]Bob3,
Intrus, [l1]ct(z), !∀x, y, t.route(x, y, t)

` [l1]ct(z) ⊗ [l2]ct � by(a)
(13)

����� ���
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(15)
���

[z]mb(Nb), [l2]Bob3, Intrus, [l1]ct(z),
!∀x, y, t.route(x, y, t)

` [l1]ct(z) ⊗ [l2]ct � by(a) [z]msg(Nb) ` [z]msg(Nb)

�
� ���
[z]msg(Nb), [l2]Bob3, Intrus, [l1]ct(z),
!∀x, y, t.route(x, y, t), encryptb(Nb)

` [l1]ct(z) ⊗ [l2]ct � by(a)
�
( ���
�

[z]msg(Nb), [l2]Bob3, Intrus, [l1]ct(z),
!∀x, y, t.route(x, y, t), ∀t.encryptt(Nb)

` [l1]ct(z) ⊗ [l2]ct � by(a)
�
∀ ���	�

[z]msg(Nb), [l2]Bob3, Intrus, [l1]ct(z),
!∀x, y, t.route(x, y, t), ∀x, t.encryptt(x)

` [l1]ct(z) ⊗ [l2]ct � by(a)
�
∀ ���
�

[z]msg(Nb), [l2]Bob3, Intrus,
[l1]ct(z), !∀x, y, t.route(x, y, t)

` [l1]ct(z) ⊗ [l2]ct � by(a)
(14)
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(16)
���

send(l2, z,mb(Nb), [l2]Bob3,
Intrus, [l1]ct(z), !∀x, y, t.route(x, y, t)

` [l1]ct(z) ⊗ [l2]ct � by(a)
[z]〈z〉send(l2, z,mb(Nb)), [l2]Bob3,
Intrus, [l1]ct(z), !∀x, y, t.route(x, y, t)

` [l1]ct(z) ⊗ [l2]ct � by(a)
����� � ���	�

[z]mb(Nb) ` [z]mb(Nb)
(
��� ���

[z]mb(Nb), [l2]Bob3, Intrus, [l1]ct(z),
!∀x, y, t.route(x, y, t), senderz(l2,mb(Nb))

` [l1]ct(z) ⊗ [l2]ct � by(a)
�
( ���	�

[z]mb(Nb), [l2]Bob3, Intrus, [l1]ct(z),
!∀x, y, t.route(x, y, t), ∀y.senderz(l2,y)

` [l1]ct(z) ⊗ [l2]ct � by(a)
�
∀ ���	�

[z]mb(Nb), [l2]Bob3, Intrus, [l1]ct(z),
!∀x, y, t.route(x, y, t), ∀x,y.senderz(x,y)

` [l1]ct(z) ⊗ [l2]ct � by(a)
�
∀ ���	�

[z]mb(Nb), [l2]Bob3, Intrus, [l1]ct(z),
!∀x, y, t.route(x, y, t), ∀t,x,y.sendert(x,y)

` [l1]ct(z) ⊗ [l2]ct � by(a)
�
∀ ���
�

[z]mb(Nb), [l2]Bob3, Intrus,
[l1]ct(z), !∀x,y, t.route(x,y, t)

` [l1]ct(z) ⊗ [l2]ct � by(a)
(15)
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���

[l2]from(z,mb(Nb)), Intrus, [l1]ct(z),
[l2](from(z,mb(Nb)) ( ct � by(a)) ` [l1]ct(z) ⊗ [l2]ct � by(a)

[l2]from(z,mb(Nb)),
[l2]Bob3, Intrus, [l1]ct(z)

` [l1]ct(z) ⊗ [l2]ct � by(a)
� ∼= ���
�

{l2}from(z,mb(Nb)),
[l2]Bob3, Intrus, [l1]ct(z)

` [l1]ct(z) ⊗ [l2]ct � by(a)
�
� � ���	�

send(l2,
z,mb(Nb))

`
send(l2,

z,mb(Nb))

�
� ���

send(l2, z,mb(Nb)), [l2]Bob3,
Intrus, [l1]ct(z), route(l2, z,mb(Nb))

` [l1]ct(z) ⊗ [l2]ct � by(a)
�
( ���	�

send(l2, z,mb(Nb)), [l2]Bob3,
Intrus, [l1]ct(z), ∀t.route(l2, z, t)

` [l1]ct(z) ⊗ [l2]ct � by(a)
�
∀ ���	�

send(l2, z,mb(Nb)), [l2]Bob3,
Intrus, [l1]ct(z), ∀y, t.route(l2,y, t)

` [l1]ct(z) ⊗ [l2]ct � by(a)
�
∀ ���	�

send(l2, z,mb(Nb)), [l2]Bob3,
Intrus, [l1]ct(z), ∀x,y, t.route(x,y, t)

` [l1]ct(z) ⊗ [l2]ct � by(a)
�
∀ ���	�

send(l2, z,mb(Nb)), [l2]Bob3,
Intrus, [l1]ct(z), !∀x,y, t.route(x,y, t)

` [l1]ct(z) ⊗ [l2]ct � by(a)
(16)
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[l1]ct(z) ` [l1]ct(z)

��� ���
[l2]ct � by(a) ` [l2]ct � by(a)

�
� ���
[l1]ct(z), [l2]ct � by(a) ` [l1]ct(z) ⊗ [l2]ct � by(a)

�
⊗ ��� �

Intrus, [l1]ct(z), [l2]ct � by(a) ` [l1]ct(z) ⊗ [l2]ct � by(a)
��� 	 ��� ���
�

[l2]from(z,mb(Nb)) ` [l2]from(z,mb(Nb))

��� ���
[l2]from(z,mb(Nb)), Intrus, [l1]ct(z),
[l2](from(z,mb(Nb)) ( ct � by(a))

` [l1]ct(z) ⊗ [l2]ct � by(a)
(17)
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